Total No. of Questions—35] [Total No. of Printed Pages—7
[3901]-201
S.Y. B.A. EXAMINATION, 2011
COMPULSORY ENGLISH
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
Text Prescribed : Reflections—II
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two of the following : [16]
(1) Discuss how ‘The Story of Stanford’ proves that appearances
are deceptive.
(2) It is said that the people we love the most, we hurt the
most. How far is this true in the case of the narrator in
‘T Love You Mom’ ?

(3) Write a brief account of the success story of Wasiff Khan.

2. Attempt any two of the following : [16]
(1) Discuss the significance of the title ‘Engine Trouble’.
(2) Comment on the serious tone of the speaker in ‘After Apple
Picking’.
(3) Write a note on The Wonders of The New Millennium.

P.T.O.



3. Attempt any two of the following : [16]

(1) Write a report describing the activities of your college N.S.S.
Camp.

(2)  You need a salesman to sell some household goods from door
to door. Write an advertisement for a suitable and eligible
candidate for the above mentioned job.

(3) Write a notice inviting your college students to attend the

College Gathering.

4, Attempt any eight of the following : [16]

(1) Write the correct word from the choices given in brackets :

(a¢) He always .....cccooeeeennnnn... a doubt in the classroom.
(rises/raises)

(b) The new Mayor ..........ccouuen.... about many changes.
(did/brought)

(2) Use a suitable idiom to complete the sentence :
(a) Even though she claims to hate him, you only have to
look at her to know her feelings. Her ...................... :
(eyes speak volumes/get cold feet)
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(3)

(4)

(5)

[3901]-201

(b) My roommate refuses to follow the hostel rules and

is always getting into trouble. He has become a

(if looks could Kkill/pain in the neck)
Complete the sentences using the correct word :
(¢) The company has promised him a fat pay hike ......................
the regular bonus. (beside/besides)
(b) Even .....ocooeeenian... he is himself uneducated, he is
determined to educate his children. (though/although)
Explain the meanings of the underlined phrases :
(a) 'The Principal of our college is a very strict lady. She
will not put up with any misbehaviour from her students.
(b) The boy had expected his mother to buy him a gift and
was put out that she returned empty handed from her
shopping trip.

Complete the blanks with an appropriate link word :

(a) Sudesh was working ...........cccu...... his brother was playing.
(whether/while)
3 P.T.O.



(6)

(7)

(8)

9)

(10)
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(b) Both Raju .................... Mohan were absent yesterday.
(and/but)

Make sentences using the following words :

(@) door

(b) the world

Use the following binomials in your own sentences :

(a) Law and order

(b) Sick and tired.

Underline the collective nouns in the following sentences :

(@) The elephant disliked the behaviour of the crowd.

(b)  The whole gathering watched the yogic feats of the Swamiji.

Form one word using the following suffixes :

(@) —ful

(b) —ness

Pick out the expressions of quantity or frequency :

(@) Much of what he said is true.

(b) We have enough milk to last us till tomorrow.



5. Attempt any eight of the following : [16]

(1)

(2)

3)

(4)
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Choose the correct word from the brackets and complete the

sentences :

(@) If you ..ccoovvevvrnnennnnnn. a promise, you should keep it.
(make/utter)

(b) She is ill ..., she is going home to rest.
(so/although)

Use the following expressions in your own sentences :

(¢) months had flown

(b) depend on.

Choose the correct word from the bracket and complete the
sentences :

(a) Everyone has handed in their assignments .....................

her. (except/accept)
(b)  One of the side ........cccuuu....... of this drug is hallucinations.
(affects/effects)

Use a suitable article from the brackets :

(@) I met some of the freedom fighters ...................... few
days ago. (a/an/the)

(b) We are part of .....ccccceeeennnniin. earth and it is part of
us. (a/an/the)

5 P.T.O.



(5)

(6)

(7)

(8)

9)
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Change into Passive Voice :

(a) Friends played music from morning until night.

(b) I have chosen a pair of shoes on Liberty Avenue.

Convert the following sentences into indirect speech :

(@) Abdul Kalam said, “I have just now returned from
Gujarat.”

(b) A young girl said, “The flaw is in your shoes.”

Add a question tag :

(@) I heard a murmur in my ear.

(b) Laura hadn’t returned home quickly.

Fill in the blanks with a suitable preposition :

(a) At the corner stood a drug store, brilliant .....................

electric lights. (with/on)
(b) Smoking .........cccevvrennes the cafeteria is not permissible.
(in/of)

Use the superlative degrees of adjectives given in brackets :
(@) Mrs. Jatka is the ...................... and the prettiest

counsellor. (rich)



(b) The two ..ccuvvveeennneen. boardrooms were named after these
two great personalities. (big)
(10) Frame questions :
(@)  You taught me English.

(b) Sandeep was working in a call centre.
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Total No. of Questions—5+4] [Total No. of Printed Pages—7

[3901]-202
S.Y. B.A. EXAMINATION, 2011
MARATHI (¥T3Y)

(G-2 : 3 WIS wifged IMUT IuAAq TSN

(2008 PATTERN)

q% : o\ A Tepot o1 ¢ 80

UeIEeh — (i)  HATRE.
(i) STHEl o9 3 ST

oAl :— (i) 9d WA EEgs  STed.

(ii) ISMElhel® 3 TEAE YU IO SFifer.

1. Tole EAET SR T

N o

(1) A7 1w fogr (SSRIondEd). [10]

()

feRar
TSle 3aa Hisd fA=gErR gfsd e
[Tl SEE S gideh R, T FRY Y W THd SRk

o 0 N

ARd. @I-FF THAYS 3ATed. Tl AS@RAA Mo fofss.

R weHRM O RENE  deddie.

el fqoe sRls AW gRl I[soed feugEr fogr [10]
TR IMEAH Tl 7@l |d SeeR U WIegd  aediodr
fuR %ol se gen wEl faurmd @ quivs wdiq e 9w
e oMe. fe fodm Scoedd T o], A §RM HeNSMe  dgd

gd e YR HT AEeie HISHl THEY  hol R, o

W Ivge dfaw= WaR fa<d 36, O TREYHeR  SHAaeR[
AT A WUSel  3fyeh Hewel 3 36
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fepar
T fos owE TR IS WEUd fow (FOE @)

(1) Tfem
(2) feumeet
(3)  fETera
(4) fofdam
(5) STdifaTe
(6) ®El®
(7) URYIE®
(8) I
9 frrEl
(10) HfKTHE
(11) wrarsit
(12)  TforeTo.
(%) Wooun T8l R I fowr [10]

(1) Promotion
(2) Reminder
(3)  Register
(4) Programme
(5)  Deposit
(6)  Supervisor
(7) Typist

(8) Manager
(9) Agent

(10) Collector
(11) Lecturer
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2. (37)

()

[3901]-202

(12)
(13)
(14)
(15)
(16)
17)
(18)
(19)
(20)

GOSUS  arel Gl S TSl 20 ITseid fewr

(D)
(2)
(3)
(4)
(5)
(6)
(7)

GASUS Tl IRl S TSl 20 IS fewr

(D)
(2)
3)
(4)
(5)
(6)
(7)

Inspector
Validity
Tender
Eligibility
Seminar
Publicity
Virus
Injection

Gazette.

o gE Hew [l

Wekie &M T FweAehRE Ad fom
¥q cfod Fumr=t A4 fom

S I FUKR @M W T
RECCERSECC L) I

SIh WIS &E ?

w1 o= geR ol

A WS & ?

A= oe e gm o T

HUEE  eM gfed emgfent A fom
I eI g U fe

MR aEH Y= g foRiw  fogn
FRF-EfEde aF 9ade o
AHERA AR 9N WS foEl

3

[5]

[5]
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3. (9) TWOOW TR WA SW 50 i fow [5]
(1) HA-Ede TR T FH.
(2)  HA A ASHAYRNE qUl e,
(F) TWoeE Ue WY W 50 Iee[ fow [5]
(1) =fE aed e dimey fomn

(2) <fed SR U Tl

4, TOGUHRl YIE TG Wl YA SW 150 I ot e [15]
(31) (1) ‘shomdie due’ @ w9W S Wied TR &
(2) ‘o’ W HAde Hagwiiedd €3 St T Hoskhuidal %Y
uefas oM ?
(&) (1) g wigg Fren dfeom Al @

(2) ‘STHEl 99 T AR A SAHGOAT MRS SRR o

5, WOoUh! YI% TRMG Wl WA SW 150 e[ fowr [15]
(31) (1) ‘warira’ wefie Ul wU aeEE died TR F
(2) ‘'YERY® HANCG UEAl SHaar=  IhIaHRl ISTET  TEE.
() (1) ‘sHEr 9™ qM el wdfle S unen aRE™ sed
(2) ‘SIEEl W9 M S’ W YUl TS
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[3901]-202
G-2 : HEERieh d U TSN

9% : o a™ TeRuT ot @ 80

oAl :— (i) §d WA EEgs  STed.

1. COOdR AR el WAl S T 20 Iee[ fodl [20]
(1) SIRN=N o™ oAU wEiedd 9l e @M e (ol
(2) N ®WOS wE ?

(3) 3o oEE TR YHR e

(4) Sfdgd =S w1 ?

(5) Sfdgd o™ T &M UsR fol
(6) feumt woS %@ ?

(7) feufe g femn

(8) e F S fon

(9) UeH Ufeell HadHl Yok Wk EIWAE TR A
(10) TRfoER @A @ e fom.
(11) fHfeer =oS g ?

(12) YUY WOl 2

(13) TR s oE™ @ ST foel
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2., WOISER EF TEAREl S USR] 50 3ITseid foel e [10]

(D)
(2)
3)
(4)

FHEAGAT 9 TN ©EY W H.
sfaga oEr 331 Tl
oren feuoie wWey e w.

oA

qifgdiasier  oEE WEY WS &

3. Woodm Yo% TRMe UEl WA S® 150 I foal

(37)

()

4, (37)
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qeie foser sfdgd @R U . [10]

‘gd el oel UMW Wesal AIE Hedid WY @l J9dl HElS

N A

M= THYEEd 0% WAl Solauad el aidl. sfagd foel.
fepar

7. g fomn Al Wew < THE. SHENYH TEEosR A et

3Me. AESt 99y fHeovar wewfd oWR yq@n famdas fo.

Helfoenada Rieaeh=n il N WA w{0Id 3o 3Ted.

Hetyd giigseh IR H. [10]
ferar

BIRTS Hefgemear=al Jdi9 SRS TR hiedrd 3. 9

[

ot AEifaua efoedn Mfac=n TR @R &

MRS T FO R HeMes e st Teiie 9gMe 9ie

Ao vfasg faais el waioaa Ta=ar INRyo=n - e«

YIS 50,000 & <1 ThH HEON Hi0m 3151 el 376 1
aNer fom  Afysrr=mad fewoit =R & (300 3I8) [15]

6



feRar

s 7 @R #U. faw . Teifoaedr URiRE SERY.

(300 3ITT)

() TTges Tehr] Uaued=a oiftier STedeEl ®Wel daR &U. [15]
ferar
TRTHIE W[ JHEihed seoocdl (caedrgddl Hfed Jum

oA

HlledlH2Aen a4l <nil. (300 3Ts)
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Total No. of Questions—35] [Total No. of Printed Pages—3
[3901]-203
S.Y. B.A. EXAMINATION, 2011
MARATHI (¥RT3Y)
foRToeR, SrIEUtIRT . 1
(TSt AifeTdte fafagr ware)
(2008 PATTERN)
d9% : dF a™ TeHUT 0T ;80
USIg&deh — () JareRd — W, Sifaud %o,
@ Tl Tl g ¢ — WERE TS
M :— (1) T WA SAeRIR  3TRA.
(i) ®E FAA HA O SR

1. (31) WOGUH! DR T GZAEN SW TSI 100 ITs<radd fesr ¢ [9]

(1) ¥ WIN & ?

(2) TEHE HAMed WIS ®HE 7 e[ fom

(3) Te&H MU HY IS Hleh TS K.
(4) TIEHEFEA INMRIfdeR] AT YhI=N Hifgdl Tl
(5) Al ST YRR ACHhId ahivld hiH Hid d foal

N0

(9) WOGUh! DR T G SW TSI 100 ITsradd fesr ¢ [9)

-~

(1) wRad T IASHITHR WEd Hied @ d fogl

o

(2) FRET I AEHIGRRE R HO[ q WA

(3) URIfIh HEAN A AEHIAYRNE TWEI ®HIOA o fol.
(4) PR WU Hfad IS wh TR HA

(5) AfREAN a1 FeH™ FIRANG Hed [l

P.T.O.



2. (37)

()

3, (37)

()
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GOIGUHR! Rl S WAl SN YR 100 IT=9d faer @ [6]

(D)
(2)
3)
(4)

Tehifshen! A0 A IS Tleh I .
qTATSTeR AeeRTEl Hifedl ol

U Edr=T Aeehld okl STeRIhdl A9d d 9 ?

AT ATd Alehld hivd H &id o desd  fosl

GIOIGUHR! Rl S WAl IW YR 100 IT=9d faer : [6]

(D)
(2)
(3)
(4)

FIRIU=AT Y=l e HAfedl =0

ufdeifaes wea=n ofon e SEs Iml diesd Afedr fosn
IO kel g Hifedl o

FICIU TShl oeRd Il el

GGkl HIUARI A WEAEN SW Yl 50 IR fe'r ;o [10]

(D)
(2)
(3)

(4)

‘FAE T’ ARHEA ISR Fureddr geE.

‘T @' AReEde S-UEen 9REd Sed @l

‘I I A RGN H. R/EA HI HHING STIAGHIER
YFET TAhedl AT ?
FUET SeaH IR0 SHET TR kI kol ?

GGkl HIUARI M WEARN SW Y 50 IR fe'r ;o [10]

(1)

(2)
(3)
(4)

‘TN B §Y T A PRI ARG AfRTSe v ST
@ foan

‘e’ SAfRfes W@l

“

A

TR URIG A ARG Afdedd T34 &9 ¥ed 9 fol

TEET  3ES hEl @ o TR HA.

2



4, (31) THGUR TS TG DR Tl UIAE SW 150 IR

fomr . [15]

(1) fogeerr=a YfHehqd @M hIUGE T HIEd hadl o h3ll &
IEEEEMCT

(2) Ul Siued fiedd gegd oAva SRl w8 93 fHesd ?

(&) (1) ‘Ted B Y T A FRed Shdwdd R Teu .

(al ~

(2) ‘T TEA TY < A PREUAIS hgadl ARGl UA ‘e’

o =

I FfRREE  eEr =

5. (31) WSous! TAF TG HIAE Wl Y7A™ SW 300 3T
foar [15]

NN

(1) ‘g @ A AEHRTA STER SRR A e JeIHad .

ce

(2) ‘TAE W' ACHe gEsfas @

~

() (1) ‘= e gy < A1 Iftengd SR JHe Al i gied
I AR 9 e fon

(2) ‘T Tl TY ¢ A BRARNG Ihddedr T o

< .
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Total No. of Questions—35] [Total No. of Printed Pages—2
[3901]-204
S.Y. BA. EXAMINATION, 2011
MARATHI (¥RT3Y)
foaroe wEube wuie-2
[ Wit el areHaren 3faee : YR O 1818 (¥YO) |
(2008 PATTERN)
d9% : dF a™ THOT 0T : 80
e :— (1) T WA SAeRIR 3R
(i) SVEhES 3 I O i,

1. YOOUR! <@ YIAE SW TRl 20 I feRl (YAE TG SIvdael
) [20]

TSN

(1) (1) dfes wUd 9 wIvl Rocerd  sTded  ?
(2) YhHASA S HIUA 2
(3) WeWEl A=A U=hsuer A fo
(4) Hd JEQEreN =M Ae o
(5) Hd A TEAE HIUE Gd HAEH @RS ' 2
(6) Td UEHAHEN ™ A ol
(7) ‘oo’ @ g @ fofger 2
(@ 1) ‘g 0 &@E | 39 faead’ @ oA WA &t &t ?
(2) ‘TN e’ &I W ?
(3) R M dfed weidt A ol
(4) FE WIS &®E ?
(5) HEgYd AT AT v U fofgar ?
(6) ‘=AM Heu' & wmeoi & fofeer 2

(7) dErel ®|US & ?

P.T.O.



2, TYIOURI ORI TRMG Ul WA SR 50 IE fodl [10]
(31) (1) WoemE= ‘deen s’ wifedr T
(2) TRMYE UgN doe diesn ol
(&) (1) SEdfedren wfaaet ARTed HIvKd.

(2) STFA®S A IMENET e U= fosl

3. UoUR YO Mo Tl WAM W 150 IT=@ fomr [20]
(31) (1) ‘TleafE=’ @ daet e fomr.
(2) HHSUST=A HIAbqgarr wied for.
(@) (1) ‘TEeE’ @ vurn = fon
(2) ORvaren wfaaet dfime fo.

4, TEFUE! Wel WAM SR 300 I fowr e [15]
(1) Ed Amear=a AWEnie wWey o

(2) ‘9d THTMY DhRIGE Bl TR T H

5. TYdoUwhl Ul WM SW 300 I=@ foal : [15]
(1) 9d IFear=d SFwgarE IRkad foel
(2) fowoE SEd=t wfEd o
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Total No. of Questions—5] [Total No. of Printed Pages—4+1
[3901]-211

S.Y. B.A. EXAMINATION, 2011

SINDHI
(Arabic & Devanagari Scripts)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 100
(Arabic Script)

< gL?WJ “b‘}@"“ gié C;"’“ N -gkrjéngje agﬁ\.'sj §J;LJ” 1
[20] peg—
L
LTy ylees Ghixs 154 5 O3Sy J.,,ij_» S,o el
S CJ"”T

[20] q R |
L

)‘)‘d)(}hﬁ (\)

[20] 1562 A0S Sds (Al ol s ey sy 3
L

Pl Lo (5 ey S0 1y (455 Ol (e
e pbinsmen ()
2Ok Qs A ! (v)

P.T.O.



(%3 IY) .
Sy wsl e S e 9l S s e Slaeyy o8

[20] peg—

[20] selemen 55 5l lew o e 2 e 0 Ob et
(yla g uzf (st 4Q}¢:“.5L.@.M giggw (\)
G 5 e (2 2000 O e
L s> ks O lie oyl s> Oesd J o
(o o) o0 A el )l LSl (x)
Crzi S 01 OIS e SR L
Lsf..s Ko Q) L.@.i;w ~S (,o‘:jLM,) OE}
Coml OLS Oy o 0355,5s 3151T 0L Ol T (v)
¢ o> Lo ;‘,,,fQLQ Lf(j..\;?fj.,\;%:j Ol QSS Os O

(Sl O B I 525 OLE 0L & o eSS

Sy s (ST (b smigis s Ol 2 e
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S Osmd 5ol i U el T OUS ull (m)

~

<gm| USL?>5>J3 QL,:J.,’; s> SR

NS T ~D gjjj,g 52 (LSS L.~ rv.;:>’ gi’
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1.
2.
1)
2)
3.
1)
2)
4.
5.
(1)

[3901]-211

(Devanagari Script)

[20]



2)

(3

(4)
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Total No. of Questions—35] [Total No. of Printed Pages—2

[3901]-212
S.Y. B.A. EXAMINATION, 2011
GUJARATI (General)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
1. Al sisua As [@Quy u [Reig qull [16]
(1)  gerddl sy 29 disd.
() w2l uleudl uan [Rax.
(3) 0l uldd o8l
(¥) At 2 o GuH Acumsl.
2. S5uwl B Ul ulARAR BdR dvll [16]

(1) ““aaullaurderdl Ml ol 9, U5 9, Adrl 9, S0 8.7 4L (A
aadldl 2l ol gl e s2.

() “axdldl 2udl” Hidl Gad dedl A8 A8 AASHL 2idML BdAR]
oy 9. il (Al Alelel aeldl.

3. SSul B Ul AlRAR GdR quil [16]
(1) Yol ARAHL s AR HBdsAA distd o A sl 9.7 20
[ 2ure s3.
(2) Yol ARAHL elRAULL Hsd el 8.7 aedl,

4. () gfua B u 25 i vl [8]
(1) osdl Hiw 38R,
(2) ““egald Hddl 215 AGARD YU odl. Hddl.
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SueL B U 35 Ale Al [8]
(1) s Yol dollewa.
() Axrieedl asl+dlell.

yaluz 2del 20dl sidusl B A1l [4]

(1) ““ofdHedd s34 SHiA-dl Aw WAL oEl % dEL AL

(2) “Bell @z 232l usialla o olal © 2uu 2wl L wsl
91"

yaluz 2ol 20Ul sidusl B A1l [4]

(1) “Sa g0l s dota syl Buell 52 usl oo <.

(2) ouwll sud cledi edi ddt M 2, edl el woadl 2a wa

59 [auR.
AHLL Bl ey 2L MaH sHLS oL oled A[MrEA 2L
sl Gl [8]
1YL

dd 53¢l URBA UL Al asld sdl MdAd dulr s



Total No. of Questions—5] [Total No. of Printed Pages—4

[3901]-213
S.Y. B.A. EXAMINATION, 2011
URDU
General Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. .—(1) Attempt All questions.
(2)  Figures to the left indicate full marks.
[ Yk eS8 FEdE
L
-i‘f (}ﬁu/? u’)/gé Jt’"

['"] _ZukuksS LAl CBu
b
fe Y SS Lo 5L pF et B L

7] _E eI L L $oy Pt
b
_i'jfu{‘ NP S8 el

P.T.O.



[ E B S T e U () e
oﬁb’,uz Q)
s s (1)
o (1)
[ B AT ()
s ()

Susz 1% (r)
Sk ()

[107] :éé“/‘“&//uﬁiégu/;.uﬁdj;' (D) o
LUIBKZ LIS T (D
Ui e 30

HS T crhie e cripd (D)
HEFTI S r e
RO L LB ety (1)

Jl?g_z,:};gj“? .:J& <‘f¢JU
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el e G de Bl (1)
‘%rj"&f'(f('?@{‘ﬁff;
St uFgefs1ES, (O
UG S &
e Pl Lo BUE (1)
éﬁ;ﬁ(ﬁ‘.ﬁtd;é“g))
g ST S U (2)
Ut Sl & g L A
[16] E A T Ui
L Hesiizady ()
wcﬁf;u{uﬁugdu
FLASHL bl (1)
gl el Ui
NEHOREAET ()
ul.u”’?/gfgﬂfj
SO U ()
UL KUl

P.T.O. 3
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s bl tziud (o)

gu““"‘f/u‘gb&/;é_c/
SNSRI FAy|
SIS RV A N
e Yk e JUE UL

me U e c«r‘(f'{ar‘d

QD)

(2)

[3901]-213



Total No. of Questions—35] [Total No. of Printed Pages—2
[3901]-214
S.Y. B.A. EXAMINATION, 2011
URDU
Special Paper I
[History of Urdu Literature (1901 to 2000)]
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .— (1) Attempt All questions.

(it) Figures to the left indicate full marks.
(1] LE Y LB U F U
L
_Z‘J_‘ffu{.cf,,‘uU/C'fﬁ/‘i'u’:_.ubul

[I] _/.éo’//@K‘J)Jw"u:(fud/d/@é‘rdﬂl i
b
..éo/ﬂ{d/@fbd/yl/fd)}”

('] -’é/d?/bg'{,a{)c«pd/d;ﬁfﬁl i o
b
_E U et Sk K

P.T.O.



(']

(']

-é&géff&/v -
b
_é,fjk{uﬁ/céd/guwc,}

iifgd?/%v’;'/?»u/c—uﬁdﬁ' iy~
ool L3 (D
AT ()
e8I ()
JAL S UIF S A ()
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Total No. of Questions—35] [Total No. of Printed Pages—3

[3901]-215
S.Y. B.A. EXAMINATION, 2011
URDU
Special Paper 11
(Prose and Poetry Text)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

(Uﬁ)ﬂv)u’/b‘/ (1)
() Jeyys ()
Y AL [Tl ROy
(1 LG els i S
i
e e Ut ?‘a,‘gru’:‘,!é}'q;! s b

-

[18] _éoflgcdf.ﬁ“gu;ﬂ)/ﬂ'é:u’/w -r

L
= NS U S ]
18] Sy LBl e,
L

_gﬁa}’{&;‘;}a?d/:zjl&

P.T.O.



[17] igﬁa:}/f{/?ugf;_ufdi;'@u A

oL Sl e I

(1

S ILEUs e (F)

—IEIC, ()

etk oG 2 USFS I ()

[1A] gdpr‘féﬁJJW'%’u/;’_u:J;Cu -0

Wirbedr i exbe F
PN NI SV
M'ufui/ﬂ;uﬁé-(‘
VoL S BL1E
Wi r&ye e 28f
el & 22 dne U 2,
bt ULTE 6 e 1 L2
by UUI U fe 8T
—é%gﬁu(b“/;@ff—‘//
in,:d’{uruf/@/fu?ggé_(‘

2

(1

(r)

()

(o)
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‘aJutg,z-&wuﬁ_Ju, ()
L;’,/JIJT.',?Q_/’/@}’.“CY

e Bl gal T S (0
tnut‘;‘;(uu%uwz_g

st Lg s Be ¥ (M)

l:lgn' U)‘L tjﬂ/c_y 653
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Total No. of Questions—5+5] [Total No. of Printed Pages—4+1
[3901]-216
S.Y. B.A. EXAMINATION, 2011
& . wmr-2
HINDI (G-2)
(e, BETEEIT Hed, STRUT Td @)
(2008 PATTERN)
g oA e Ui : 80
Ured-qieh :— (i) hAMIER — HU. . FR1 HAR SHA/EL. don 7=t |
(ii) oo HPHETTET — TUI. . G FAR S/ Fa | |
(STATETSITY hTeH)
o — () aft g aAted §
(1) <fedt R foa o/ wed & quiew ¥ |

1. ffafed oo & 9 fodl & 399 @1 SR fafen [16]
(1) ‘feccit § s A’ werl § fAd geE Siod &1 T Sifdw |
(2) HEHl & dw@l o AR W STHIEMN’ SeMt o1 faem wmifsw |

2. fAfafed oo § 9 fFd @ 999 &1 S fafen [16]
(1) ‘Ud &1 s9F’ wfaar § o =9 == wifse |

(2) ‘9d % fRa <En §' wfadr w1 vend fafew |

3. frafafeq § 9 f&sl & Joaui & gacyd =arem sifsu [16]
(1) "8 «am yifqas
g I Fed

frasy 9 €, % 99 W®d ©
H w71 freasy T8 f @ €2
A9 48 €, g =X s@d € 1"

P.T.O.



(2)

3)

(4)

4, (37)
(3T)
5. (37)

[3901]-216

‘e e wmed T § H wfoa U,
A HA H TN F H @A TR |
YA 3a4 8 foh TR & YR We &Y
W, T AR TR HT AW TR X o3, |
“fant Jamd Tqgera
R o 8 ® @
yfaea wiftafq 3 =
H fed HARY -

— 3Tl yurH "
“arTafE, STRTHTR,

e Higd, TR St
e ® BN g9 el

=Y T H_EE 1"

ffafed § 4 fedl W fewfrt fafay

(1) et &1 =RF-fasor |
(2) ‘W wErt & SR TRewy |
(3) U g3 H AfKA |

ffafed § @ fedl W fewfrt fafag -

(1) ‘- o9’ e e |
(2) ‘aroft &t SEar w1 o9end |

(8) ‘®H T el YR W' Higdl w1 HW |

[8]

[8]

frefafed § @ o sterer @@ 9 &1 TEY TR RIiWT : [§]
TS UMl o AU 3y de-ier § o ST AR 1 3Tkt fasma

TR wifST |




e
el Hied HUAl, WaRl, Heredeasddeh, Jeisl Hed !, Jag-21 @l
FR & TI Hed & I H UBAS FA &g 9 @@t T
(3m) fAfafed sl § 9 fhsl uR aRil & 96RO S ik L 9
fafeT [8]
(1) ¥ § 3Me% g U & |

(2) TRY TMF H g W T T

(3) YA & W YA I |

(4) Yfer® w1 <@d & =R K B IS WA
(5) WM I IR & fTER &

(6) AT hi AT AWM W A= § |

[3901]-216 3 P.T.O.



[3901]-216
e Bl (Fefous) ¢ fEEn-2

Y ;9 ue ok : 80

&

[AN

FoAl:— () W T st O
(i) T R fod oiw TvF & qoie © |

1. fafafes w&i § @ foki e & dfsa sw fafag . [16]

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)

2. (37)

[3901]-216

TS es feal fRd wed § 2
oo fedt w1 & Afear fafee |
Ed s TAER &% &l YRR IdEi |
SfehT TER A foaRan SaEe |

I WY G9R & of R fafaw |

T % MER W 9 % & YR fafew |
Twmy fFd wed ¥ 2

o &1 &4 3@y JdRC |

o % QO @y |

o & & ®ER SaET |

frefafed wee-grdl § 9 ffdl a) & 1o A ae | 9

Hifeld [8]
(1) RI-3H

(2)  HU-HI

(3) -

(4) T

(5) @I

(6) hl-hA |



(em) frAfafea & & fodl Wk ==AV/IET &1 HARHS TTveafH

fafem . [8]
(1) &9 qU9 He9el § Helhld |

(2) Sed &1 Hig AfGERiE &g |

3. (3 fr=fafed # ¥ fFdl e W sTarEMT & fau foam &1 91 WR
Hifery [8]

(1) dife fdr w1 fagma= |

(2) fodt d& ® ®O AN

(3m) frefafed § 4 fofdl T W JEIA & fau fagm\ &1 T ™R

Hifs 8]
(1) 7 e
(2) TR T T TEh-USEA |
4, fTAfafed § 9 fFdl 9R oRE g9 & W fafen [16]
(1) wAaSgas fedt &1 fagemar sasy |
(2) AEEgeh TAMER H1 Hged odR |
(3) SHMEYR W i IUHAT FaR |
(4) W @[ % WwY o9 Sifed |
(5) Qe HTIR &I wEiugfd fafew |
5. feufef fafew (5 & ¥ =8 4) [16]
(1) HaRSHl sl 3f&al
(2) FE

(8) famda &1 o
(4) HUCHHE ATH

(5) Otk SR derer feel |

[3901]-216 5



Total No. of Questions—4] [Total No. of Printed Pages—2

[3901]-217
S.Y. B.A. EXAMINATION, 2011
& fagw 1
(Hindi Special 1)
(SRTHTTTE)
(2008 PATTERN)
g T "e Uik : 80
oA :— (i) W ye ife ¥
(i) <Ife 3R fa@ % wed & Yol € |
1, fwafafea & § 6l 2@ el & s 9&9 # fafeu [20]

(1) I=E 99e g0 <f T & &t gRymen fafae |
(2) URErg fagFl g @ T Hed i dlE  Weh URWen fafEy |
(3) =™ & & Y@ WA fafeay |

(4) HF & Tl H Sedld HIGT |

(5) FAFA fHY Fed & ?

(6) ZU9HE & Td fdfEq |

(7) ocdees & & U fafew |

(8) HR @ 1 TE9E F1 ¥ ?

9) T & ug fafew |

(10) werit 1 uftyren fafe |

(11) ‘waon’ w-wlk fvd #wd € ?

(12) e & @ d@ fafee |

(13) oE e & d Sea-yaea fafee |

P.T.O.



(1)

(2)

(3)

(4)

(5)

[3901]-217

2. fafafed & & ol & =& & d&0 AR GIREW TR HINT : [10]
(1) T
(2) g
(3) gafocifad
(4) wIEAfdskited |
3. fmfafed 4 ¥ fFdl =R wedi & SW fafew . [20]
(1) o= 7e iR foavawy Em wfawfcd &= &t aRammd s
HIST |
(2) URTE fagaml & we-wAsH faEel @ weA-TEsHl Sl TR
HIST |
(8) v==-vife 1 dc9d Sl (Sl US-Yifdd W WEY T HifWT |
(4) fE9 &1 W&y T FHifew |
(5) A AHd H difcerss dR=E ST |
(6) STAHl k1 W&Y fored g IHH! SAEATIRA] T Gl ST |
4, ffafed § § fdl &9 ool & SR fowr 9 fafew . [30]

IRA HIA-FASH 1 3o Hid g daRy T o9 38 9 foa
TeE % FEgS AMd § 7

TR i IR oad g STh awdl i T HifQ |
Wfes &1 @WEY W Hd gl 3O favmand fafem |

WA T W-FF Fa g FIR W IR IR W # dee ai=
IS

Mideed &1 WE®Y W< Hifed |




Total No. of Questions—35] [Total No. of Printed Pages—2
[3901]-218
S.Y. B.A. EXAMINATION, 2011
HINDI (<)
Special Paper II
(ATeeh, U= 3R "= & whre)
(2008 PATTERN)
g d9 He Uik : 80
Ured-J&ieh :— (i) dhdl — FIvaRedrd T |
(i) QIS — HHAT I |
({ii) HTA-HI-TERPMA HA — T . AR aRY, . T yml |
o — () 9t g aAted § O
(i) <fedt R foa o/ wed & quiew ¥ |

1. fmfafeq § ¥ 5 @@ 7991 &1 W fawrges fafew [16]

(1) #Har wifaan gr1 fafea ‘S’ U= &t wuay fafew |
(2) 3YAE & 76 & STUR W ‘SIg’ YA I HHIT HiST |

~

2. Frefafed gs1 o1 I fosarges fafem [16]
YEE & yAha’ & N & foRg-=men @l T wifve |
e
frafafea § @ fedl & w feufrt fafen -
(i) R : Th GHNS U |
(ii) ‘UHTEd’ I hTeE] |
(iii) TR HT A-ReA |
(Gv) foer@t =1 Gigd-fam |

P.T.O.



3, (37)

(3)

FAfafed sEmol § § fedt weh & 9oed =aren &itee ¢ (8]

() "o Sred w1 i Tw SW A ¥ o | THd orewl § q@ feRdl
T wo § @ Sl S o U™ wel @ |7

Gi) “H @ T R dew 16 e Sy & wed & ufd & W
i@ "

frfafea saao =t gued =aren +ifsw [8]

“BR R Tl Wiaw WM, 99 foR w9 S ' |

TU U HU 99 92 FH S AU HEe H aN |

T4 UEd 98 AR H ¥ SO URRT |

H ffolt 7o w99 d VRN |

o e 9y wafe faem, of fau gem 11"

37T
‘A I R, g, afas gee |
q W & R adl, § S@d-wEeE 117

4, frefafed w7 &1 s fowrgds fafe - [16]
‘T’ AeE HI FaR-ASHl W YHRT Sl |
37T
frfafed § & fodl & W feufer fafew .
(i) ‘IR’ ATEHR w3 |
(i) ‘IR’ AR h guI-faud |
(iii) ‘SR’ AEH B Foeh |
5, fafafed & @ el & W fewufar fafem - [16]

(2)
(i1)
(i17)

[3901]-218

‘e’ ST ITe HI WS |
e &1 aRA-faaor |
‘e’ IUA™ HI Ao1-el |



Total No. of Questions—4] [Total No. of Printed Pages—4

[3901]-219
S.Y. B.A. EXAMINATION, 2011
PERSIAN
General Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. .—(1) All questions are compulsory.
(2)  Figures to the right indicate full marks.
1.  Hafiz Shirari is called “Lisaan-ul-Ghaib h—'f”‘ij' /7. Explain. [14]
OR
What is the basic theme of * U’; J !’
2. (A) Give an account of the life, personality and literary works of
“Shaikh Saadi”. [15]

OR
Give an account of “Mulla Wa-iz Husain Kashfee”.
(B) Write life and literary works of “Dr. Igbal”. [15]
OR

Give an account of life and literary works of Ameer

Khusrau.

P.T.O.



3. Reproduce in your own words in Persian on any fwo of the
following : [12]
3 (1)
=L (r)
Ly B ()

e ()

4, (A) Explain in Persian or translate into English, Urdu or Marathi
any three of the following : [12]
_,C:’l,’u Y olf?)g g’&.;ﬁﬂﬂv’ﬁ/nqﬂﬂg U}J/ﬂ) (S?UJG’ (1
czjlpu:nf,g’/? ..«a)/’/f/‘:uuf/, uL“Té_r’/ﬂ. s 1B e
6 JFSF s B lsg 2 k3P ed el s B b o
j}{/)u},,‘/gjflbaj}lul.)/,g u}'/‘M'foU?)gJU'MI/,
L‘A}f.'};} dc/‘JL%/}‘Jf’oféWulbU:)b (_'53"’(7}(0'”6'3
et Sy
NESTRES S (IR RS- VoY N BT NS TIE= CD
< e J 4 .:,.,f/f'{/’ il b G?(/': [}"/. ,J/:«fc/' a&uﬁ

2 [3901]-219



ba s 2ol 2Ly b g UL e Sl 2
S & s (f Ql"f&"/ /f}));& u’(@‘ o.‘Lg 85oss =2 (jf
_;ﬁ;/fquMf:'ﬁul?

as ST Sl sk kqxddﬁyé’fmowu’
e o NS TYPARY J;/_ﬁi Jlo 2 ﬁ 4.)/51)')'
2338 ooli e o5 (30) k2 EEDTO RS YT 1V AW
,J/t.j ablf:al/b//),g d')?fu‘)‘é_%bjf;ﬁib{ﬁ
_gf»:flf‘q/;fﬁ/’/d'rCﬁ"ﬂ_»fo/gﬁﬁl‘,:ﬁ‘:(t,&”
s, d‘l}/ﬁf»f ;‘})’)i/’. 9.»?&{.‘”)/;,%5/«53}/,’3'0)/:7’
ﬁé‘ﬁ/l/’; 2 /ﬁl_ﬁ)f = Gfi/)J} (J/J/d,féu;,&”/";
u’(./czjuy,f/n;«z/. gﬂ/}/’ﬁ‘&ﬁl‘,;b/u:l Bl Iy
-2 oﬁ@i(}/}juuuﬁﬂ/:ﬁ le,/';::“ﬁ)ﬁ/.

sl :A(&)»f/,"d/;’u,?ﬁ'u% b e S i e T
o).lﬂ,ﬁd,gf‘:z (f.g;‘/;‘.{..ﬁ,»fu/;a)@@:qm ﬂ) .."AU(LU)
ARy S FIPINC ) d/’)/-d}/ﬂ)?ﬁf&éugkb G’;/
)[J@,:«‘J)') “T,g,gt‘u'f:u/gjtjo‘/u:w{)»fo,g]'w/:"
Alsslielm e UTE

P.T.O. 3

)

()

(o)
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(B) Explain in Persian or translate into English, Urdu or Marathi

any four of the following couplets : [12]
o Ut ertons FET (1)
df)d/;ziu"r'owum‘:%
SUl 88 iz satie S (1)
bl,/"ubrut%(_/bb‘rurf
Sfs GHS Ut e FFUT (F)
Jd/@(}/y{ﬂ;ﬁ
O3 il B (1)
Gl Jo gl g
lé:'w‘(ﬂp;«fuugt{'w (o)
el P 04T ool o
= S o gt (1)

SFPEE S E

4 [3901]-219



Total No. of Questions—35] [Total No. of Printed Pages—3

[3901]-220

S.Y. B.A. EXAMINATION, 2011
SANSKRIT (G-II)
(Raghuvamsham Canto V and VI, Bhagavadgita Chap. III to VI)
(2008 PATTREN)

Time : Three Hours Maximum Marks : 80

1. (A) Translate into English or Marathi any fwo of the following
verses : [8]
(i) T JAON YAgTeRT AT UfaReRET |

RRAfTeht  AETeREd el spHRHeE A= | |

(ii) UUSNsTHHTIdeRER: FSAEIRM =< |
Ifd SeTdReREr]: SFERIQm Sarfsas: | |

({ii) 99T =F QEEERD Arewgdmereiia sft:
T I TF S: HHAl OGHANGHS eI |

(B) Explain with reference to the context any two of the following :

[8]

GSIGUh! HIUAR et gued TR &
(i) WEeR HFeRNgUd Hddel ARRIHAE |

(el e NN

(ii) FRAR TAfSdaEad  Teshzeruitad  JHRld | |

(iii) PTF:  TorAR & gs:|

P.T.O.



2. Write an essay type answer to any one of the following : [16]

THGUR HUART Tl FFA FfowR W o

(2) Describe the similies in the fifth canto of T@'ﬂ

TRl I Siidie SuHl TI% .

(i) Critically appreciate the sixth canto of T‘él,ﬁ'é‘[

TEET=A §Eredl Wi TEI8 .

3. Explain into English or Marathi any two verses of the following :

[16]

GOGUHh! DR QM o eid feRam WIS TSRO
(i) AHfoEgareE e fafsdfsa: |
IoKI: TTAd AN FHALEEHRIZA: | |
(i) ¥H9 g dedE AW ATRIGHCHA: |
TGS JehRTAfd qeaeH | |
(fii) AoEd dfgdoreEi Hod H|
FfieoHgdl THEAT dIEHEAH | |

4, Write an essay type answer to any one of the following : [16]
TOGUR BRI Tl YEAE HiowR SW fom
Summarise third or sixth chapter of eIl
Tagiaen faga fear ween stemmn 9w fo

[3901]-220 2



5. Write a short note on any one from each Section ‘A’ and ‘B’ :

‘&' e ‘9’ faYETdie skl WekTeR  foe=MicHsh  dM9 foal

Section A
(farsmr “31)
(i)  Character sketch of TSI [8]

TSI Aok

(i1) Description of any two kings in the sixth canto of T@'ﬂ

TIERT= WEedl Td SToedl SRl & o= au.

Section B
(faam ‘=)
(i) T and wH. [8]
feeasn anfor <.
(ii) 4.

[3901]-220 3



Total No. of Questions—35] [Total No. of Printed Pages—3

Time :

2.

[3901]-221

S.Y. B.A. EXAMINATION, 2011
SANSKRIT (S-1)
[RISRTATGURT JOfaeR d ehiflcord 0T (AT 1-6)]
(2008 PATTERN)

Three Hours Maximum Marks : 80

(A) Explain into English or Marathi any t{wo of the following :
[8]

EIUh HUER  EEd Feid  fehar TS SIS

Afqpar-EmRiedl R HA =R |
(i) 7= HFE ‘g’ Y 9qee™ ¥ ‘R’ A g gad:|

(iii) SEHAUGRIEM el ar=Ag, SIS : Hiva: |

3P

(B) Explain with Sanskrit definition and Sanskrit illustration any

two of the following figures of speech : [8]

TEIGUR! HIUER & AGHN T HEhHaHHe A0 T IR0 |

TR
(i) TEAYH
(ii) S
(1i1) T4
(iv) 3T9afd |

Write purposes of the poetry according to Mammata. [16]

AT HAgER AT YIS IOt ofled o 9L

P.T.O.



Or
(fenam)

Explain the definition of the poetry according to Mammata.

U o] hIAGAUE TSR0 .

[a

3. (A) Explain with reference to the context any two of the following :
[8]
JEeuh! HIUER  GEid GeuiHE TR H
(i) oIrifereRl R ol quedlfa=fad  fo=m: |
(i) WAl IRVAAITHENT I5H de[ M Hiauesd |
(iii) &1 W guA 3 difeea: |
(B) Define and explain with illustrations any two of the following
metres : [8]
JEIGUh! HUERI  gM JAd @9 WRE QR TR &
(i) Tifa:
(i) ssasl
(iii) SRR
(iv) BraEfio
4, Write summary of any one topic of the following : [16]

(2)
(it)

[3901]-221

pcicEcaiical oI I o 1 | RS E B

TSI ETIT
TEqesicait: T Fearicdid: |

2



5. Write critical paragraph on any one each from Section ‘A’ and Section
‘B
TEoust ‘3’ offtr ‘9 fawrmg Wl WeRreR fadme =t fow

Section ‘A’

(famr ‘er)
(i) HANS:
(ii) STeRIET I | 8]
Section ‘B’
(fawm ‘=)
(i)  STcATfaIdeshA
(i) ISEAM: | 8]

[3901]-221 3



Total No. of Questions—35] [Total No. of Printed Pages—4

Time :

[3901]-222
S.Y. B.A. EXAMINATION, 2011
SANSKRIT (S-1II)
(FEFe)
Vedasaurabha

(STHRY)
2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

1. (@A)

"a TEA A 3.

(i1) Figures to the right indicate full marks.

SSelhele 3 qul O SFiferdrd.

Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]
GOGUh! BRI T WS feRer Ui oTamaes IUEE
e fom
() fa g @ 7 RS 9 "

Thifyfeeo dmfgl

(ii) TETRNel JeY: WediE  9edund |

9 9H fosmd  gomfdrssrged | |

({ii) A o1l o qoak  fogd SSmdiSed fUed @i

W o e SEd W TS el et

P.T.O.



(B)

2. (A

(B)

[3901]-222

Write an essay type answer to any one of the following :

[10]

ToeUs] RUER  Tehld dfaaR W fodl

(i) Describe the deity Usas in the Rgveda.

FIOQe I qodd aue foml.
(i) Bring out the duties of Indra.
TS fafay w1 = &

Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]
CAGYh HUER S T oM faRar SUSid Sawdd drde
e fomr

(i) Ul STEATEUE e fagadE |
H gdd THEfg W ogdd o afufe
(i) @ gai T foif el &0 foafd  gagammon
T OIS TEEN: A IR g " wRA
) I W W AYE F TAGEA d T WY g d |
o T e W qEE 3 wfdesy 0
Write an essay type answer to any one of the following :

[10]

ToeUs ROER Tehrd dfaai S foml

(z) The internal nature of the Atharvaveda.

AYde™ Td WwY foRle &
(i) Bring out the importance of the Medhajanana Hymn of
the Atharvaveda.

FYRIG YN PR He™ TR H.

2



3. A

(B)

4. (A)

(B)

[3901]-222

Explain with reference to context any one of the following:

[6]

TOOIR! DR Uehld HUeH TIRIHRI &

(i) 30 A= WA A& fefdl

(i) @ dHF T waEl feEmssE

Write an essay type answer to any one of the following :

[10]

ToeUs] RUER Tt dfaai W fodl

(i) Explain the rite of Somapravahana.

Ao fael T .
(ii) What is ‘®H1: 3ta9do ?
‘M sreduY WU R ?

Explain any one of the following with reference to the context :

[6]

faY

TEAGUHR! HEE  Terrd Tacy T o

o

(1) dUEl o TAISRIES;

(ii) g=afga ¥d: T=d qEfgaeEd g

Write an essay type answer to any one of the following :

[10]
TOeUR HUER  TehTd dae I fom
(i) The analogies given by Aruni,
AR fqoe  geer;
(ii) Bhargavi Varuni Vidya.
qrfel AUl fo=m.
P.T.O.



5. (A

(B)

[3901]-222

Write a critical note on any one of the following :

TOGIRT FUER  TahteR  foo=er ui=se fom
(i) Parjanya-deity;

TSI Qe
(i) Thoughts in the Purusasutka.

qESeIde  forem.

Write critical notes on any two of the following :

GoGUsh! HIURl areier fad=e ufi=se  fom

(i) Bhaisajya-hymns of the Atharvaveda;

ST ATIHeR;

(ii) The curious pupil in the Upanisads;

SuweIdie 5=y R&r;
(zi1) The stories in Brahmanas.

EIREUR I GICE

[6]

[10]



Total No.

of Questions—8] [Total No. of Printed Pages—4
[3901]-223
S.Y. B.A. EXAMINATION, 2011
ARDHAMAGADHI [PRAKRIT] (Gen.)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts : (i) ITTSEAHURTERE (Vashudev Hindee)

(ii) IMIREUT of 3Wd (Ambdev Virachit)

1. Translate into English or Marathi any fwo from the following : [8]

TS QR 9NId feRar WG WIMIR

(2)

(i1)

(ii1)

T E MUE—JW | E HUYSl AW W, 7 %UE Sfodgel 98

9 guREl tFen! A= Sl 9 | qOl 9 H doas—'aws | T gea
qR=sfiee T8 Td0 HASsudl Iy HesHeledl Teerkfadl, o
JHYR T 7 guyE ¥v faed | 94, fveyg 1 | 99 9 IfHaeR
Hfe’ fa 9T & |

ST = d g0 e g o i eerEmEest Sferte
TH UGS | 9En I H—geR | W odes Mo W@ T S=kar fa|
RIS &l | 08 F H STREHE HUER-UN Tdhal Ud SN
e 8& | 9 & dfe 9o Mewsrisdl foqorst |

@ g Ffioem oS QU 9Med ¥ SIS sl SSSfl, ol

I HUY Tlagl I AU W | FgEA 9 W AU W0 JHessal
H HET | T g @IS SIUUN STeEiEe SRS ¥ §™ | W
P.T.O.



9 o1 Ame SARA WiAl, afean STy | SAvfCAfeady o STeanaT,
stfogamTTee A sifefean =X = e wafe=n | gao-faa-see 7 frag=sa

SMTAl Selfoga |gsll |

2. Explain with reference to the context any fwo of the following : [§]

JEIGUh! FUER  GEd GeWidE ST
() Y@ | W g o8 9 o0 oTeudR <oand |
(ii) & = gel, sl fA S RS |
(i) W g9 &9 guie @l a=u S o

3. Give the character-sketch of 9. [16]

o

qee SRS .

Or
(fepam)
What was the occasion that led 3¥TEScd to 5|5|§'|85T ?

[al

HITCH THHo TS {iaian dder ?

4, Write a critical paragraph on any one of the following : [8]

o o haV o

JEIeushl R Uenl fawaer fadus ufwe fos
@)  gfel
(ii) The episode of the six monks <T@, RS ete.

U, YHEs ARl @@l HArE 9w,
[3901]-223 2



5. Translate any two of the following stanzas into English or
Marathi : [8]
TEOUR! IR T T S feRal TS 9T A
(i) TFRINS e o 9O ‘g wafg fagam |

TEaufvE 4o A T gfes fal 1

W@ g fagfgnfa fa 3 Iamvewd |

1 SRlUera IR oMY | |

(i) ‘TemesEuel 9 @ ™ fu fafw d<@
qqUE ‘gYRE JeW 38 TR HEH UigurEl ||
T U ‘A g vt Sfson e |
S VRO digef fafeon ||

(iii) dREE=1 fiogs st @@ T < g

JogIHaae Hid T8 TG’ ||

I9UE qUi AN ‘o feAmgst s gREr |
Mfees’ defl @ 999 ‘UeT WE’ ||

6. Explain with reference to the context any fwo of the following : [8]

JEIOURl DU el gy TR &

(1)  oTeal IAHECIO HIUATY TR |

(i) & | T8 IHUSHUEEST WSe hue’ 4 |
(i) ==0 fa au fossig <@ | 91 wew ufea=n |

[3901]-223 3 P.T.O.



7. How was 319IRHN captured by Tid ? [16]

JEIdH  SIHIRANG Fd Thes ?
Or
(fenam)
How did 319THR obtain the four boons ?

HAYIHANH AR = Al HIl Hed ool ?

8. Write critical paragraph on any one of the following : [8]
TEIOUR! HIER TR foo=er diess fom
(i) How did 3AYIRHR take the ring out of the well ?

AYIRANH fafediqd St s w weol ?

(i) The statesmanship of JIYIHHAR.

AYFRARE HeEe .

[3901]-223 4



Total No. of Questions—35] [Total No. of Printed Pages—4
[3901]-225
S.Y. B.A. EXAMINATION, 2011
ARABIC

General Paper 1II

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
1. Translate into English or Urdu or Marathi any two of the following
passages : [16]

z

i iz VI o L OIS a1 85 (S 81 (2
3550 0 smle LS Lab SUI3 o s smllay O ke sLbY) mam
Aol U1 A JUas s Ul Y1 o BIAAN o 4l amd _lames
3 &x.s Ua J.j;;.s\ 9 j.ﬁ \.3 T L5;> <'\.;\ 3.3 >)\.: Ls.;..l..@.ﬁ‘ ugj 9 _d).l._»._S\ \..@.f I

i

OV RV A AW Ll 2y g3V e L1 5o L
(£) Osm,l VI 8l o L 6 ghs Sl 5 & a5
_f--"j-;’,
o et LS sl s ke Sl sl LS Slae) L (o)

JUP PNy PN [P UR P PN [P D B P

Ui ds O 555 C2sSb anmddd ke Lalondl J3 5 el Joalm ) oy

P.T.O.



Sealdl JJLeSI ey L1 5 JL Edda s doaln It s n )

o W eyl Slnis e 85T 5 e b Somnany o Godea )
i AP0 g nE GF i et Amy OLS

s g i) dady g Sl Clly 35,571 ey e A Jgm ! ()

5 e Sy (35 m Cha b B e O pminiy Y RSl

9 _.:j.m};js 9 ;j.ixj\ _iﬂng\ V..é..gj/\..éfy 22.«-: _L)._ALJ— B ;——:g—"

I 2

R 5 - . v, . - 2 R
2Ry i..?.J B g_,..s W 9 J..A.AM LS"‘;“";‘" LS';"C 9 - LS';'&'S Lg ../X..@.&.S\ -2 ;P ;aRD

_V..é..kﬁ u,....:..b SRR JAT ij.l.z— 9 ;)J\.E Lgs

2. Translate and explain with Shane Nuzool any fwo of the
following : [16]
A e ()
PN e ()

i) 5 ) g (%)

3. (A) Translate with reference to the context any four of the
following : [8]
s oS W3 ()
LB L
e LS (Y

2 ., * w
o)\J.c AN P

2 [3901]-225



;:*r" \..@_5 w-:—s

3 L g
:L.:J'; La j-i &

:L:J.B La a8
JEAN L L,

IR ;.x;s P
Coneld) L i)

23V Coniiy
JeVL mpe Ol

JnSIL o)l ]
B e nle

ntlly JUTY

(B) Summarise any two of the following :

i) Jle)
336 bl
L Ll

g_a-uﬁa-s. /w \-«\.?.Q‘J.B”ZJJ'.A}'Z\.Q\};M: 5

4. Define and illustrate any fwo of the following :
ia.2ll 92 5o gall
aleaza V16 5l
S Sh g Ml B pa g S A me

s a1 el

P.T.O. 3

)

(%)

()

QY

(V)

(M)

[8]
QP
(V)
)
(%)

[16]
QP
(V)
)
(%)

[3901]-225



5. (A) Translate the following passage into English only : [8]
J&\ J..ij\ éx.é.g. ) g ok Ne J,u B el ; SR3 9 :5"” J_ij\ LS’LG i&i.s Le J,«._l._z-n_';ﬁ
oS g0 2E Joa nead s 5 A L (S L el b Sl oL
¢ S et NS 5 S € e b D Al

(B) Translate the following passage into Arabic only : [8]

The Government offices are closed on Sunday. Those women

do not work in Government offices. Please put these new

books in the racks. We have studied many new lessons in

Arabic, these men and women work in those small

factories.

4 [3901]-225



Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-226
S.Y. B.A. EXAMINATION, 2011
ECONOMICS
General Paper II (G-2)
(Banking and Co-operation in India)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]
(i) Explain the meaning of word ‘Bank’.
(i1) Explain the meaning of crossing cheque.
(iit) State the characteristics of co-operation.

(iv) Explain the three-tier structure of Co-operative Banks.

2. Write notes in 100 words each (any four) : [20]
(i)  Characteristics of Mortgage.
(ii) Monetary Policy.
(iizr) State Trading Corporation.
(iv) Functions of State Co-operative Bank.
(v)  Limitations on Credit Creation.
(vi) Types of Cheques.
P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(i)  Discuss the failures of Nationalised Banks in India.
(i) Explain the role of Co-operative Agricultural Marketing.
(iii) Explain the Co-operative Movement in Maharashtra.
(iv) What is Credit Control ? Explain the Quantitative Weapons
of Credit Control.

(v) Explain the Nature and Importance of Co-operation.

4, Answer any one of the following questions in 500 words : [20]
(i)  Explain the problems and suggest the remedies of Sugar Industry

in Maharashtra.
(ii) Explain the arguments against and favour of Nationalisation

of Commercial Banks in India.

(TS wUi)
d9% : o a™ THOT 0T : 80
T :— (i) §d WA diefau eRds R
(i) SodwEE s gl T el
({ii) USHMEIES He3 TUSH UIAdlehl TRl

1. Toe 9N TRl 50 IS SW foel (Rivkel @F ) [10]
(G) ‘S’ W Il o TR HL

(ii) Vaifrd <Teprar A T2 FH
(jii) HehN=l dfRT=Sy 9.

o [al

(jv) TEHN dhrt Eada @ W &9

[3901]-226 2



2, T 100 I foul foml (SR | r) [20]
() e afETse.
(i) TSAguIeh Rl

(iii) T AR HIMSD.

NN

(Gv) TSI R ohd hrd.
(v) YaHfHdEdS TEr
(vi) oFRET YK

3. GG GTAE Y&kl 200-250 I S fowl (Rivdel di| ) [30]

() YRAKS USEed shie SAUTRIEN == .

(i) HeRRl Fel faquErR qfter wose w

(i) VERNIRIG TEhRl Fodsd TOaER TR .

(jv) TAFIY WIS & 7 YdHISOml SEAcHe 9iee TR

(v) TehNE TWEHY d Hed W& H.

4, TOGUD! DHUARI Tk WAN 500 IEEE SR A [20]

(j)) TERKM® TR AT 991 9 I9F TR 6.

(i) YRAGe UK M= T eTn gadad o et Jeitar
o R

[3901]-226 3



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-
S.Y. B.A. EXAMINATION, 2011
ECONOMICS
Special Paper 1
(Micro-Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) :

(1) State the types of Income Elasticity.

227

: 80

[10]

(2) Explain the concept of Fixed Cost and Variable Cost.

(3) Explain the concept of price discrimination.

(4) Describe the concept of Group Equilibrium.

2. Write notes in 100 words each (any four) :
(1) Importance of Micro-Economics.
(2) Determinants of demand.
(3)  Characteristics of Duopoly.
(4) Pigovian Welfare Economics.
(5)  Collective Bargaining.

(6) Characteristics of perfect competition.

[20]

P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(1) Explain the determinants of supply.
(2) State the Basic Economic Problems.
(3) Explain the Loanable Funds Theory of Interest.
(4) Describe the Risk and Uncertainty Theory of Profit.
(5) State the characteristics of Oligopoly.

4, Answer any one of the following questions in 500 words : [20]

(1) What is Indifference Curve ? Explain the properties of
Indifference Curve.

(2)  What is Monopoly ? Explain short-run equilibrium under

Monopoly.

(WS wUiav)
d9% : dF a™ THOT 0T : 80
M :— (j) T WA SAeRIR 3R
i) e siw Uw U .
(iii) 3TeRIh dY Yoo kA hlal

(jv) USHIHE T TS UTAdAeh] TRE.

1. Toe YN TRl 50 IS SW foel (Rivkel @F ) [10]

(1) 33U odfdedd YR G

(2) TR Td 9 dCadl @S A HhoUdl e .

(3) HANSEN Hheddl TR H.

(4) g 9Hde Hwhedd e ®
[3901]-227 2



faY

2, W 100 I=@ femr fem (FOnE W R) [20]
(1) g&q RMEE HEa.
(2) HriE YR
(3) ShrrEr afime.
(4) o= weamome AR
(5) OMfesh WICETHI.

(6) gureaE TSRl

3. WOl WAED ! 200-250 IS SW @Rl (SIudE i) [30]

(1) Yaea™ FuRe e &

(2) Teovd oTfdw wHET E.

(8) N Hhellss (HHET Hgd T .

(4) ATHEET G 9 AMR=Edar o e %

~

(5)  AcUleshanierNr=l SRt Hi.

4, TAEUD HUERI Tk WAA S® 500 I A [20]

(1) 9Hg< ok WO HE ? FHIWl gkl TUEH TR HA

(2) U WIN &M ? HKEHde STUhRioH Iudie T2 6.

[3901]-227 3



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-
S.Y. B.A. EXAMINATION, 2011
ECONOMICS
Special Paper II
(Macro-Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) :

(i) Explain the importance of Macro-Economics.
(ii) State the primary functions of money.
(iizr) Explain the concept of full employment.

(iv) State the characteristics of business cycle.

2. Write notes in 100 words each (any four) :
(i) Two Sectors Model of circular flow of Income.
(i1) Paradox of thrift.
(ii1) Causes of Deflation;
(iv) Stagflation.
(v) Weapons of fiscal policy.

(vi) Principle of Acceleration.

228

: 80

[10]

[20]

P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(i) Explain the elements of monetarism.
(ii) Explain the phases of business cycle
(ii1) Explain the Milton Friedman’s approach towards value of money.
(iv) Explain the measures suggested by supply side Economics to
the problems of stagflation.

(v) Explain the factors affecting consumption function.

4, Answer any one of the following questions in 500 words : [20]
(i)  Critically examine Say’s Law of Market.

(ii) Discuss in detail the objectives of Macro-Economic Policy.

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

o :— () Td W el SeRds SR
(i) IoEhel® 3T U IO SFifadr.
(iii) oAEFg®k dY Yook ATFAT Hal.

(jv) USHIHE T TS UAdAehl TRE.

1. Woe YN TRl 50 IS SW foel (Rivkel @F ) [10]

(i) HAUGH! WS HEd e .
(i) RN wafHew wE G
(fii) T0 ISR & Hhedd l TR .

(jv) SAUR <hr=t SR EL

[3901]-228 2



"

2,  TERR 100 I=Sd feuwr fomr (vd 9w [20]

() U IOl IR YarE fgaa  gfaam.
(fi) wedrer feienyme.

(iii) STl L.

(jv) TRIgH FSTARE.

(v) TSTRISE  GROT=T HIEE.

(vi) Y T

3. WOl WAED ! 200-250 I SW foRl (SUdE i) [30]

(i) HSERE HAde TR .

(1) MR ThlAT I TS h.

(iii) W goawadEn ficed iR W=l qRIBM wWR S

(jv) TRIgH FSTIEeR qEdl dNEl RTEN gados Sud e 6.

(v) SUHNT Hodel IRUMH HOR ek TR H.

4, THOURI VAR Tk WAL SW 500 IE@ fowr [20]

() ¥ = TINRUSfase=a e feawcas 990 .
(i) THUeel offYfer ume SEteEl gfae® 9=l .

[3901]-228 3



Total No. of Questions—4+4]

Time :

N.B. :—

1. Answer the following questions in 50 words each (any two) :

(D)
(2)
3)
(4)

[3901]-
S.Y. B.A. EXAMINATION, 2011
POLITICS
G2 : General Paper II
(Constitutional and Political Process in India)

(2008 PATTERN)

Three Hours Maximum Marks

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Scope of Directive Principles.
73rd Amendment.
Importance of 1952 Parliamentary Election.

Dominant Caste.

2. Write short notes in 100 words each (any four) :

(D)
(2)
(3)
(4)
(5)
(6)

Basic structure of Indian Constitution.

Role of Judiciary in safeguarding Fundamental Rights.
Role of Election Commission.

Features of Regional Parties.

Development Policy in Agricultural Production.

Peasants’ Movement.

[Total No. of Printed Pages—4+2

229

: 80

[10]

[20]

P.T.O.



3. Answer the following questions in 200 to 250 words each (anythree) : [30]
(1) State the structure, role and importance of Constituent
Assembly.
(2) Trends towards centralism in Indian Federation.
(3) Write an essay on organisation, structure, ideology and
contribution in elections of Congress Party.
(4) Critically examine post 1990 Communal Politics in India.

(5) Explain the contribution of Women’s Movement.

4, Answer any one question in 500 words : [20]
(1) Explain importance of Preamble of Indian Constitution.
(2) Write an essay on ideology, organisation and contribution in

elections in Indian Politics of B.J.P.

(WS ®aia)
d9% : o a™ R CUNEREC

oAl :— (i) 9d WA EEds  STed.

(i) IoEhel® 3T U O SFifadr.
1. WHGUR! HUERI M WAl W YR 50 I fowl [10]
(1) WNie3ieh  deoi=l ST,

(2) 739 TSHEEST Q.

(3)  1952%A1 FhEHl fTISUEh= He.

(4) YYRTS .

[3901]-229 2



2. VAR WReR dedd fem fem (@ 100 IeRi@) [20]
(1) 9RdE TogEedl qoYqd @

(2) Hod TR WU <Eedel qed fHe
(3) Tro=sus omErm=l YfHeh.

(4) URRTR Ol SfTe.

(5) 3l IcUIRH  &FIdle foehrd €.

(6) IR Tcsdws.

3. WOGUh! HIUER dF WA W TRl 200 d 250 ITeiqdd fewr ¢ [30]

o0 N

(1) YRAE TSgeedr 9ide=] T, QiI(\HOhI Mo Hed 9.

(2) YRAE FESATAT higeh o= Yol
(3) WHIUG Tt FeeAl, =1, faaryenet sufor faeuEdie wMEAR AR
frey fom

(4) YRGS 1990 X SHIAAR! USROS fehrcmss q&1or .

[a

(5) oo dwdd™ AR TS .

4, THUD PR Tl WAE SW 500 I o [20]
(1) YT TSEedie 3G d (TEMI)  Hed TS .

(2) YRAE YOBRUME 9. & 9. = founeRel, 99ed ot Hasuside

IeE IR fAaa fomr

[3901]-229 3 P.T.O.



[3901]-229

(Political and Social Movements in India)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]
(1) State the important issues in the Social Reform Movement.
(2) Mention the method of functioning of the Moderates.
(3) Explain the term ‘Upliftment of Women’.

(4) Define Communalism.

2. Attempt any four questions (in 100 words each) : [20]
(1) State the impact of British rule on the early Indian reforms.
(2) Discuss the issues and methods of the Extremist era.
(3) Write a note on the ‘Satya Shodhak Samaj’.
(4) Shiv Sena and its doctrine of the ‘Sons of the Soil’.
(5) Peasant Movement in Maharashtra.

(6) Rise of the Narmada Bachao Movement.

3. Attempt any three questions (in 250 words each) : [30]
(1) Discuss the nature of ‘Gandhian Politics’.
(2) Examine the ideology of ‘Non-Brahmin Movement’.

[3901]-229 4



(3) Discuss the factors responsible for the rise of ‘Hindu Politics’
in India.

(4) ‘The assertions of pose a threat to the unity and integrity
of India.” Discuss.

(5) Examine the role of the Communists in the working class

movement.

4, Attempt any one question (in 500 words) : [20]
(1) Comment on the Communal Movements in India.
(2)  Critically examine the issues of ‘Emancipation and Empowerment’

in the Women’s Movement in India.

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

el :— (1) T W Grefau SeRds SR
(i) IoEhel® 3T U IO SFifadr.
({ii) USHMEIS He3 TUSH YUl TRl

1. WOSUh! HUGE QM WH Teal (YS! 50 ITeEid) [10]
(1) arfSieh gaRoT FdcmHie Hedd e 9.

(2) WAl HREYGAl 9HTL

(3) el 3GR  (upliftment) & TFheud T FHA.

(4) SHCGIRRT AT &L

[3901]-229 5 P.T.O.



2., Woous! ®UME 9R WA ded (Y& 100 3TS)

(D)
(2)
3)
(4)
(5)
(6)

IR guReer Tz qeee=n’ soe JRkum.

fa b Y o N
SlelHAdIGl  onloolde  HQK AN Tgdierk <=1 .

‘Oerniys 9u’ IR g ol

RIS 3Idehdl  He3des.

‘THeT d=Er Uddedl’ 3.

3. WOGURl HUME W WA Gedl (YIH 250 ITE)

(1)
(2)
(3)
(4)
(5)

MR USRIl S®arEt =<9 .

o o

IR Aosdosi=a  Taamyuai=nt  faferaar .

[20]

[30]

IRAie 6 USRUT=l 35A1@l SEeRR STl

SE G T

‘STRRTRARe YRA ‘Thdl 9 JESIA’ el e, o= &

~

HAR Fesdeoidies  araear=a  fehe aR&m &

(1)
(2)

[3901]-229

TISGUh! DIUARI Teh Wed Aredl (500 IT&id)

AT STHIdAR! Tdosial’ 9T k.

[20]

IRATN @ SAaR] JeaaHHe Ao o Heaoh e’ Jeedrd [

gRe .



Total No. of Questions—4]

Time :

N.B. :—

[Total No. of Printed Pages—3

[3901]-230

S.Y. B.A. EXAMINATION, 2011
POLITICS
Special Paper 1
(S-1 : Western and Indian Political Thinkers)
(2008 PATTERN)

Three Hours Maximum Marks

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) :

(a)
(®)
(c)
(d)

Aristotle’s views on Slavery.
J.S. Mill’s views on Freedom of Action.
Gandhi’s concepts of ‘Satya’.

Justice Ranade’s Liberalism.

2. Attempt any four questions (in 100 words each) :

(a)
(b)
(c)
(d)
(e)
()

Karl Marx’s views on Class Struggle.
John Locke’s views on Civil Society.
J.S. Mill’'s views on Utilitarianism.
Mahatma Phule’s views on Women.
Mahatma Gandhi’s concept of Ahimsa.

Dr. Ambedkar’s views on Varna System.

: 80

[10]

[20]

P.T.O.



3. Attempt any three questions (in 250 words each) : [30]
(a) Explain John Locke’s theory of Social Contract.
(b) Explain Justice Ranade’s views on Poverty of India.
(c) Explain Marxian views on Revolution.
(d) State Mahatma Phule’s views on British Government.

(e) Explain the contribution of Dr. Ambedkar in Dalit Movement.

4, Attempt any one question (in 500 words) : [20]
(a) Discuss Mahatma Gandhi’s on various techniques of Satyagraha.

(b) Explain and evaluate Aristotle’s views on Revolution.

(TS wUIe)
9% : o a™ THOT 0T : 80
o :— (i) §d WA diefau eRds R
(i) SodwEe s ol T el
({ii) USHMEIS He3 TUSH YUl TRl

1. TOOUR PR g WA Wedl (YO 50 IWEd) [10]
(@) Eieed TToMiRifawEs  foa=r.

(b) WUH. HWod Fd @aATTIs  faEr.

(aV

(c) TSN Ham=l  Hehodl.

(d) =M. TAS I SRHEIE.

2. WUkl RUdE OR UEA dedl (FRt 100 IS) [20]
(@) <hIo W=l orEes fauges  fa=m.

[3901]-230 2



3.

(b) S Skt AN HHSTESEET A

(¢) . TYH. How IWEREER.

(d) ¥  |/e Al Sfawe gfedwH.

(e) HERHT Tei=n SIfgd=i HehouHl.

(H = eEwHd guicHeEdeead  foEr.

WOGUsh! H0del  d WA 9edl (YR 250 ITQ)

(@) S Skl 9IS wIR f9gid T &

fa ~

(b) YRAe <o =, {[Me I faeur e &

~

(c) HEHT hidifaoRes faarR T H.

o 0

(d) Wt ®o Al fofes ymaaeEedt 7d |

(e) Tl AUSHIT TId Tsdoddis INCH T H.

TOGuh! ®UAR Uk WA dreal (500 IRM@)

(@) THEHT TMe=N HanerEAa fafgy doret ==i .

(b) SffTicoa FHdauE® fOUR e HEd @© JedHuH

[3901]-230 3
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-231
S.Y. B.A. EXAMINATION, 2011
POLITICS
Special Paper II
(S-2 : Modern Political Analysis)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]
() Limitations of traditional political analysis.
(b) What is Public Opinion ?
(¢c) Nature of Political Culture.

(d) Types of Political Communication.

2. Attempt any four questions (in 100 words each) : [20]
(a) Functions of Political System.
(b) Nature of Political Socialization.
(¢c) Importance of Political Recruitment.
(d) Features of Behaviourism.
(e) Causes of Political Change.
(A Aims of Survey Method.

P.T.O.



3. Attempt any three questions (in 250 words each) : [30]

(a)
(®)
(c)
(d)
(e)

Explain

the features of Modern Political Analysis.

State the types of Political Participation.

Discuss
Explain
Explain

the agencies of Political Communication.
the influencing factors of Political Culture.

the agencies of Political Socialization.

4, Attempt any one question (in 500 words) : [20]
(a) Explain the levels of Political Participation.
(b) Explain the influencing factors of Political Development.
(AUE ®UI)
d9% : o a™ THOT 0T : 80
o :— (i) §d WA diefau eRds R
(i) 3SEhSl® 37k YU IO SFifodm.
({ii) USHMEIS He3 TUSH U4l TRl
1. COOTHR HUGE &M WEd ded (W 50 IRM) [10]
(@) WHREE TshE fagouomr=n  q=wQl.
(b) TIRAd WIS HH ?
(¢c) TSR T&pda wWEY.
(d) TSfRa YA YR
2, WOOUR FUOE WR WA gedl (YA 100 IIRE) [20]
(@) SIfRa Faed=t .
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(b)
(c)
(d)
(e)
()

(a)
(b)
(c)
(d)
(e)

(@)
()

[3901]-231

TSIhd |ETSThLOMY &Y.

USIfhd WA Hgc.
ERREIMEICIF S

TSiford dgorEl Sl

A UgHde 3.

WOGUsh! H0del i WA 9edl (YR 250 ITsed)

i TSI feromom=i dfite T .

TSfhd YT YR .

TSR ST WA=l ==

TSRy G&FdeR Y9E UIEUR 92k T2 .

USIfhd  GTHISTRIOM=T |99 T .

TA@Uh! DUAE  Weh WA Wiear (500 ITR)

TSI FEHIT=AT Uidedl T .

USIfhd fohTEeR g™ 9IeUR Sdeh %8 ohil.

[30]

[20]



Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-232
S.Y. B.A. EXAMINATION, 2011
HISTORY
General Paper II
(Modern India, 1885-1992)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(1) Explain the concept of ‘Nationalism’.
(2) What is meant by ‘Communalism’ ?
(3) Explain the concept of ‘Parliamentary Polity’.

(4) What is meant by ‘Economic Liberalisation’ ?

2. Write short notes in 100 words each (any four) : [20]
(1) Working Procedure of Moderates.
(2) The Mountbatten Plan.
(3)  Emancipation of Portuguese Colonies.
(4) The importance of Panchsheel.
(5) Worker’s organisations in India.
(6) Use of Internet.

P.T.O.



3. Answer the following questions in 250 words each (any three) : [30]

(1)  Which economical factors are responsible for the rise of Indian
Nationalism ?

(2) Explain the contribution of Hindustan Socialist Republican
Association in Revolutionary Movement.

(3) Explain the importance of Indian National Army in National
Movement.

(4) Assess the relation between India and Pakistan.

(6) Give an account of the Feminist Movement in India.

4, Answer any one of the following questions in 500 words : [20]

(1) Discuss the circumstances responsible for the outbreak of Quit
India Movement.

(2) Review of the Five Years Plan in India and explain its success

and failure.

(WS ®aial)
q% : o\ A Tepot o1 ¢ 80

M :— (j) T WA SAeRIR  3TRA
(i) ISEhel® 3T Ui O SFifadr.
({ii) USHMEIES He3 TUSH UIAdlehl TRl

1. @G YA YRt 50 IS S TRl (Fvdel @) e [10]

(1) ‘UgaR’ & gheddl e A
[3901]-232 2



(2) ‘SHeR’ WIS & ?

(8) ‘TEE TUSdl’ B Hehoddl TS

(4) ‘onfdw RO WIS wE ?

T 100 I gfew fewr fowr (e wWm) [20]

(1) W=t SRl

(2) HEedA IS

(3) ISl SHmEdE  HeRdl.
(4) UwEfied wE@.

(5) YRAAS SHTETR Tl

(6) TIHSH SUAML

GG YA k! 250 I S @Rl (HUdE di ) o [30]

(1) YR USCERM=AT I[/AM R0 Ak Tk hRuiiyd & ?

(2) fegwm Wrffowe U@t SHIAGHY FAAR Jdddio AREH

e h.

~ fa a N

(3) omEe fie ¥9 TN w@adidie Hed e &

(4) 9Rd 9 UhedM AMAMe Gau™ qoduds .

(5) HRANMIe SidaRt dodo=l el =4I

ToeUs! RO Tk T SR 500 IE fowr [20]
(1) =ouE JTRIGIH SRUTYd Noeal IRIREed=t == &

(2) YRAMIG Yddltier ASHET HEET 2 9 A WIYEET TS HA.

[3901]-232 3



Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-233
S.Y. B.A. EXAMINATION, 2011
HISTORY
Special Paper I
(Introduction to History)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(1) What is ‘History’ ?
(i) “All history is contemporary history.” Explain the nature of
History with this statement.
(ii1) Explain V.K. Rajwade’s concept of History.

(iv) State the meaning of ‘Historical Materialism’.

2. Write short notes in 100 words each (any four) : [20]
(i) Uses of History.
(i1) Differences between Original and Secondary sources.
(izi) Positive criticism.
(iv) Nature of Subaltern studies.
(v) Salient features of Rankeian Historiography.
(vi) Demerits of Imperialist School of Historiography.
P.T.O.



3. Answer the following questions in 250 words each (any three) : [30]

(i)  State the historical significance of Documents Preserved in Bombay
archives.

(i1) What is ‘Negative criticism’ ? Which problems arise in it ?

(iizr) Explain the co-relations between History and Sociology.

(iv) Examine the philosophical foundation of Ranjit Guha’s subaltern
studies.

(v) What is the contribution of Arnold Toyanbee to the Cultural
History of the world ?

4, Answer the following questions in 500 words (any one) : [20]
(2) What is ‘External Criticism’ ? How does it ascertain ?

(ii) Evaluate R.C. Mujumdar’s contribution to the History of India.

(WS ®aia)
d9% : o a™ TeRuT ot @ 80

e :— () T WA SAeRIR 3R
(i) SSEhele 3 TEAH YO O SFfer.

1. TOe YR SW YR 50 I o’ (Rudd @) [10]
(1) sfdeM WIS & ?
(i) “gd sfaem & HeeH sfaed otEal” o faumren omR sfaerdr

ey W H.

(Gii) Taw. Usare I=n sfoedfasEes Gohogal T .

o \Wa

(lv) TUfderifae  Jifderaremr st @

[3901]-233 2



2. SRR 100 IS Gfera fewr fomr (e 9w [20]

(1) Sidemm= SYART

(i) oo 9 THH WHAIG .

(iii) ThHs (agd) foer

(jv) dfadaren sfaemmE @Ey.

(v) TH=n fTRESEART Ik AT

(vi) TSI SfAeGEd  JdRIdis Sl

3. WOl WA SW Y 250 I foRl (RIUder diF) [30]

(i) Tog AVSENNGe HFET Udelfas Hed @i

(i) ‘THERHE fewl’ WUN R ? A hIUA STEHUt Adrd 2

(i) Sfaer™ oMo THSRITE Ao WERHEY TI5 .

(jv) YuIfSd 7RI Ir= Haleed fawaes sfagmren difes Seshi qde .

(v) STHice AF=T T WEHAE IqeEd HE AMCH TS 2

4, THG WAE W 500 = fowl (RUEE Teh) [20]
() ‘AT Tdgu’ WU w72 4 w9 9= %o W4 7

o N

(i) SR H. AIACR=Al 9RdE SfeMoeHdie ®MARE  JeaEd .

[3901]-233 3



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2
[3901]-234
S.Y. B.A. EXAMINATION, 2011
HISTORY
Special Paper II
[Ancient India (3000 B.C. to 1200 A.D.)]

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]
(1)  What is ‘Archaeology’ ?
(2) Explain the concept of ‘Purushartha’.
(3) What is ‘Vihar ?

(4) Who were called as the ‘Alwar’ and ‘Nayanars’ ?

2. Write short notes in 100 words each (any four) : [20]
(1) Epigraphical sources for the study of Ancient Indian History
(2) Town Planning of Harappan Period
(3) Four Aryasatyas
(4) Social life during the Maurya Period
(5) Sangam Literature

(6) Art of the Rashtrakutas.

P.T.O.



3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the social life during the Post-Vedic Period.

(2) Explain the Jainism Philosophy.

(3) Write the causes of decline of Maurya empire.

(4) State the information about economic life of the Satavahanas
Period.

(5) Evaluate the achievements of Chalukyas in the history of
South India.

4, Answer any one of the following questions in 500 words : [20]
(1) Explain the social and economic life during the Harappan
Civilization.

(2) Give an account of the Administration of Guptas.

(WS ®aial)
q% : o\ A Tepot o1 ¢ 80

e :— () Td WH Grefu SeRds SR
(i) IoEhel® 3T Ui IO SFifadm.

1. Woe 9N TRl 50 I SW foel (Rivkel @F) [10]

(1) ‘qUadfden’ ®US &®E o ?

(2) ‘gEwd’ & Hdhewd R &

(8) ‘faer’ wWus ®F ?
(4) ‘Sear’ o ‘TR’ HomE WU ?

[3901]-234 2
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2. T 100 I g fowr few (wmE wmw) e [20]
(1) 9= 9RdE sfaemar=n st sifvycea wrem.
(2) TUHRSH TR
(3) =R HEEA.
(4) UEREH TN e
(5) WM HifecH.
(6) USLHIHIGH HAl.
3. Wole WAl Y 250 IR SWofodl (RO dd) [30]
(1) TW-IfCHF Feordie AmiE SHad T F0.
(2) A yHE TOEE TR H
(3) U Umsgen |l wRe o
(4) TART FBMG SYe et Hifedl 9.
(5) <fgu yRaren sfaemnie A=A MR Jeadad &
4, TOOUHR ORI Tk TAE SW® 500 I fow [20]
(1) T GGhdeiod gmfse oo offdfe e Tose &
(2) T WET Ol STedl =

3 P.T.O.



Time : Three Hours

N.B. :—

[3901]-234

[History of U.S.A. (1914 to 2001 A.D.)]

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Maximum Marks

: 80

1. Answer the following questions in 50 words each (any two) : [10]

(D)
(2)
3)
(4)

State political significance of Paris Peace Conference, 1919.

Explain the causes of the Great Depression of 1929.

Explain ‘Truman Doctrine’.

What is ‘Black Movement’ ?

2. Write short notes in 100 words each (any four) :

(D)
(2)
3)
(4)
(5)
(6)

Dr. Martin Luther King.
Marshall Plan.

Movement for women’s rights.
U.S.A. and Korea relations.
Open Trade Policy.

Terrorism and its consequences.

[20]

3. Answer the following questions in 250 words each (any three) : [30]

(1)

[3901]-234

Explain the role played by America in Second World War.

4



(2) Describe in detail about the “Civil Rights Movement”.
(3) Explain the ‘Containment Policy’ of America.
(4) Discuss the role of U.S.A. in Cold War.

(5) State the relations between U.S.A. and West Asia.

4, Answer any one of the following questions in 500 words : [20]
(1) Examine the Programme of New Deal of F.D. Roosevelt.

(2) Assess the causes of the rise of America as a world power.

(WS ®aial)
d9% : o A TeRuT ot @ 80

e :— (1) Td W el SeRds SR
(i) IoEhel® 3T Ui IO SFifadr.

1. Toe BRI TR 50 IS SW foel (Rivkel @F) [10]
(1) 1919 wdie URE  IMdar 9foe™ UShid Hec foRle .

(2) 1929 =T HeMed wRU foRTE

(3) T fagd T &

(4) ‘FOEUE doeus’ WIS w1 ?

2, T 100 I=Sd dedd few few (e Ww) [20]
(1) =i =T g fam.
(2) HRIG IS

[3901]-234 5 P.T.O.



(3) ToIm=Nn THRRNET Todw.

(4) TARGRI-HIT e
(5) TS ATUR HRUL.
(6) <E&EI@are AU = gioms.

3. Wole WARl Y& 250 I SW ol (Rivkel dF) [30]

o o

(1) a1 "WeggHe SHhsl YHeh T H.

(2) TRl BFh <eddia fawga auia &

(al

(3) H{ea ‘grgar FUEA' gRu TR S

°

(4) FAggrdie oTHR=a ik« ==l .

(5) AR o ufi=m oRmn I=die ddy TR .

4, THGUH DR Tk WAY SW 500 IE@ fowr [20]
(1) TH . TEeceall ‘< Sio’ wEmHE TR &

(2) S TRE WUH AR IZATE HROHEE R

[3901]-234 6



Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-235
S.Y. B.A. EXAMINATION, 2011
ANTHROPOLOGY
(G-2 : Indian Tribes and Tribal Welfare)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]
(1) Write the cultural classification of Indian Tribes.
(2) State the meaning of Deforestation.
(3) What is Report writing ?

(4) Write any two functions of youth dormitories.

2. Write short notes on any four of the following in 100 words
each : [20]
(1) Structure of youth dormitories
(2)  Ghotul
(3)  Religious life of Warlis
(4)  Acculturation
(5)  School dropout
(6) Integrated Tribal Development Programme.
P.T.O.



3. Answer any three of the following in 250 words each : [30]
(1) Describe the preparation for fieldwork.
(2) Describe the social problems of Gonds and Warli tribes.
(3) Explain the importance of Magic among the tribes.
(4) Discuss the health problems among the tribes.
(5) Evaluate the policy of protective discrimination for Scheduled

Tribes.

4, Answer any one of the following in 500 words : [20]
(1) Distinguish between Caste and Tribe.

(2) Explain the various approaches for Tribal development.

(WS ®aial)
q% : o\ A Tepot o1 ¢ 80

oM :— (j) T WA SAeRIR  3TRA.
(i) SSEhele 3 TEAH YU O SFfer.

fal

1. GOIGUh! HIUERE B WAl SR ! 50 Ieeigdd fowr [10]

o

(1) 9RdE erfeardie |%Fh

o R E ey B ToTA B

ap

(2) Sodie gu=ET 31 |

(3) oRI® TEd WIS &E ?

(4) goTEMED wudE qW wE fom

[3901]-235 2



2. WOGUR! HIUAR SN Ykl 100 ITeqdd oresd fewr fogr @0 [20]

(1) JAFEET &

(2) e

(3) dANS= e e
(4) THGEHAHIL

(5)  3TeToiteh  Teadl
(6) TehIfcHer 3Tfqard fawm wRiHH.

N A

3, WOoUh! hIUERI  dF GIAEr SO TRt 250 ITsSigdd foRr e [30]

(1) &=l gaaart foRg .

(2) T 9 IS HNE WHESR Y3 |
(3) ofcardmHie e Heel T .

(4) oTfcaEHHie JRFAfaoTs IHS=T =@ H.

(5) STIYE SHMER AHOCA TIEIUNHE J&Tad HROTS  HodHad .

4, TAGUHI AR TR WEAE SW 500 I=MAd fowr [20]

(1) S| 9 SEd e 9 fore S
(2) offcarsl fommma fafay gfeem = &

[3901]-235 3



Total No. of Questions—4+4]

Time :

N.B. :

S.Y. BA. EXAMINATION, 2011
GEOGRAPHY
General Paper II
Gg-210 : Geography of Human Resources
(2008 PATTERN)

Three Hours Maximum Marks

(i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

Answer in about 20 words each (any ten) :

@)
(i1)
(ii1)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)
(x)
(x2)
(xii)

(xiil)

Define Human Geography.

What is Determinism ?

Write any {wo names of early civilizations.
What is Nasal Index ?

State the food of Eskimoes.

State the region of Pygmy tribe.

What is Moung ?

State the name founder of Islam religion.

Write any two religious effect on social life of man.

Define Migration.

What is Seasonal Migration ?

State the hypothesis of Malthusian Theory.
Write any two importance of Malthusian Theory.

[Total No. of Printed Pages—8

[3901]-

236

: 80

[20]

P.T.O.



2. Answer in 50 words each (any two) : [10]
(i) Importance of Human Geography.
(i1) Branches of Human Geography.
(itzi) Religion and national integration.

(iv) World’s principal Language families.

3. Answer in 150 words each (any {wo) : [20]
(i) Describe Human Geography in medieval period.
(ii) Explain the various characteristics of ‘Indus Civilization’.
(ii1) Describe ‘Population as a resources’.

(iv) Explain causes and effects of migration.

4, Answer in 300 words each (any fwo) : [30]
(i) Define race and describe world’s principal human races.
(i1) Give geographical account on ‘Gond’ tribe.
(iizt) Give geographical account on ‘Bushmen’ tribe.

(iv) Describe the factors affecting on the location of rural settlement.

(WS wUTaR)
d9% : W a™ THOT 0T : 80
T :— (i) §d W diefau TeRds R
(i) SRS siw qU M gEifadm.
(iii) TRRNT Ve armuay wErE SR
(iv) SAEFIh dY Feoh AThAl hIal.

1. TR AR 20 T=dd SWfowr (FvkE S@r) [20]

(i) HESl VrEl  SATE.

[3901]-236 2



(i1)
(ii1)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)
(x)
(xi)
(xcit)

(xiil)

(i)
(i)
(i)
(iv)

3. ToE
(i)
(i)
(ii1)
(iv)

[3901]-236

e =S ™ ?

IO BM UM G&Rdretr Ta fomn
s OS2

‘Tt ST Yo §i.

LN

oS BN %™ ?

SEOMH  UHAT WEAYehT A1 |

eI EHSIeh SoFeie hivldel ai oifHss 9oy o

TSIl SRS 9L

T WeR WS &I ?

AeoT=  fagmart Tfeas |

Oead=l fagae #vdel M Hee |

50 I SW TRl (SvEl M)

Al i HE.

R iE 1Y | M e

¥d 9 TSI ThHdl.

SIS THE WO,

150 I SW @@l (HUE aF)

TR H@die AHEdl e JuF .

‘g’ wpd aRTed W &

‘TR TEH Gl TR H.

BE] SN0 9 YRomMm T HA
3

[10]

[20]

P.T.O.



"

4, T 300 I SN IR (FU@E de) [30]

(i) RN AT 9r[d SAdie YH@ AEd 9Rid S9uH W

(i) e SHeR  Arioie gwid .
(iii) TFHEA SERER AFeR gad @

(jv) T SEA= TIFER. GRUMH 0= Seshi< oUid k.

[3901]-236 4
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Gg-210 : Geography and Natural Hazards

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ii1) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.
1. Answer in about 20 words each (any ten) : [20]

(1) What is ecosystem ?

(iz) What is Hazards ?

(i) What is Risk Analysis ?

(iv) Write any two types of man-made hazards.
(v) Write any {wo earthquake zones in India.
(vi) Write any {wo precautions of cyclone hazards.
(vii) Give two causes of cyclone.

(viii) What is flood ?

(ix) Write two effects of Tsunami.

(x) Give two effects of land-slide.

(x1) Write any f{wo effects of earthquakes.

(xtt) Write the names of any two countries affected by Tsunami.

(x2ii) Define ‘Population Explosion’.

Answer in 50 words each (any two) : [10]
(i)  Approaches to the study of Environmental Geography.

[3901]-236 5 P.T.O.



(i) Rehabilitation.
(iit) Causes of earthquakes.

(zv) Soil conservation.

3. Answer in 150 words each (any {wo) : [20]
(i) Explain the importance of Environmental Geography.
(ii) Describe the types of hazards.
(i1zi) Write causes and effects of flood hazards.

(iv) Explain the effects of ‘Population Explosion’.

4, Answer in 300 words each (any fwo) : [30]
(i) What is Environmental Geography ? Explain the nature and
scope of Environmental Geography.
(i1) Describe the pre and post Hazard Management.
(izi) Explain the causes, effects and management of drought.

(zv) Write in detail causes and effects of desertification.

(W& T UIW)

d9% : o a™ THUT 0T ;80
o :— (i) §d YA diefau TeRds R
(i) Soeele 3w ol U eFifaa.

(1ii) RN VLf9cd aRuIE GEET 3.

(iv) 3TeRIw dY gosh 3ThcAl hlal.

(v) HUMEIS Yoo TUSH YIAUTAHRT TRTEl.
[3901]-236 6



1. U@ gAR 20 IOdd SWofoRl (RIUREl €@r) e [20]
(i) UREEn wUS HE ?
(i) oMUl WS % ?
({ii) e YUahiUl UN ®E 7
(Gv) uFa fwffd U= ®UEE @M YR fomn
(v) YRAEE FOME G Ywd gau faum fen
(vi) oTedl JeT= FUARN &M caal fosl.
(vii) STEdEl (THEGes) QM HRU L
(viii) ‘R’ WIS ®wE ?
(ix) TEHE g aRom e
(x) Y-oRU g 9RO .
(xi) 9RO FUGE g gRome T
(xii) AT gferd RO @ Qe A femn

(xiii) DHEEA fIoRE=T =aer =

2. e 50 I SW few (Rvhd @d) [10]
(i) THHERU e AE-gRIh.
(i)  qIeE.

(iii) hUTEl HNIOL

(jv) Fa FYROL.

"

3. T 150 I S fowl (FUkd @|) [20]

(i) TIERU o™ Hed T R
(ii) oIl YhI< U k.

[3901]-236 7 P.T.O.




(fii)) T A=l wRU F qRemH fom

o N

Gv) oraed forre™ oo s &4

4, YR 300 I OSW TR (HUdE de) [30]

(i) e e WIS A ? THERU o™ WEY 9 AWl TR
.

(i) STUdIge o STUHIgTR  STUxl HSEATAN U .

(iii) SRl IO, TROUMH A0 eEMO T 6.

(jv) dTBAHLME FRO o TR Ffasw Tl
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

[3901]-237
S.Y. BA. EXAMINATION, 2011
GEOGRAPHY

Gg-220 : India — A Geographical Analysis (S-1)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]
(i)  Give the latitudinal and longitudinal extent of India.
(i1) Write the name of highest peak in India.
(iizi) What is ‘Khadar’ ?
(iv) Write the names of two tributaries of Krishna River.
(v) Write any fwo characteristics of Monsoon.
(vi) Give the names of trees in the Himalayan forest.
(vit) Write two names of Natural Gas Producting Centers in ‘India’.
(viiz) State the types of Iron-ore.
(ix) What is Green Revolution ?
(x)  Write locational factors of Iron-Steel industries.
(xt) What is Urbanization ?
(xii) What is Balance of Trade ?
(xtii) Write any two names of National Highways in India.

P.T.O.



2. Answer in 50 words each (any two) : [10]
(i) Ganga River System.
(1) Importance of forest in Indian Economy.
(iit) Hydro-power in India.

(iv) Importance of railways in regional development of India.

3. Answer in 150 words each (any {wo) : [20]
(i) Explain the Peninsular plateau of India.
(i1) Describe the soil degradation in India.
(iiz) Explain the problems of population growth in India.

(iv) Explain the importance of ports in Indian Economy.

4, Answer in 300 words each (any {wo) : [30]
(i) Explain in detail west flowing rivers in India.
(ii) Explain the causes and effects of deforestation in India.
(iizt) Describe the growth and distribution of population in India.
(iv) Explain the types of transportation. Give an account of water

and airways in India.

(WS wUTaR)
d9% : o a™ THOT 0T : 80
T :— (i) §d WA diefau eRds R
(i) SRS siw Yo M gEifadm.
({ii) THRNT Ve armuay W& SR
(iv) SAEFIh dY Geoh AThAl hlal.

1. TR AR 20 TI=dd S fowr (FvkE S@r) [20]

(i) ARAEAT gwE 9 (@reaE faer =@

[3901]-237 2




(i1)
(i11)
(iv)
(v)
(vi)
(vit)
(viii)
(ix)
(x)
(xi)
(xcit)

(xiil)

2. TRl
(@)
(i1)
(iii)
(iv)

3. TRl
(@)
(i1)
(iii)
(iv)

[3901]-237

IRadie Taiftas 39 Rrexs A o
G C RS I

FOT TGN M SUediEl A T
T BORR g aRme fomn
feareie  SRUATdle gefi=i = =

WRAe "Hfifh oY ICEH ™ & e o

Fe-WHSTa YR G,

gdshidl =Sl & ?

JB-UIoe  IANMAT TR IhL0MeR. URUMH {0 5k

AR WS & ?

MR Fded B/OSl & ?

IRAAS ORI &M T geMrn=n =9 o

50 I SW TRl (Svdel QM)
T A YOS

TR  TdTdle  SNUI<  Had.

S GG RS S

Al Uit fas™die Icdd Hed.

150 I SW @@ (HIUE aF)

YRAT fgUeshedid U8R T .
IRAT G JerFerdrd duid .

TRATG OhTedl dieral 9a& W &

TR TfTdles deid Heed T .

3

foer.

[10]

[20]

P.T.O.



4, YR 300 I SW TR (HUdE de) [30]
(1) YdMe UR=ddliedt Aeal ol e .

(ii) Yo el ol o gfong TS R

(iii) VRAIG JREEA 96 o fdaeuma 9uiH .

(jv) TEIgH THR TR H&d, ARAMSG SG o9 Ta§ A=l gdd @

[3901]-237 4
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Gg-220 : China — A Geographical Analysis (S-1)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]
(i) State any two tributaries of Yangtze River.
(it) State any two tributaries of Sungari River.
(ii1) State any fwo characteristics of Monsoon Climate in China.
(iv) Write two major climatic regions of China.
(v) Write any two regions of red soil in China.
(vi) Give any two types of forest in China.
(vii) State the types of coal.
(viii) Give any two importance of agriculture in China’s Economy.
(ix) State any two coal producing regions of China.
(x) State any fwo major crops in China.
(x1) Write any {wo importance of communication technique on
China’s Economy.
(xiz) Write any tfwo benefits of pipelines transportation.
(xiii) What is trade balance ?

[3901]-237
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2. Answer in 50 words each (any two) : [10]

(i) Importance of river in national development.
(it) Mechanism of monsoon in China.
(izi) White Revolution.
(iv) Blue Revolution.
3. Answer in 150 words each (any {wo) : [20]
(i) Describe major soil types and their distribution in China.
(1) What is deforestation ? State the causes and effects of
deforestation.
(itzi) Describe the distribution of Bauxite in China.
(iv) Explain the role of road transport in national development
of China.
4, Answer in 300 words each (any {wo) : [30]
(i)  State the neighbouring countries of China and explain relationship
with them.
(ii) Explain mountainous region in the West China.
(iizt) Describe iron and steel industry in China.
(iv) Discuss growth and distribution of population in China.
(TS TUIR)
d9% : dF a™ THOT 0T : 80

o :— (i) §d WA diefau eRds R
(i) IoEhel® 3T U IO SFifadm.

[3901]-237
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(i) RN VLiHe oI qiEETl 3.

(iv) 3TeRIw dY gosh 3Tl hlal.

(v) TS Yoz TUSH WU TRrEl.

1. YR AR 20 TI=dd SWofow (FvkE <@r) [20]

fa

() I e HIUIEl S Suedl |

(i) G = DR EH ST |ETL

(i) <N Odte OEH gEHERET SUkEl |9 dfRTsew |
(jv) F 9 TA TEA™ TIEE UIT el

(v) =FF Ul diPST T ShUKE dF Yozl foer
(vi) = THfe FOGE  E SIS YRR HAL

(vii) ETA YHR HE

(viii) SN gl MY RUGE | Hed  dl
(ix) 9 Udo SUCE A il SAgh YT T
(x) = wdie ®OGE S THE dieh 9.

(xi) == AJTIEdG TooUEeetl el HIUEl  dF Hed ol
(xii) To5 TRIGhIA DU &M WG fom.

(xiii) ‘SR Gded’ WIS &E ?

2. T 50 I SW few (FUE @) [10]

() =@ foemde &M A8,

(i) AHE HRE gika
(iii) F9d ShIdl.
(lv) T .
[3901]-237 7 P.T.O.



"

3. T 150 I S fowl (RUkd @|) [20]

(i) = "o U@ TSl YHR oAU e fomome auie &

S G a ot 0 [a

(i) T wue g ? el RO o OROmH |

(1ii) <9 Ao daEse fodme 9uia .

(jv) “iT= UK fawEie W Rl YfHeT TR R

4, YR 300 I SW TR (HUdE de) [30]

(i) < IVRG oI G e dieRd oY W W
(i) UR=W =F Ao qddE geI R &

(1ii) <9 AT IR-Uoe SENTE duHa .

(jv) <=1 DREEd o A fadqror T=i ==t .
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Total No. of Questions—7+7+5] [Total No. of Printed Pages—4+1

[3901]-238
S.Y. B.A. EXAMINATION, 2011
MUSIC (General) (G-2)
(2008 PATTERN)
9% : 1 @™ 30 fufe THUT TOT : 20
fa9Ie oMt :— A1 SEniie WG ToH, 9aR, T90 il hivdel Tk

qrea.
AT T
I :— () Ul WA A SR
(i) e WA wUEw Uk oIfud dRA WA FURE A o
T AR WA e

1. Towd fear foum Ot SR Ter e 9eed derl Siodds

H. [5]
2. fogm fepam et AR AUHT HITTE TehT T IS Aifed STRIE- T,
qhe I9e fogl [5]

3. AR fohar U=t AT HIVAR ekt qorl Aifedl fogd dooed 4. (5]

4, TOHGUR DUEE UE e fowr [5]
(1) @
(2) die
(3) e
(4) &R
(5) TH&
(6) dmH
(7) W
(8) faard.

P.T.O.



5. dieqd du fogl (@@ @F) [5]
(1) ©I@ TMIhT
(2) Yug TER!

(3) M 9 E UHKR

(4) A THEHEE He

(5) W8 o W FhKR

6. TOGUD! DRI WeRl Hiaw™ @ifTas & foRE wT 5]
(1) 3 oIcoredl @
(2) 4. SIHRATY IEHT

(3) 3. 3IRUSSH fathan

7. TO@UR! RUERI Wl fowEmeR fawme fer [5]

n A\ W

(1) HI ATsow HhS

(2) GG =TT

(3) OJRETaE WG &eldie Hew

[3901]-238 2
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9% : 1 dm 30 fufe THUT TOT : 20
o :— (i) dUegel Y3 e S
(i) e WA wUEw Uk oIfus IdRA WA FURE A o

T AR WA e

1. fom ferar el iRl SR WeRt WM 0T dfes @Riedds il
[5]

2. ofuod feRar ToRY AUHRT RIAR TehT WIET I Aifed! STRIE-3TeRE,

g I9e  fom. [5]

3. TwWo fRar THde AYR FHIUER TH q@E Hied fogd THTe 9 gEE

fosat. [5]
4. oA fo@ (TR U)o [5]

(1) THh

(2) fopa =R

(3) HeEl X

(4) =

(5) gme

(6) AT

(7) W&

(8) wHIC

[3901]-238 3 P.T.O.



5. du fem (TEm dF) [5]
(1) ek S dgdl

(2) W8 9 WM FhR

(3) TEME THR
(4) SRR
6. TTA FAEHAMG DR Ul HARR Gififas & forR &
[5]
7. GOOTR FUER Tkl fomEer fowme fem [5]

(1) 9oy T 9 ©AG I

(2) SIHTT.

[3901]-238 4
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K E )
9% : 1 @™ 30 fufe THUT TOT : 20
M —UqH WA AMEE 6, TR 9R WId 9ree

1. A JIUYUFHAHS @R Tehl o€l Grul Aifed! fogd de @ed .

[5]
2. HUER TRl Aol hel GHIEA-UHTEd  defedies . [5]
3. 3w W (W eH) [5]
(1) 33
(2) A
(3) dI@ St
(4) dYa&Aa
4, qUA ESA qIOERHE Hiffde wE fage & [5]
5. HUERI Wehl foeEeR foerA foer [5]

(1) U UgER drefed

(2) dqE@ gEmEr sfaer™.

[3901]-238 5



Total No. of Questions—7+6+5] [Total No. of Printed Pages—4

[3901]-239
S.Y. B.A. EXAMINATION, 2011
MUSIC (S-1)
(2008 PATTERN)
9% : 1 @™ 30 fufe THUT TOT : 20
fa9I o :— o1 Fewiie WA TEE, HaR), da@ il el Uk

Hrea.
o — (i) Ul WA et e
(i) e WA wUEm Uk oIfud Al WA FUGE A o
WP AR WA gredl.

AT
1. o IIERANG FHOER Tl T foofaa dfEreae we wRiodes
. [5]

2. Y@ fwar g TR FOER TE TR IS Afed ARG, ST,
qhe A He foml [5]

3. foofoq dae fawar faofad Twae ol FU@RE Ul d@E Aifed

fogd o oeF . [5]
4. oA fo@ (U U)o [5]

(1) qefreret T

(2) IACEED T

(3) IS T

(4) <HAS WX

(5) UT T

6) 3 R

(7) =E TR

(8) &=

(9) T [5]

P.T.O.



5. du fem (TEm dF) [5]

(1) THH-ATh-arTRIhT

(2) o
(3) gfd-w=r fawrsH.

6. WOOUH! HUER Wehl Widard sihad-wE fowr . [5]
(1) 9. e

(2) U G IOHUEAl SAGHISIRT
(3) U TSFAIET S
7. Wooum U fawemeR fowmm feer . 5]
(1) H3HE
(2) wta-TeqEt  foe

(3) I<|=ENE HEw.
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AR
9% : 1 @\ 30 fufe THUT TOT : 20
oAl —ufeel WA SAed oe. THU  WR WA §redn

1. I AIEGHHACGIS hIEl Tk W= foofad afezyadiqeEr T ERiedes
. [5]

2. R fowar dMue™ ANt Ut e mifedt SRR, STeRiE, Uwe foml

[5]
3. UHA® 9 WG A TE dorE qod . [5]
4, @ W (W EHA) [5]
(1) gdi-w=r favrsH
(2) TESS-UEH HE
(3) UR-3F-E TR
(4) wfYgewRRET T
5. A JEEAl dheddd  Stees el [5]

6. UooUh Uenl fowameR fawmm fom
(1) ¥R oEAe SR
(2) HBTER HAX deAd d TEAd BUR  O8.

[3901]-239 3
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qagqN
9% : 1 @\ 30 fufe THUT TOT : 20
ol —qgq T ANEOE AR TR 9R WId 9ree.

1. fiooe fear dFde Al SR T dom= Aifedl, Thae, gue fol

[5]
2. ddoMsl Ueh @ 9 UWek ool foal [5]
3. < o= o [5]
(1) &
(2) e
(3) o A
(4) ST
4, FUER T qEOERHT FERGTau  dewd o [5]
5. WO@URl DRI UeRl fosareR fawmm feer [5]

(1) d 9[@Ee 9 9. gl doiod
(2) Ry THATE.

[3901]-239 4



Total No. of Questions—7+6+5] [Total No. of Printed Pages—4

[3901]-240

S.Y. B.A. EXAMINATION, 2011
MUSIC (Special) (S-2)
(2008 PATTERN)
faoie gorr :— A1 Fenie WA MEE, HaR, G9@ il il Ueh GETarsen
Hrea.

TG T
9% : 1 @™ 30 fufe THUT TOT : 20
o — (i) Ul WA et e
(ii) oAFEE WA wAR 1 Sifue IR WA HIUE AT ™ TR
U WA Ered

o A

1. o IIEHRANG FHOEE Tl T foofaa dfEreae we wriodes
. [5]

2.  FHAM ATl ST AUS! FIR Wehl WIE MG Aifed! 3TRIE, 3T6RIg

Jehe I Tl [5]

3. TNl AT UR AN FOAR TR drorEl Hifed! fogd deced &
[5]
4. T fem (wpm dF) [5]
(1) T St
(2) gud

(38) TEHE fagE
(4) THSEA Tgdi=l WAL

5. dieRd fow (THU dF) 5]
(1) URAMEH
(2) GAS HTe
(3) =a
(4) 9= 9 9RE R

P.T.O.



<

6. TU=N IESA HOHRME Hiiae e ol [5]

7. fowmrA fogl (0@ Tw) [5]
(1) wha feome @Ed w9 sEE ?
(2) wMa 9 faga gorR wrem
(3) YUE-¥HR TE&ET Siae™.

[3901]-240 2
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AR
9% : 1 @\ 30 fufe THUT TOT : 20
el — WA AR AR U WR Wd diedl

1. A AIHHANG AR Terl W= foofad sfEgy/adaer T @ERfodes
. [5]

2. TgHhd feRar MY A FOE et IR mifed, SRR, AR, UhS
I T (5]

3. ofel dae  feRer fouedl aWe  wewr derl Wifed!, THue o gwe fom.

[5]

4, Fq W (W EH) [5]

(1) TSR 9dR e

(2) URIHIMAEES FAET 9T

(3) ToEA ggdEl Al

(4) BY-SS-ITe.
5. qUSN Ol HaRARHMN aRd dfited el [5]
6. WO Uehr fooaer fawmrm foar 5]

(1) a9 faga garRew

(2) Ushe AR deA

[3901]-240 3 P.T.O.



[3901]-240
qagqN
9% : 1 @\ 30 fufe THUT TOT : 20
oAl —qqq WA AMER. TRU ¥R WA Hedn

1. U@ A9AT dO0 AUl SR Uehl ol Hifed!, THYe o gue fol

[5]
2. fadiemn tw foma Sd=n wEe 9 feEge @M doe fomn 5]
3. 3w W (W eH) : [5]
(1) I
(2) q
(3) &
(4) TR
4, AGEled dIoEEH™  Sadeis fosl [5]
5. Woouh Wenl fooaer famrm foar 5]

(1) &EE A dr.d JhRET TEed  fomEm.

oC N

(2) deEHde f9ga 9 deEH

[3901]-240 4



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-
S.Y. B.A. EXAMINATION, 2011
PUBLIC ADMINISTRATION
General Paper II
(Theory of Public Administration)

(2008 PATTERN)
Time : Three Hours Maximum Marks

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :

(i) Explain the significance of Public Administration.
(ii) Mention the qualities of Leadership.
(iit) State the limitations of traditional approaches.

(iv) Write the objectives of Training.

2. Write notes in 100 words each (any four) :
(1)  Judicial control over Public Administration.
(i1) Benefits of Promotion.
(ii1) Principle of Co-ordination.
(iv) Private Administration.
(v) Types of Chief Executives.
(vi) Lok Nyayalaya.

241

: 80

[10]

[20]

P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(i) Explain the functions of Staff Agency.
(i1) Describe the methods of Recruitment.
(iizr) State the types of Budget.
(iv) State the features of Civil Services.

(v) Explain the bases of Organisation.

4, Answer any one of the following questions in 500 words : [20]
(i)  Discuss the Budgetary Process in India.
(ii) Explain the structural-functional approaches to the study of

Public Administration.

(WS ®aia)
q% : o\ A Tepot o1 ¢ 80

1. @G YAl YRl 50 IS SW TRl (Fivdel @) [10]

(1) Ok WIEAE HET W HA.

(i) AT O TS AL

(iii) URUIRe D% WIEA=a HAlel 9r.

(iv) gRETEUE ¥ fe.

faY

2., T 100 I feuwr foml (Sidd Wm) [20]

() F% WEEEdS =taes s

[3901]-241 2



(ii) Wed™ HRR.

(1ii) HH<EE .

(fv) W Y3TEH.
(v) YHE HETIHRFIE DR

(vi) T =FTS.

3. GG GTArEl Ukt 200 9 250 IS S TRl (HIUdEl di)

(i) W% TI<HE HH T HA.

(i1) A=A Ugdl 99 &L

(iii) AdTRAE ThR AL
Gv) AF Fa=t 9T 9L
(v) HESAY SAURYd TIH TR H

4, EOOUR VMR Tk YT 500 IR Gredl

~

(i) YRAIG SRNYShId Yfhad duid .

(i) ORTMEATA] FAAEE EACHR-FRGR TR T H.

[3901]-241 3
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-242
S.Y. B.A. EXAMINATION, 2011
PUBLIC ADMINISTRATION
Special Paper 1
(Administrative Thinkers)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]
(i) Explain Kautilya’s views on Administrative corruption.
(1) State F.W. Taylor’s concept of scientific management.
(iizt) Describe Woodrow Wilson’s views on Administration.

(iv) Mention Fred Riggs features of prismatic society.

2. Write notes in 100 words each (any four) : [20]
(i) Weber’s views on legitimacy
(i1) Nehru’s views on Decentralization
(izi) Simon’s decision-making model
(iv) Kautilya’s principle of Administration
(v) Nehru’s views on Bureaucracy

(vi) Riggs concept of ‘Sala Model’.

P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(i) Explain Herbert Simon’s views on Traditional Administration.
(ii) State Weber’s views on Authority
(iiz) Describe Riggs’ Ecological Approach.
(iv) Mention Chester Barnard’s powers and functions of the Chief
Executive.

(v) Explain Kautilya’s nature of Rajdharma.

4, Answer any one of the following questions in 500 words : [20]
(i) Explain Nehru’s contribution to the development of Socialism
and Administration.

(ii) Evaluate Chester Barnard’s theory of Authority.

(AOE ®UI)

q% : o\ A THU T : 80
o :— () Wd WA Gefa0 eEds SR
(i) ISEhele 3 qul IO <Fifaar.

1. Toe R Y& 50 I S foel (RI0de dF ) [10]

() Hifca™ WEHE TEERESES dd T 6.

(i) Uk &g X I IMSE AIEAIATE Heheddl .
(i) IS TacuTd WIEAEast "7 A 6

(Gv) e oo wuuifide wHmm=l T

[3901]-242 2



2. R
(i)
(i)
(i)
(iv)
(v)
(vi)

10 =@ fewr fomr (@OeE =w) [20]
sfyraae e JatEt w1

faadtaomgadt dfed Teew foum

A o gfsean gred

FIfer= TEMERE o

BIESEIHEEE e M|

fos=l ‘e "Wiesd’ = Hehoddl.

[3901]-242

3. WHe WAEl YRk 200 d 250 I®M IW fo@ (FOE d@|) o [30]
(i) WIE WEAEaH ged TP« 7d W &
(i) SIfUsREes Je= Td G
(i) TOS=n AAERUTcHs g% Ui &
(jv) = AT gafaod gq@ Afusrard AfyeR 9 wH T w0
(v) HifcE™ TAYHD @WEIT TL HA.

4. TOGTH FOEE TR WA IW 50 =M TR [20]
(i) THENER A WIEd foemde Teed ANEH TR H.
({i) =X e Yuita oIfuer=n fagme e e &L



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-243

S.Y. B.A. EXAMINATION, 2011
PUBLIC ADMINISTRATION
Special Paper II
(Institutions and Issues in Indian Administration)
(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 8) words each (any t{wo)
(i) Explain the features of All Indian Services
(i1) State functions of Union Public Service Commission.
(itzi) Describe the structure of Public Accounts Committee.

(iv) Explain the nature of globalization.

2. Write the notes in 100 words each (any four) :
(1) Human Rights Commission
(ii) Types of Budget
(ii1) Functions of Bureaucracy
(iv) Recommendations of National Commission for Woman
(v) Composition of Planning Commission in India.

(vi) Role of voluntary organisation.

: 80

: [10]

[20]

P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(i) Explain the meaning and significance of E-governance.
(it) State the functions of National Development Council.
(ii1) Describe the nature of Reservation policy.
(iv) Explain the budgetary process in India.

(v) State the role of State Public Service Commission.

4, Answer any one of the following questions in 500 words : [20]

(i) Explain the structure and functions of Department of Home

Affairs.

(ii) Explain the role of Lokpal and Lokayukta.

(W& T UIW)

q% : A\ A THU T : 80
o :— () Wd WA Gefd0 eEds oR.
(ii) 3IEiwele 3T U IO SFifoard.

1. Toe R Y& 50 Id S foel (RI0de dF ) [10]

() oifae vrdE o=t dRT™e T &9

(ii) ha¥ Sk Yol RN HH HATL

(iii) Ok SW1 GfFd=n AT Ui .

(jv) SNl WEY T H.

[3901]-243 2



2. TR 100 IS few fom (SomEl Ww)
(i) HEdl TR AN

(i) AdTFA™E YhKR

) ~

(iii) RGEMEET
(lv) U #fger =N RrerEd

(v) YRdde FESE ™=l A

(vi) EIHAT FESAAT e

3. UWOle WAl YR 200 d 250 IS S foRl (e i)
(i) SamerEn et efol Hew TR &
(i) U foerg uftoe=f =™ @
(i) SR YRV &Y U H.

(jv) YRAIG SRNYShIE Ufhal T2 h.

(v) T @b a1 SERT= ofieR @

4, TOOUH IR WA WAA SW 500 e[ o

(i) TREEE A 9 HH W HA

(i) OhUG o SRRl YHR T H.

[3901]-243 3
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-244
S.Y. B.A. EXAMINATION, 2011
PSYCHOLOGY
(G-2 : Social Psychology)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (1) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) What is aggression ?
(2) What is group polarization ?
(3) Explain Asch’s study of conformity

(4) How can we increase helping behaviour ?

2. Answer in 100 words each (any four) : [20]
(1) Explain self-presentation.
(2) What is prejudice ?
(3) Explain the Kelly’s theory of causal attribution.
(4) What is group think ?
(5) Explain That’s-Not-All technique of compliance.

(6) Describe interview as a communication skill.

P.T.O.



3. Answer in 200 to 250 words each (any three) : [30]
(1) What is self-esteem ? Describe sex-differences in self-esteem.
(2) How can aggression be reduced ?
(3)  Describe impact of Schemas on social cognition.
(4) Explain group decision-making process.

(5) Describe unhealthy communication.

4, Answer any one m 500 words : [20]

(1) What is Social Psychology ? Describe the various study methods

used in social psychology.

(2) What is social attraction ? Describe determinants of social

attraction.

(WS wUIaR)
q% : o A TR T : 80

T — (i) WA WA STeRIS 3R
(ii) Iehel® Tk WAW U SFifFar.
(iii) TEUHd! ¥ TUSH WEufehl Uerel.

1. B 50 I=d SN feR (Fuad aF) [10]

(1) dﬂ%H%dllﬁwa S 7

(2) 98 YfoIshul WO A ?

(3) SIIEIRAT SdA@redel 3EEl YAR T H.

(4) STV Hed KUATE Iail kIN GlEq FTehal 7
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2. TR 100 I=d SW fow (ke Wm) [20]

(1) TE-UEdHU T HI.

(2) YAUE WUS wE ?
(3) @el AN TRMU fagiae Ui .

(4) 98 TR WS w1 ?

(5) STUGE oTcd YoIldd 9 TR H.
(6) TIYY HRCT WUH HOrGd™ dud  h.

8. TR 200 d 250 IS S fowl (HUQE dF) [30]

(1) W-3MR WIS & 7 F-ARAG [SM=dd J0 .

(2) STHRAGR I KA KA TS ?

(3) WIS MG SThdiearen R oI5 .
(4) wHg fofl gfean w= %

(5) oErY TYWUTE U

4., FIUIE Tard 500 I IW fod [20]

(1) IS AAWRETS BUN & 7 HHlSh AR araiedl ST

fafay 1w ggdi9 9 H.

(2) HHEISh 3R US| a7 TSR SRyl e o &,

[3901]-244 3



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2
[3901]-245
S.Y. B.A. EXAMINATION, 2011
PSYCHOLOGY
Special Paper 1
(Psychology of Adjustment)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 8) words each (any two) :[10]
(1) Explain the concept of adjustment.
(2) Explain the concept of work and career issues.
(3) Explain in brief mind-body connection.

(4) State the indulging yourself as common coping pattern.

2. Write short notes in 100 words each (any four) : [20]
(1) Selecting the mate
(2)  Predictors of marital success
(3) Types of phobic disorders
(4) The emergence of health psychology.
(5) Blaming yourself as common coping pattern

(6) Poor nutrition and lack of exercise.

P.T.O.



3. Attempt any three questions in 200-250 words each : [30]
(1) State the psychosexual developmental stages.
(2) State the Obsessive-Compulsive Disorder (OCD).
(3) Discuss biopsycho-social model.
(4) Explain the Ellis’s rational-emotive behaviour therapy (R.E.B.T.).
(5) Describe in brief the eating disorders.

4, Answer any one of the following questions in 500 words : [20]
(1) Describe in brief the model of career choice and development

given by Super.

(2) Define stress. Explain the sources of frustration and types

of conflict.

(WS wUIaR)
q% : o A TR T : 80

o — (i) WA YT Giefau STeRds SR
(i) Sodhere 3k qui O SFifer.
({ii) TeuErEdl [B ST WUl TRl

1. Woie JoaEt I TRl 50 I foRl (FUdel | M) [10]

(1) YTHESERE] Hoheddl T &
(2) wM oM FEEried Ig & Hhedw fomR &
(8) IMT-77 Tey eield fomr =+

(4) A THYHE O G 9iEed THdied TR H.
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2. TR 100 IS el four few (U@ Wm) [20]

e fa

(1) Sifegr=l fHas

(2) Selfesh WE ehed
(3) gvlde ¥&R

(4) TR HEETETE S

(5) T&@: T SNNY FIOR G GiEE  SATFHdra.
(6) RSV AM HIEET AYTE.

3. o FaEl SW YS! 200-250 I foRl (FURl d) ;o [30]

(1) qAEoTe  faermr=a s/eae e .

(2) foar-fean sifera@ foedt w= =

(8) SIHME-UMETSeh gfaeq Fifas=it == k.

(4) TUfoq I dHRfTS-uEAe d9dd 3UER 9sal (R.E.B.T.) ¥ .

o N o

(5) W@t fasde @fow) auia &

4. WA WAH W 500 I=C foRl (PR Teh) [20]
(1) =Jaa™ fae a fowm JEEa g I Ko gede afaw) o

<h .
(2) TUMETN AT . AWedEl ITHEIM  SNfUT IXOm HES YRR TR

h .

[3901]-245 3 P.T.O.
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(Abnormal Psychology and Therapeutic Interventions)

Time : Three Hours Maximum Marks

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt the following questions in 50 words each (any two)

(D)
(2)
(3)
(4)

Explain the causes of abnormal behaviour.
Describe the types of Avoidant personality disorder.
State the relationship in psychotherapy.

Explain modelling therapy.

2. Write short notes in 100 words each (any four) :

(D)
(2)
3)
(4)
(5)
(6)

Catatonic Shizophrenia.

Definition and nature of Schizophrenia.
Antisocial personality disorder.
Dependent personality disorder.

Token economy.

Play therapy.

3. Attempt any three questions in 200-250 words each :

(1)
[3901]-245

: 80

: [10]

[20]

[30]

Explain the nature and definition of abnormal behaviour.

4



(2) State the positive symptoms of Schizophrenia.
(3) Explain the aims of psychotherapy.
(4) Describe the systematic desensitization therapy.

(5) Describe family therapy.

4, Answer any one of the following questions in 500 words : [20]
(1) Define phobia. Explain the types of phobia.
(2)  Describe fully the method of Rational Emotive Behaviour Therapy
(R.E.B.T.).

(TS ®UI)
q% : o\ A TR T : 80
ol :— (i) Wd WA defdu TeRde .
(i) ISEhele 3 qul o <Fifaard.
(iii) USIES G TUSH WUl TRrEl.

1. Woe AR W YSE 50 I fowl (FUde |@F) e [10]

e fa

(1) WAlfaedl el dRo W H.

(2) Ufddurcas AlFTd foed=n YHRE J0HF
(3) UNEMERET HEH §AT.
(4) Yfd&Y LU Tgdl T

2. TR 100 ISid el four few (U@ Wm) [20]

(1) <hreead & Seded  fo—TATehdI.

(2) ToHT=hddl A 9 WE.
3901]-245 5 bTO.



o N o o N

(3) wHNIGULT HAfrade  forehdl.

o fa)

(4) sEoe Afwamd  fawdl.
(5) TUfdehicHe diRkdifties  (Token economy).
(6) fowmer Tl

3. WOl WA S® YS! 200 9 250 IeEd fow (kg dF)  : [30]

Ne AN

(1) HANdehdrEl =AqEAl 9 W&Y W .

(2) foHT%Fd=l HHNIcHS S0 9.

(3) WHEUER Ugdret 3feR fRear &g ww w:A

(4) UgHEIR APeTRNed Jgdid I9= .

=

(5) hIdl

~
[=N

% SUOR Ugda 9ue &

4., GG WA S® 500 I=C fo@ (RO k) [20]
(1) gfddt =os s ? A 9eR TR &

= a N

(2) dHYE daIER dgdrd gfasal 9uig .

[3901]-245 6



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

[3901]-246
S.Y. B.A. EXAMINATION, 2011
PSYCHOLOGY
Special Paper II
(S-2 : Developmental Psychology)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]
(1) Explain the characteristics of neonatal period.
(2) State the physical development in middle childhood years.
(3) How identity and self-esteem develop in adolescence ?

(4) What are the preventive health-care recommendations in middle

adulthood ?

2. Write short notes in 100 words each (any four) : [20]
(1) Friendship development in preschool years.
(2) Sensory difficulties in middle childhood.
(3) Threats to adolescent’s well being.
(4) Educational problems in middle childhood.
(5) Stress factors in early adulthood.

(6) Senses in middle adulthood (Visual and Auditory)
P.T.O.



3. Attempt any three questions in 200-250 words each : [30]

(1) How life begins ? Explain the stages of development in prenatal

period.

(2) What is effective parenting ? Explain the different parenting
styles.

(3) Describe the primary and secondary sex characteristics in

adolescence.

(4) Explain how choosing a career is an important step in early
adulthood.

(5) State and explain the cognitive development in middle adulthood.

4, Attempt any one question in 500 words : [20]
(1) Explain Piaget’s approach to cognitive development in infancy

(2) Explain the daily life in late adulthood.

(TS wUIe)
q% : o\ A TR T : 80
T :— (i) WA WA STeRIR 3R
(i) ISEhele 3 qul IO <Fifaard.

1. Uoe ARl SN YEE D 3w fow (FUeE ae) [10]
(1) Faomd Tad=i dfFTe =
(2) WAHASIEEET IS ok T &
(3) fRIUaEdd -3y § W-3les@ 3l fasfdd dd 2
(4) \AREEde R SRTAfgYas  Hi@si=n fqeuas  BTerREl

HIoT ?

[3901]-246 2
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2. WG WA TR 100 IeEE diedd fou fom (FOEmR wmr) : [20]
(1) Yo aarde s fawm.
(2) THAAELAS &b  THEI.
(3) fwREEede .
(4) THANCIEENG =N 31afieh TEET.
(5) UAUEEEde dquTe TS
(6) WAYEERde deASHAl (33 HTHA).

3. WH® WA SW Ul 200-250 I=[ fewl (FORE dH) ;o [30]
(1) SieFr= g&ard &t dd 2 Sqe aedde fohme 70 T .
(2) W Ulohed WIS @& ? UGk fdfdg JeR e &
(3) fwiREdde wafts 9 @ Ofe a0 e F.
(4) YIUEEEde (AEvEER) ‘HReR e’ 8 meem T o § W

h .

(5) TUHUEEEdde Aucas faee afaeR R F.

4, THo TAN SW 500 =@ ol (FIUERI Th) [20]
(1) T J=n Josmaen dude foee R gfaa o5 &
(2) Igren <Hfed SfeAre gfoR v @

3 P.T.O.



[3901]-246

(S-2 : Positive Psychology and Counselling Psychology)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.

(i1)

Figures to the right indicate full marks.

1. Attempt any two questions in &) words each :

(D)
(2)
(3)
(4)

Describe the cognitive counselling.
Explain the term ‘Hope’.
Explain the predictable counselling agendas.

Describe the assessment of children.

2. Write short notes in 100 words each (any four) :

(D)
(2)
3)
(4)
(5)
(6)

Emotional intelligence.

Resilience in childhood.

Positive youth development.
Happiness and subjective well-being
Positive emotions.

Learned optimism.

3. Attempt any three questions in 200-250 words each :

(1)

[3901]-246

Describe in short ‘successful aging’.

4

: 80

[10]

[20]

[30]



(2) Explain the difference between the positive attitude and negative
attitude.

(3) Describe the importance of communication with children.

(4) Explain the characteristics of older-adults as a client.

(5) Discuss ‘person-centered counselling’.

4, Attempt any one question in 500 words : [20]

(1) Define counselling. Describe the characteristics of the effective

counsellor.
(2) What is positive psychology ? Explain the relationship between

positive emotions and well-being.

(W& wUIaR)
q% : o\ A THU T : 80

gaOd :— (i) WA WA STeRISR  3TRA.
(i) Sodher® 3k qui O SFifer.

1. Woe AR W YSE 50 IeEd fowl (FUde |@F) e [10]

(1) ‘eurcTs 9YeI™’ 9UHE - &

(2) ‘RN Hhoddl T &

o

(3) gdhoHIcHe HHUrH fosdfye wose &

(4) TGRS HIATCHSER HIYT FUH  H

2. GG WA Tkl 100 Il A four foer (vt =) : [20]

(1) wEtih i

[3901]-246 5 P.T.O.



(2) wToHMe AMGgT  (feerdeemgenar)
(3) HhRIH® Far faerrd

(4) ST ST FfRTa TR

(5) HhRIHS HIaHl

(6) I ARTER.

3. o FaEl W USS!  200-250 I foml (FURl d) ;o [30]

(1) ‘geowdde W deda 9o &

(2) HENHS Ial 9 THRIHE® Ixl Ao Hlh T .

(3) dGheee HaRN Had duid k.

(4) TUH Hool WA aum-UeE dRmel T &

(5) ‘oAfR-ehisd WHUeTM' == AL

4., WO® WA S® 500 =@ fo@ (RO k) [20]
(1) 9qUE™ A T J9eEl GHgeITeRTe TUERTSe Jud

(2) HRRHE HAWETES WS ®E ? GhRHE 9Ed A0 RIS Ao

Y T FHA.

[3901]-246 6



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-247
S.Y. B.A. EXAMINATION, 2011
GANDHIAN THOUGHT
General Paper II
(Socio-political and Religious Thought)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each :[10]
(1) Explain any one technique of Satyagraha according to Gandhiji.
(2) Explain the relation between Religion and Morality.
(3) Explain Gandhiji’s idea of Punchayat Raj.
(4) Explain the problem of Untouchability.

2. Write short notes on any four of the following in 100 words each : [20]
(1) Gandhiji’s conception of Dignity of Labour.
(2) Rights and duties of human beings.
(3) Gandhiji’s criticism on communism.
(4) Idea of stateless society.
(5) Gandhian idea of trusteeship.
(6) Gandhiji’s views on Prayer and Worship.

P.T.O.



3. Answer any three of the following questions in 200-250 words each : [30]

(1)
(2)

3)

(4)
(5)

Explain the importance of Gandhiji’s idea of Sarvodaya
Explain with your comment Gandhiji’s idea of spiritualization
of politics.

Bring out the importance of Gandhiji’s idea of Khadi and Cottage
industry.

Explain Gandhiji’s views on social change.

Illustrate Gandhiji’s opinions on role and status of women in

society.

4, Answer any one of the following questions in 500 words : [20]

(1) State and bring out the significance of Gandhiji’s eighteen point
constructive programme.
(2) Explain and critically evaluate Gandhiji’s views on Caste and
Varna system.
(AOE ®UI)
q% : o\ A TR T : 80

T — (i) WA WA STeRIS 3R

(i) wedEe siw o el

(iii) TEUEE 3 TUSH WeAdlAST U@

1. UIouh! DR &M WA U 50 IWEd Sw feRl [10]
(1) eST=N TarER TORRR RIUARN ekl aod SRR .
(2) wd enfor Fifd AreTdle WEREEY WR HJ.
(3) TSR ‘UEEE TS # Hhed R &
(4) STERIGEAL TEET TR FHA.

[3901]-247
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2. WOOUh! HUER  ARIR YR 100 IR oW femr [20]
(1) mefisi=h sogfaser & Hehed.
(2) oAl BHH S0 oA,
(3) WrHeRreRle TS <.
(4) TAfafed wast & e
(5) Sl fogerd’ & sheud
(6) T oTfUr e ufereRE MeESien M.

3. WOIGUH! SR o YIA Ul 200 d 250 ITeed I fewl : [30]
(1) TeSi=n Hdicd %hod"d Hed T &
(2) TS TSThRUME SMEAHEHO & hedal o Al deharEg T .

(3) TiSien ‘wEl’ it SEREErTY "Wed faRe A

(4) TSien THS qRadATaTRiEl g TR A
(5) Tomr=h ofyer onft wANNIe ToH wifawien s 7ae faa=d
T

4., TOGUR HOER TR WAE SR 500 IR foRl [20]

(1) TfiSien o780 woHl fau™s &REH 9 &« 7ed R .
(2) I ST uiERSeHt TMSTEl R TR hEd e JoIHI
.

[3901]-247 3



Total No. of Questions—4] [Total No. of Printed Pages—2

[3901]-248

S.Y. B.A. EXAMINATION, 2011
YOGVIDYA (JFfa@m (G-2)
(Yogachi Sarvangeen Baithak)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]
(1) What is aim of Yoga Science ?

(i1) Write the meaning of Yoga Science according to Patanjali.

2. Write short notes on (any fwo) : [10]
(1)  Rajyog
(ii) Mimansadarshan
(i) Dharana
(tv) Kapalbhati

3. Answer any two questions from the following in 200 to 250 words
each : [15]
(i)  Write the meaning of social discipline and explain correlation
with Yoga Science.
(i1) State the benefits of Yoga Science.
(iit) State the defaults of Personality.

4, Attempt any one question in detail : [10]
(i) State the factors which influence the mental health.
(ii) How many types of Darshan are there ? Explain the Jain
Darshan.

P.T.O.



(S wUIe)
q% : 2 AW Tehur Tur : 40
oIl :— (i) Svdihele 3% U U SFifodm.
(i) §& YT Hefan seras SR
(iii) USIES G U WEdfAhT TerEl.

1. TOOUh HUER  Wehd 50 IR SR ol [5]
(i) ATETSTE Y HE e ?

oo e N

(i1) qasoAl  Hiiaoed IR 319 ol

2. deHEM A9 W (FOEE EF) [10]
@) A
(i) HErEEEE
(i7i)  Emron
(iv) HYTSHIGT.

3. WooUH HUEE S WA TORR 200 d 250 I I A : [15]
(i) G Bsfen o1d §FE ITRTEE WeHed e
(i) AETSME ®ES "
(jii) AfFHEde ™ 9Em.

4., TOGUR HUAE TR YIAE HEOER IW A [10]

(i) HHEMER STTIER URUMH IO T2k .

(i) D YR WA SHSEE HioRR F0H .

[3901]-248 2



Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-249

S.Y. B.AA. EXAMINATION, 2011
HISTORY OF CIVILIZATION
General Paper II
(Indian Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the importance of Sacraments.
(ii) What is ‘Pre-History’ ?
(iit) Write the consequences of Bhakti Movement.
(iv) Ajanta Painting.
2. Write short notes in 100 words each (any four) : [20]
(i) Main Geographical division of India
(ii) Varna in Ancient Indian Society
(izi) Panch Mahavrata
(iv) Kabir
(v)  Sculpture in Ancient India
(vi) Ramakrishna Mission.

P.T.O.



3. Answer the following questions in 200-250 words each (any
three) : [30]
(i) Discuss the archaeological sources of Ancient Indian
History.
(it) State the teaching of Buddhism.
(iit) State the philosophy of Sufism.
(iv) Write the information about music in medieval period.

(v) State the work of Satyashodhak Samaj.

4, Answer any one the following question in 500 words : [20]
(i) Explain the importance of Indian Culture.

(i1) State the progress in science from Ancient to Medieval

Period.

(WS wUIaR)
q% : o\ A TR T : 80

ol :— () Wd WA defau oTeRdd  STRd.
(i) SSElhels 3k YU U i
({ii) WEWHIE T TUSH WIAACART UgTel.

1. U@e YA W OUSERT 5 I feRl (fvkEl gF) [10]
(i) TEhN™ "W 9n.
(i) Uifdeas FHoEs wWIN &F 2
({ii) Yl FBda UomH  fol
(lv) <fsiar Aoe faawor @

[3901]-249 2



"

2. TR 100 I diedd few femr (FvmEl WR) [20]
(i) YRa™ & A faum
(i) YA YRAde  Juicawe

({ii) IEHEEd
(lv) TR
(v) YEH YRAde Redsa
(vi) THFH oM.
3. Uole WA Y 200-250 I<id SW O fow (FomEr d|) ;o [30]

(1) U 9Raren SfwEren oifad weHrEt ==t #L
(ii) g wmrn fwewr @,

(iii) GHI 9AE TEFH  F

(lv) TN Fleokdie Graras Arfedt  fo.

(v) TRENYS THNME HE GO

4, THG WA K 500 IEA fow (PG W) [20]

(i) YRAE TEhd Ted W H

(i) UM O UL Flele faammed oel W |rm.
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-250
S.Y. BA. EXAMINATION, 2011
HOME ECONOMICS
(G-2 : Sociology of Family)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]
(1) Head of the family.
(2) Marriage.
(3) Family disorganisation.

(4) Human race.

2. Write short notes in 100 words each (any four) : [20]
(1) Woman education and family development.
(2)  Socialisation of child.
(3) Family welfare.
(4) Rural family.

(5)  Scope of Sociology.

(6) Types of marriage.

P.T.O.



3. Answer the following questions in 200 words each (any three): [30]

(1) Explain the importance of Sociology.
(2) Discuss “family as social institution”.
(3) Explain the causes of family disintegration.
(4) Explain the merits of joint family system.
(5) Explain the basic development of human race.
4, Answer the following questions in 500 words (any one) : [20]
(1) Explain the merits and demerits of Nuclear Family System.
(2) Explain the role of Government in Family and Child Welfare
in Indian Society.
(TS TUIR)
d9% : o a™ THOT 0T : 80

oAl (— (i) ¥d WA EEgs  STed.

1. TOG Fhedd= IW TOHR 50 3G fog (FoaE d|) [10]
(1) o 9@
(2) foome.
(3) whard forearT.
(4) AT R

[3901]-250



2. TR 100 I few fom (foE Ww) . [20]
(1) =it frgu enfor g fawm.

(2) dIGHT ISR [l
(3) HZA THEA.

(4) T HA.

(5) HHNEIETE! ATl

(6) foamE YsR.

3. WOl WAl SW TR 200 IeCd Rl (hivdEl die|) [30]

(1) TESETEE AWM Hed W 6.

(2) ‘“‘=Zd TH GHiee geEr'! == .

(3) “hed faFeAm=l HRU T FH.

(4) THA H2d Tga™ O TR B

(5) WM W= oo fasMEm U &

4., THo WA IR 500 I=C @ (FOCRI Th) [20]
(1) o1 % TS 0 9 Y T HA

(2) YRANE HHENTAG FHed S0 oG HeAUNS ITEA= i T &
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Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+1
[3901]-251
S.Y. BA. EXAMINATION, 2011
DEFENCE AND STRATEGIC STUDIES
D.S. G2 (A) : India’s National Security)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) What are the problems of SAARC ?
(2) Explain the concept of Insurgency.
(3) State the meaning of Foreign Policy.

(4) Explain geostrategic importance of Kashmir.

2. Write short notes in 100 words each (any four) : [20]
(1) Objectives of Indian Foreign Policy.
(2) Indian Naval Security.
(3) Nuclear Test 1998.
(4) McMahon Line.

(5) Internal Security.

(6) Nuclear agreement between India and USA.

P.T.O.



3. Answer in 20 to 250 words each (any three) : [30]

(1) Explain the Indo-Pak relations with special reference to the

nuclear debate.
(2) Explain the India’s role in SAARC.
(3) Explain the causes and measures of Terrorism.
(4) State the meaning and concept of National Security.

(5) Explain Indian Defence Policy.

4, Answer in 500 words (any one) : [20]
(1) Explain the relation between India and Russia.

(2) Explain the principles of Indian Foreign Policy.

(WS ®aia)
q% : o\ A Tepot o1 ¢ 80

M :— (j) T WA SAeRIR  3TRA
(ii) ISElhele 3k YO O SRiferr.

NN

1. Woe EAE S® TRl 50 I foel (el ard) [10]

(1) 9rh=al GHS HI0e 2

(2) forar=l Hheudl TS HA.

(3) WWSF RO el Wi

(4) HEHIE EMNE " T H
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2. TR 100 I dedE fow fom (FUER W) [20]
(1) 9RAE WU GRom= 3fEse.
(2) ARArEA Ao FRa.
(3)  1998% 3TU =Tl
(4) HepmEH I
(5) 3Iavd Y&

~

(6) YRA-THRERT AR oTfvaer iR,

3. WO® WAEN YR 200 9 250 IS SW fow (FumE dF) ;o [30]

(1) oTfoehae o H@d IHEA YRd-UF Ho¥ T H.

(2) WRAET GehAdle il TR H.

(3) THEARE! R 9 IUF W< &
(4) TSI W o enfor Hehew WL
(5) YRA™ IO HRU TR HA

4. WHT WAF W 500 I=[ fE@ (PR Tek) [20]
(1) 9Ra snfor WwMERE a9y T H.

(2) YRAE WU URUTET dd T A

[3901]-251 3 PTO.



[3901]-251
(D.S. G-2 (B) : Cold War)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) Explain the nature of Cold War.
(2) State the characteristics of SEATO Pact.
(3) What is New Cold War ?

(4) Explain the India’s role in Korean War.

2. Write short notes in 100 words each (any four) : [20]
(1) Cuban Revolution.
(2) Berlin Blockade.
(3) Nature of Eisen Hower Doctrine 1957.
(4) Hot-line (Telephonic link).
(5) SALT-L
(6)  Gorbachev.

3. Answer in 20 to 250 words each (any three) : [30]

(1) Explain the meaning, concept and scope of Cold War.

(2) Describe the Marshal Plan.

[3901]-251 4



(3) Explain in detail the Warsaw Pact.

(4) Discuss the Suez Canal problem.

(5) Explain in brief the Cuban Missile crisis.

4, Answer any one of the following questions in 500 words : [20]
(1) Explain in detail the American-China relations in detente period.

(2) Discuss the causes of Soviet Intervention in Afghanistan.

(WS ®aia)
q% : o A TeRpot o1 ¢ 80

oM :— () T WA Grefau STeRds SR
(i) 3ISEhele & FEara qul O SRifer.
(iii) WSUEEd 3 TUSH UFUrehl UgrEl.

1. YRRl 50 II<Cid SW feRl (Ruhd ae) [10]

(1) 3fd g @=Ed T H
(2) fRE (SEATO) =i afTe @i
(3) R 3Ifd g WU w1 ?

e

(4) IA Jgie vRdET i T2 6.

2. YRR 100 IS Aied feur feml (Rvd 9w e [20]
(1) FgIWHS .

(2) EfST=l HArehelal.

[3901]-251 5 PTO.



(3)
(4)
(5)
(6)

1957 AYi® AFEH B fagraa U

Be-TRA (U IA).

HHeh/SEUEHS: 3T e R ("iee-1).

Tefi=Iee.

(D)
(2)
(3)
(4)
(5)

G WD U 200 d 250 IS S TRl (FRIUdEt  diF)

Tia ggren o1, dhedw oMUl W TR WAL
Eie dem for w0

Il PR GiaER T HA

ol FIodl AR I h.

AT U G9N  oIeHd T L

(1)
(2)

[3901]-251

TOeUR HUER @R WA S 500 I fow

T FIdG STHRH-IH a9 Hioww TS H.

AHEMURAAG Hifgie Saur=a wRom=l == .

[30]

[20]



[3901]-251
D.S. G2 (C) : Evolution of Strategic Thought)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) Explain the concept of strategy by Moltke.

(2)  According to Liddle Hart, what is the role of tank division

in war ?
(3) State Jomini’s principles of war.

(4) According to J.F.C. Fuller, what are the causes of war ?

2. Write short notes in 100 words each (any four) : [20]
(1) Mao Zedong.
(2) Admiral A.T. Mahan.
(3) Che Guevara.
(4)  Doubhet.

(5)  Clausewitz.

(6) Dupicq.

[3901]-251 7 PTO.



3. Answer in 20 to 250 words each (any three) : [30]
(1) Describe military thought by Ludendorff.
(2) State strategic thought by Marshal Foch.
(3) State the views of Mao Zedong about Guerrilla tactics.
(4) Explain strategic thought by Admiral A.T. Mahan.

(5)  Describe the views of Che Guevara about Guerrilla Warfare.

4, Answer in 500 words (any one) : [20]
(1) Explain in detail Heartland theory by Mackinder.

(2) Describe in detail strategic thought by Clausewitz.

(WS ®aia)
q% : o A Tepot o1 ¢ 80

M :— () T WA SAeRIR  3TRA
(ii) ISElhele 3k YO O SRiferr.

1. YRRl 50 II<<id SW f@Rl (RudEl aF) [10]

A

(1) Wieehdl JSHdre Hehedd T HA.

(2) foso wd=a wd wrmel feESA=l oo qfHhl o ?
(3) SifEA=R & q 9.

(4) HOEA Hd gl HRU hIOGT ?

[3901]-251 8



2. TTeRR 100 ISid e fewr foml (e |m) [20]
(1) weW el

(2) ofei® w . HaM.
(3) = T
@) 3w
(5) T
6 fr.
3. TR 200 d 250 I IW @ (FHUME @) [30]

(1) GeAeha oy foar fer =

(2) uEfe wE I9 9uies faar 9n.
(8) W e I " eeuen fowie faem g
(4) ofefe T 3. "WeM I9 9Mis fauR T %

(5) = Ty A= A Fgusdt fowRie foem far @

4., TG WA 500 A SW @@ (FOCEI W) [20]

(1) Hfprex Fm=n gy faga dfowR e &

(2) FoSItaes=n s foame 9fos® 9uia &
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Total No. of Questions—4+4] [Total No. of Printed Pages—4+2
[3901]-252
S.Y. BA. EXAMINATION, 2011
DEFENCE AND STRATEGIC STUDIES
D.S. S-1. (A) : International and Regional Organisation
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) State the objectives of U.N.
(2) What is ASEAN ?
(3) State the structure of SAARC.
(4) What is NAFTA ?

2. Write short notes in 100 words each (any four) : [20]
(1) Functions of U.N.
(2)  Human Rights.
(3)  Objectives of European Union.
(4) Functions of ASEAN.

(5) Peace-keeping force of U.N.

(6) Enforcement Action.

P.T.O.



3. Answer in 20 to 250 words each (any three) : [30]
(1) Explain the structure and function of UN.
(2)  Describe the role of UN in Social and Economic Issues.
(3) Explain the aims, objectives and functions of SAARC.
(4) Write an essay on ‘European Union’.

(5) Explain the hindrances in the working of UN.

4, Answer in one of the following questions in 500 words : [20]
(1) Explain in detail the UN role in International Peace and Security.

(2) Discuss the future of UN.

(AOE ®UI)

q% : o A T TOT ;80
o :— (i) §d T diefau eRds R
(ii) ISElhele 3 YO O SRiferr.

(iii) WeUEEdl 3 TUSH UEUfehl Ugrel.

1. Woe EAE SW® TRl 50 I foel (el ard) [10]

(1) dgFa T Sfese @i
(2) REA =S HE ?
(3) WdEl T T

(4) AT WUS & ?
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2. W 100 I fowr fomr (@Rl WmR) [20]

(1) I T &HE.

(2) UGl TFH.
(3) FUER gha=n 3fEe.
(4) oAfEE=t .

(5) TFR TgEN I S

(6) TosERh IMAAl YENfUd IUATE  hTATEl

3. WOlo WHARN Yk 200 d 250 I S fowl (Fumer dF ) o [30]

(1) FgF TN & ST & e .

(2) WTIH TE FEiSeR S offde WA diefame ®E fer &
(3) whd 7, e snfn wE T w0
(4) ‘gUfem giema' aer ey e

(5) TIH TS HEAMS SIS TIL  H.

4. WHT WAY W 500 I=[ fE@ (PR WeR) [20]
(1) s Iiaar 9 gRisaar fenfavardio 9 el e afas
oo R

(2) TIF U wAfgaed Arfaeet == @

[3901]-252 3 P.T.O.



[3901]-252
D.S. S-1. (B) : India and Her Neighbours
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]
(1) State the lessons of 1965 War.
(2) Explain the causes of Kargil operation.

(3) What are the objectives of SAARC ?

(4) State India’s role in Nepal’s development.

2. Write short notes in 100 words each (any four) : [20]
(1) Geostrategic importance of Bhutan.
(2) Causes of 1965 war.
(3) Problem of Tibet.
(4) Maritime Boundaries of India.

(5) India’s geostrategic location.

(6) MacMahon Line.

3. Answer in 20 to 250 words each (any three) : [30]
(1) Explain India’s role in SAARC.

(2) Explain India’s role in the independence of Bangladesh.

[3901]-252 4



(3) Describe in detail the ethnic problem in Sri Lanka.

(4) Describe the Indo-China relations since 1990.

(5) ‘Kashmir issue is a crucial issue in India-Pakistan relations’.

Explain.

4, Answer one of the following questions in 500 words : [20]
(1) Explain the relations between India and Myanmar.

(2) State the factors of India’s National Power.

(AOE ®UI)

q% : o\ A TEHUT TOT ;80
o :— (i) §d WA diefau eRds R
(ii) ISElhele 3k YO O SRiferr.

1. Woe WEAE S® TRl 50 I foe (Rvdel a@rd) [10]

(1) 1965¥1 JgNA THeoo &€ 9.

~

(2) SIS HEAENET RO TS H.

(8) ke e wuEl ?

(4) Ao TG WRaEl f¥er |

2. TR 100 I fow fomr (@omE Ww) [20]

(1) 9dF= EEE  Hg.

(2)  1965%1 IgI=l hIUL.

[3901]-252 5 P.T.O.



o n

(3) fase=l 9uwLL

(4) YRAEr 9 9

(5) WRAM YHMENE T

(6) HHhHRAT I

3. WOlo WHARN Yk! 200 d 250 I S fowl (Fuer dF ) ;o [30]

(1) Ehadie ARAET YR e .

(2) ANTRITA WAANG AR YHeA T H.

(3) sNShdie difiTr AR Hfaw® 9 H.

(4) 1990 URTAl YRA-¥M G dUH HA

(5) ‘URA-ufREE HeUld HRER WA & Tk hov HHE R W
.

4. WHT FWAE W 500 I=E fE@ (PR TeR) [20]

(1) YR A0 =R Amee 9dy W .

(2) 9Rd=N USHE IR HSH 9L

[3901]-252 6



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2
[3901]-253
S.Y. BA. EXAMINATION, 2011
DEFENCE AND STRATEGIC STUDIES
D.S. S-2 (A) : Defence Economics

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the effects of war finance.

(2) State the objectives of Economic Warfare.
(3) What are the post-war problems ?

(4) State the kinds of loans.

2. Write short notes in 100 words each (any four) : [20]
(1) Importance of Defence.
(2) “Internal threats of India’s security.”

(3) Public Accounts Committee.

(4) War potential.

(5) Sources of wartime economy.

(6) Preparation of India’s defence budget.

P.T.O.



3. Answer in 20 to 250 words each (any three) : [30]

(1) Explain the importance of price control and rationing in Wartime

Economy.
(2) What are the causes of increasing defence expenditure of India ?
(3) Describe the effects of war on economic structure.
(4) State the characteristics and problems of wartime economy.

(5) “Defence and development are co-related to each other.” Discuss.

4, Answer any ore nn 500 words : [20]
(1) Analyse the defence expenditure of India from 1947 to update.

(2) Explain the means and nature of Economic Warfare.

(WS ®aia)
q% : A A TeRpot o1 ¢ 80

M :— () T W Grefal STeRds SR

1. Odo AR S Y@l 50 I foel (Rl @F) [10]
(1) Jg foa= oiom = &3

(2) onfdew Fgusdrn e A

(3) JSRKIAMG AT Hiv  ?

(4) HE YRR HI

[3901]-253 2



(D
(2)
(3)
(4)
(5)
(6)

(D
(2)
(3)
(4)
(5)

(1)
(2)

[3901]-253

TR 100 I feur four (RveE 9m) e [20]

UMY HEd.
“RArEn REE @ G

grasiider @l S iHdl.
I5 T
JSHOH  AdEA= HIEA.

TRATAT TR0 STSNTUThT=  qad.

WSS WaEl YDl 200 d 250 IS SW fow (@uad d|) o [30]

~ * ~

A fEemr @ [T 99 gswer sifaEEde ded e &
IRATA W0 @Ed a9 BvArdl RO IO ?

g AfdEk  Aerie uRume fare wa.

IgHoH AdTeRd= IR o WS Wi

e emfol fakE WER Y SR’ ==l &

FUCR TR WA S® 500 I fowr [20]

3G 1947 O ANIIdSA URAAT WU TErd foRowur &
e ggugdel ®WEH 9 WEY TR HA

3 P.T.O.
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D.S. S-2 (B) : Military Psychology and Sociology

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Answer in 50 words each (any two) : [10]
(1) What is the image of soldier in Society ?
(2) State the social aspect of defeat.
(3)  Why is the discipline essential in military organisation ?
(4) Write any five post-war social problems.
2. Write short notes in 100 words each (any four) : [20]
(1) Civil-Military relation.
(2) Uses of intelligence test.
(3)  Motivation.
(4) Human right and armed forces.
(5) Significance of morale in defence.
(6) Hysteria.

[3901]-253 4



3. Answer in 20 to 250 words each (any three) : [30]

(1) Explain in detail the mental health problems of the soldier

in war.
(2) State the functions of military leader.
(3) Discuss the dimensions of human behaviour.
(4) Explain the principles of psychology in the military training.

(5) Explain effects of war on the society.

4, Answer any ore n 500 words : [20]

(1) Explain the importance of discipline, morale and hierarchy in

the military organisation.

(2) Discuss “The image of soldier in different societies.”

(WS ®qial)
q% : o A Tepot o1 ¢ 80

M :— () T WA Grefau SeRds SR

1. YRRl 50 II<Sid SW feRl (RukEl aF) [10]
(1) 9a~d St s gfam s ?

(2) UUWETY WHESIH g |

(3) THU HUSAd BRI STeEIehdl 1 THd ?

(4) SUEE 9T go qEnie gaen fom

[3901]-253 5 P.T.O.



2. TR 100 I dedE fow fom (FUER W) [20]
(1) F-owd ey
(2) drgie =i SN
(3) Wm
(4) HEEl BRR AT WA <
(5) EaUMdie AASEE Hew
(6) fewfam.

3. TR 200 d 250 I SW R (FUEr dH ) e [30]

L\Wa

(1) Isiio s dHas @R 99 Jioaw T .

LN o

(2) o&RY AgarEl w1 g

(3) WFel Ik fafoy Ygax ==i &

(4) TR gRETIUTETEdY WIS 90 WS .

(5) J§ FUANEHE TRUM T2 &

4, FUAE TWh WA S® 500 <@ feR [20]

(1) o0 Fueade fra, w7l onfr wWuu Ie 9gcd T A

2) ‘‘fafv= guerde St gfam’’ afasei ==t %

[3901]-253 6



Total No.

of Questions—4] [Total No. of Printed Pages—3
[3901]-254

S.Y. B.AA. EXAMINATION, 2011
SOCIAL WORK
General Paper II
(I) Introduction : Fields of Social Work
(II) Population Education
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(2)

(i1)
(ii1)
(iv)

Explain the psychological factors affecting on population
growth.

Explain the advantages of large-size family.

Prepare a note on problems of tribal children in Maharashtra.

State the importance of Population Education.

2. Answer any four of the following questions in 100 words each : [20]

(2)
(i1)
(i10)

(iv)
(v)
(vi)

Explain the approach of rural development in India.
Explain the biological factors affecting on population growth.
Discuss the trends in population growth in India before
independence.

Discuss the causes of poor standard of living in Tribal area.
How will you co-relate population growth with unemployment ?

Explain the problem of education in Urban Slums.

P.T.O.



3. Answer any three of the following questions in 200 to 250

words each : [30]

(i) Explain the role of medical social worker in Hospital
Setting.

(i1) Write a note on ‘Migration and population growth’.

(iiz) Explain the problem of aging and state the welfare measures
for old aged.

(iv) Explain the problem of food and housing in rural area.

(v) Write a note on ‘World Population Growth’.

4, Answer any one the following in 500 words : [20]
(i) Write an essay on determinants of Population Growth.

(zz) Write a detailed note on ‘Youth Welfare’.

(WS ®UIaR)
q% : o\ A TR T : 80

ol :— () Wd WA defau oTeRdd  STRd.
(i) SSElhels Fh YU U i
(iii) Tos TUSH YUk TEd  EeEl.

1. WooUhl HUE S WD SW TRl ) Il fowl [10]

(i) DHEAT dleel YoM H0R AAWTSII ¥eh TS H.

(i) HISdl STHRN=A FHad FRS TR H.
({i)) WeRISMe oo o den Iex foqu @@ &
(jv) JRTE Figue T8 g

[3901]-254 2




4.

GOIGUh! RUIRI  OR GEAET SR ISl 100 e fowr [20]
(i) YRAdle UH foeEmEr gRleRA WR &

(ii) DHESAT dleel YoM H0R SRS U6 T .

(iii) W@IAE H@M TRAMG Ghded ded Yo JeR == 6.

(jv) oTfcafl Wil fe< TRUiHFET TSii<l &R JeR == &J.

(v) DFHEA T MU JIUSITA T FHT He-Gay AR ?

(vi) -8 SUeUYsumHe RIaumel U T w0

EOIGAUh! AR dF G2l W Tl 200 9 250 ITseid fo=r : [30]

(i) TUedHHie Jufhd THSeREEEt e TR S

(i) ‘@ A IrREEd 9’ IerR fegur foml

({ii) THH THR TR HEA JSECG STHGH HANGR] SIS
.
(fv) T 9AMdle T d TRHAT T T &

(v) ‘Sfde IEEEA 9’ AR feuur fomn

UAGUH FHIUARI  WeRl YT W 500 IS ot [20]

() ‘OREE dReN uewh’ IR ey femrn

(ii) ‘'gAh wHeA’ TR Hiek®w fequr femrn

[3901]-254 3



Total No. of Questions—4]

Time :

N.B. :

[Total No. of Printed Pages—4+2
[3901]-256
S.Y. BA. EXAMINATION, 2011
COMMERCE (G-2)
(Business Accounting)

(2008 PATTERN)

Three Hours Maximum Marks : 80

(@) Al

questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

Answer the following questions (any five) : [10]

(a)
(®)
(c)
(d)
(e)
)
)
(h)

Meaning
Meaning
What is
What is
What is
Meaning
Meaning

Meaning

of ‘Book-keeping’.
of ‘Double Entry’.
Capital ?

Prime Cost ?
Cost Accounting ?
of Time Keeping’.
of ‘Trial Balance’.

of ‘Discount’.

Journalise the following in the books of M/s Chopda & Co. : [20]
2010

Jan. 1 Started business with cash of Rs. 15,000.

Jan. 5 Purchased goods for cash worth Rs. 1,500.

P.T.O.



Jan. 8 Sold goods for cash Rs. 2,000.

Jan. 9 Purchased goods from Bora on Credit for Rs. 1,400.

Jan. 13 Paid to Bora Rs. 1,000.

Jan. 15 Sold goods of Rs. 300 to Laxman on credit.

Jan. 18 Received cash from Laxman Rs. 300.

Jan. 20 Paid carriage Rs. 30.

Jan. 22 Paid Rent Rs. 100 to landlord.

Jan. 25 Paid commission Rs. 50 by cheque to Desai.

Jan. 28 Deposited Rs. 400 in Bank of India.

Jan. 31 Interest Rs. 60 received.

Or

Record the following transactions in proper subsidiary books :

June 2009

June 2
June 5
June 7
June 9
June 14
July 16

July 20

[3901]-256

Bought goods from Amar

Bought goods from Rajan

Sold goods to Kumar

Returned goods to Amar

Kumar returned goods

Purchased office furniture from Nahar

Sold goods to Narendra

Rs.
1,800
750
975
125
50
700

850



July 22
July 27

July 30

Narendra returned goods 75

Purchased machiney on credit 200

Sold goods to Mahendra 100

3. (A) From the following particulars prepare cash book with Cash,

Bank and Discount Column : [15]

Nov. 2008

Nov. 1 Cash in Hand Rs. 2,500.

Nov. 2 Cash at Bank Rs. 5,000.

Nov. 4 Received cheque from Sowani Rs. 100 in full
settlement of Rs. 100 lodged into the bank.

Nov. 5 Issued cheque to Pote Rs. 1,050 in full
settlement of his account Rs. 1,100.

Nov. 9 Paid to petty cashier Rs. 50 by cheque for petty
expenses.

Nov. 12 Cash sales Rs. 1,400 and cash purchases
Rs. 1,000.

Nov. 19 Purchased furniture for Rs. 1,000 paid half
amount in cash and half paid by cheque.

Nov. 20 Deposited into the bank Rs. 500.

Nov. 22 Paid office expenses Rs. 300 by cheque.

Nov. 25 Cash purchases Rs. 1,000.

Nov. 30 Paid office rent by cash Rs. 250.

[3901]-256
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Or

The following figures have been extracted from the books

of Jain Engineering Ltd. for the year ending 31st March

2010 :

Particulars

Direct material

Direct wages

Indirect wages

Direct expenses

Electric power

Depreciation of office building
Depreciation of plant and machinery
Director’s fees

Oil and waste

Lubricants

Machinery repairs

Bad debt

Postage

Rs.

90,000

50,000

10,000

15,000

1,000

1,000

2,500

3,000

300

400

1,000

2,050

450



(B)
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Factory lighting
Office lighting
Carriage outward
Printing and stationery
Store-keeper wages
Selling expenses
Travelling expenses
Telephone charges
Factory rent
Office rent
Manager’s salary

Factory expenses

From the above figures, calculate

(¢) Prime cost
(b) Factory cost
(¢) Cost of production

(d) Cost of sales.

Explain in detail the sales

procedure.

1,000
500
300
500

1,200

2,000

1,000
400

2,000

1,000

4,000

500

[15]

P.T.O.



4.  Write
(D)
(2)
(3)
(4)
(5)
(6)
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Or

The following particulars have been extracted in respect of

Material B. Prepare a Store Ledger Account on Last-In-

First-Out (L.I.LF.O.) basis

1-3-2010

7-3-2010

10-3-2010

25-3-2010

Issues

9-3-2010

15-3-2010

30-3-2010

Purchased 400 units @ Rs.

Purchased 600 units @ Rs.

Purchased 500 units @ Rs.

Issued 400 wunits

Issued 200 wunits

Issued 800 wunits.

short notes on (any four) :

Importance of Double Entry

Classification of Accounts

Objects of Cost Accounting

Limitations of Financial Accounting

Profit and Loss Account

Balance Sheet.

Opening stock 300 units @ Rs. 2.50 p.u.

3.50 p.u.
4.00 p.u.

4.20 p.u.

[20]
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S.Y. B.AA. EXAMINATION, 2011
LOGIC AND METHODOLOGY OF SCIENCE (G-II)
General Paper II
(Formal Logic)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any fwo questions : [10]

(1) Symbolize the following propositions with the help of the symbols
given in brackets (any four) :

(i) Snakes are not all poisonous. (Sx, Px)

(ii) None but the brave deserve the fair. (Bx, Fx)

(i) If all officers present are either captains or majors then

either some captains are present or some majors are

present. (Ox, Px, Cx)

(iv) If something is wrong then it should be rectified.

(Wx, Rx)

(v) If all dogs are carnivorous, then Rover is carnivorous.

(Dx, Cx, r)

P.T.O.



(2)
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Prove the validity of the following arguments (any two) :
(i) All dancers are graceful. Mary is a student. Mary is
a dancer. Therefore some students are graceful.

(Dx, Gx, Sx, m)
(@) ® Ox o Ex) /.. Da o [(y) By o Fy) o Fal
zi1) (1) (@x) Gx v (y) (Gy o Hy)
(2 ®Ix o~Gx) /. x (Gx o x) o (¢ (Gy o Hy)
vy @x Ix o (y) My /.. ® [Ix > (y) Myl

(3) State the difference between propositional logic and predicate
logic.
(4) Explain the revised version of E-I.

2. Answer any four questions : [20]
(1) Explain the kinds of relational propositions with examples.
(2)  Symbolize the following relational propositions using the indicated

symbols (any fwo) :

(i) Everything is attracted by everything. (Axy)

(ii) Bad men never have friends. (Bx, Mx, Fxy)

(iit) Every dog has his day. (Dx, Yx, Bxy)

(iv) Somebody gives money to charity. (Px, Cx, Mx, Dxyz)
(3)  Construct a formal proof of validity for the following arguments

(any one) :
(i) ® (Ex o Ax) /.. x) [3y) (Ey . Hxy) o (Jy) (Ay . Hxy)]
(@) ) [Fy Byx > (z)Bxz] /.. (y)(2(Byz > Bzy)

2



(4)
(5)

(6)

(7)
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(ii7)

Any friend of Al is a friend of Bill. Therefore any one
who knows a friend of Al knows a friend of Bill.

(Px, Fxy, Kxy, a, b)

Write a short note on Transitivity.

Prove the validity of the relational arguments (any one) :

(2)
(it)

(ii7)

x)(y) Rxy o ~ Ryx) /.. (x) ~ Rxx

(1) Wtd

(2) Wdh /.. Wth

A cadillac is more expensive than any low-priced car.

Therefore no cadillac is a low-priced car. (Cx, Lx, Mxy)

Symbolize the following propositions using the indicated symbols

(any three) :
(1) Mary can tolerate any one but John. (Txy, Px, j, m)
(2) There is at least one applicant. (Ax)
(3) The author of Hamlet was a genius. (Gx, Axy, h)
(4) The tallest mountain is to the north of India.
(Mx, Txy, Nx)
(5) Al is on the team and can outrun any one on it.
(Tx, Oxy)
Demonstrate the following (any one) :
(@) Fx o2 Q =I[3x Fx o Ql
(@) Gy [ Fx o Q]
@) x @y Fx o Gy o [® Fx > Qy) Gyl
(v) ® Gy Fx . Gy = Qy ® Fx . Gy)
3 P.T.O.



3. Attempt any three questions :

(1)

(2)
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[30]

Prove the following theorems with the help of the Axioms

given below (any two) :

Axioms

@ @ vp op

@) a9 > v g

(@ii)) v oD@ v p

v) v vy o@ v @ v r)
W @>19 2@ v 20 v i)
Theorems

@ FH® >2~p > ~p

@) @ > > q)

@) =@ 2@ v p)

) @ 29 o@@ o1 > @ > 1)
@ =@ >2~9 5@ >~ p

Write short notes on (any fwo) :

(i) Logical structure of a relational proposition.

(i1) Definite description.

(ii1) Axiomatic system.

(iv) Individual constants and predicate constants.

4



(3) Identify and explain the mistakes in the following erroneous
proofs (any two) :

O @O = Fx . Gx) /o (%) Fx

@) Fx . Gy
(iii1) Fx 2, simpl

(iv) Fx 1, 2-3, EI

(v) x) Fx 4, UG.

am ¢ & Gy F =~ Fy [/ .. Ix Fx = ~ Fx)
@) Gy Fx = ~ Fy) 1, Ul
(iii) Fx = ~ Fx
r(iv) (Ix) Fx = ~ Fx) 3, E-G
(v) (Hx) Fx = ~ Fx) 2, 34, E.L
In @ ® Gy F =~ Fy) /. @y F = ~ Fy)

(i) @Qy) Fy
av) @) Q@Qy) Fx /.. x)Fx

~ Fy) 1, UL

(i) Fy
r(iii) (x) Fx 2, U.G.
(v) x) Fx 1, 2-3, E.L

(4) Answer any two :
(i)  Preliminary version of U.G.
(i1) Singular and general propositions
(iti) Free and bound variables
(iv) Method of proving invalidity
[3901]-268 5 P.T.O.



(1)

(2)
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Answer any one question : [20]

Prove the invalidity of the following arguments (any four) :

(D

(ID)

(IID)

(IV)

(V)

(A)

(B)

(@)
(it)
(2)
(it)
(2)
(it)
(2)
(it)

x (Hx o ~ Ix)

(Fx) Jx . ~ Ix) /.. x) Hx > Jx)

(Fx) (Kx . Lx)

(Fx) (~ Kx . ~ Lx) /o (Fx) (Lx . ~ Kx)
(3x) (Ax . Bx)

AC /.. BC

x) Wx > Hx)

(x) (Ex > Hx) /.. x) Wx > Ex)

No novelists are observant. Some poets are not observant.

Therefore no novelists are poets. (Nx, Ox, Px)

Define set. Explain the kinds of sets with examples.

Write the following sets :

A =
B =
(D)
(i)
(ii1)
(iv)
(v)

{1, 3, 4, 2, 9}
{1, 2 + 1, 1 + 8, 10, 2 + 0, 4, 1008}
A U B

A B

> > W

A
B -~
A



(WS ®aial)

q% : o\ A TR TOT : 80
g :— (i) Wd YA Hisfau ofemds .

(i) oSl H YO O Fie.

({ii)) T TUSH TEAUAR] TeEl.

1. WoeURl UGG /M WA "l [10]
(1) T faaae sua oel O aued fo=eT &0

(1) s 99 hral foul F9ard. (Sx, Px)

(i) TR I SHKrd  STATETS  STHET. (Bx, Fx)

(2)
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(iii) SURYd 3OS Hd IER SR Fed fhar UoH Ao ™

Thdl FlEl FH R M fohar & ASH TR 2Rq.

(Ox, Px, Cx)

(jv) S wEl fOuee o8¢ W 1 Tqex oo difes.  (Wx, Rx)
(v) T TTs FJ AMYTE G, W T AMYLH 3.

(Dx, Cx, r)

TG ST Jaaal g w0 (RO EF)
(i) 9d Tk Uea oIFaM. #4 fomnfet e A8 Afdewr o
RUA HE foenel Teaw smRd. (Dx, Gx, Sx, m)
Gi) ® Ox o> Ex)/ .. Da o [(y) By o Fy) o5 Fal
@ii) (1) (@x Gx v (y) (Gy o Hy)
(2 ®Ix o~Gx) /. x (Gx o x) o (¢ (Gy o Hy)
Gv) A Ix o (y) My /.. ® [x > (y) Myl

7 P.T.O.
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(3) foum dewsme 9 fadlm RIS Ao Wl GRM. 390 .
(4) EI =1 fouel guiid gt s .
2. SUE WX WA Hed [20]
(1) Yoyart foum= UeR /RO <9 9i.
(2) Toe dayaEl faane koo fos amed o=t &0 (e
)
(i) YAk M YAk TeeIhgd Shbd  2d. (Axy)
(i) dEeS HOUMEM wd A T, (Bx, Mx, Fxy)
(iii)) 9% pA@ el oo sl (Dx, Yx, Bxy)
(jv) HIVTAT gAlEE T Iur Tl (Px, Cx, Mx, Dxyz)
(3) UG ATAHEN Al Hg H (FUNE  Tek)
() & Ex o Ax) /.. x) [@y) @y . Hxy) o (Jy) (Ay . Hxy)]
(1) x [Ey) Byx > (2)Bxz] /.. (y)2)Byz > Bzy)
(iii) @A el e faeEn 99 oe. wWuE sfgen e S
osrdl ol fogen fisfel eflesedl.  (Px, Fxy, Kxy, a, b)
(4) YaTfeqal weuER wiyw v fom
(5) WOle FagdaEl SIHEE goaadl 9 R (FIOKR UeR)

(2) x)(y) Rxy o ~ Ryx) /.. (x) ~ Rxx
@) (1) Wtd
(2) Wdh /.. Wth

Ir\v A o~

(iii) “hicSewh TEl HIUE HH fhAd=a TMEMUL HEM THd. U

¥ (aWa) N a

HIUE! hfsod el &H fead=l Mer 79d. (Cx, Lx, Mxy)




(6)

(7)

e faume foow fog amed fa=ied &0 (S o )
(1) = ek S Higd hivleredgl HeRie 6. (Txy, Px, j, m)

(2) TR_A TF iR SR (Ax)
(38) TrCAl TEE FAWEH AR (Gx, Axy, h)
(4) Fald 39 Ydd URAE WA IR (Mx, Txy, Nx)

(5) @ WU STg oMUl Telie ®UMERE o AF && IRl

g = (SRl Teh)

@ ®®Fx > Q =I[3Ex F > Ql

(i) Gy [ Fx > Ql

(i) x @Ay Fx o Gy o [® Fx > 3y Gyl
(v) x) Gy Fx . Gy = Gy ® Fx . Gy

3. IR @ WA dredr

(1)
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Toe T Row foEr=a oER fag &0 (FIrE]

AR

@ © vp op

@) a9 > v g

(itt) v oD@ v p

(v) v vy o@Q@ v p vr)
W @>19 >2@ vg 20 v i)
R

@ =@ >~p > ~p

9

(Tx, Oxy)

[30]
CiE)



@) =@ > 2 q)
(@ir) =@ > @ v p)
Gv) PP o9 2@ o1V o> @ > 1)

w @ o>~ o@Q@ >~ p
(2) deRd 9 W (HUER EF)

(i) Gaverdl faumrl ke A

(ii) TAfR=a oo

(iii) SISTIAM  Jomet.

(jv) =afR =R Ao faeg =
(3) WG ghioa fagamHdie @ ea 9 W & (SR |F) ¢

O @O = Fx . Gx) /.. (%) Fx

(i) Fx . Gy
r(iii) Fx 2, simpl

(iv) Fx 1, 2-3, EI

(v) x) Fx 4, UG.

am @ & Gy F = ~TFy [/ .. 3Fx Fx = ~ Fx)
@) Gy Fx = ~ Fy) 1, Ul
(iii) Fx = ~ Fx
r(iv) (Ix) Fx = ~ Fx) 3, E-G
vy (Hx) Fx = ~ Fx) 2, 34, E.IL
(D) @) & @y Fx =~ Fy) /. Gy & = ~ Fy)
@) Qy Fy = ~ Fy) 1, U.L

[3901]-268 10



(4)

(1)
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Iv) () (@Qy) Fx /.. X)Fx

(1) Fy
r(iii) (x) Fx 2, U.G.

(iv) (x) Fx 1, 2-3, E.L
EZUn I I ER B
() UG =1 femret waftes s
(i) Tewar efor W o
(iii) TR SAMT dg =N

(iv) AP T9g HIOIAET Tgdl.

SR Weh TET Hiedl [20]

oG AIAMET FgFd g w0 (FUEE AR
O O ®Hx >~ Ix)
@) (GFx) Ux . ~ Ix) /.. ®x) Hx o Jx)
an @ (@x (Kx . Lx)
@) (Fx (-~ Kx . ~ Lx) /o0 (3x) (Lx . ~ Kx)
(I (@) (3x) (Ax . Bx)
(it) AC /.. BC
Iv) @) & Wx 5 Hx)

(1) x) (Ex o Hx) /.. X Wx o Ex)

(V) Tl weaiar s @ &@ ®dl Higes "k "o

Thel HIEIIRR Hhal gl (Nx, Ox, Px)

11 P.T.O.



(2) (A) W9 ®WUN &M@, § WAH HAd UER SRR TR &
(B) wole §9 el

A = {1, 3, 4, 2, 9}
B=1{12+ 1,1+ 8, 10, 2 + 0, 4, 1008}
i) A U B
(i1)
(iii)
(iv)
(v)

M

> W > P
!

!
> > W W

[3901]-268 12
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S.Y. BA. EXAMINATION, 2011
MATHEMATICS
(FMG-2 : Operations Research)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Use of logarithmic table and calculators is allowed.

(iv) Graph paper will be supplied on demand.

1. Attempt each of the following : [16]

()

(11)
(tit)

Find the feasible region of the following L.P.P. :
Max. Z = 3x; + 4x9
subject to 3x; + 2x9 = 6
x1 =1

x1 20, x9 2 0.
Define Unrestricted variables and Artificial variables.
Write the dual of the following L.P.P. :
Min. Z = 2xy + 3x9
subject to 3x; + bx9 < 4

2x1 — x9 = 3

P.T.O.



(iv)

(v)
(vi)

(vii)

When do we say that the assignment problem has multiple

optimal solutions ?

What is ‘two person zero sum’ game ?

State the principal assumptions of a sequencing problem.

Give any two situations where replacement model is

applicable.

(viit) Write #fwo differences between Event and Activity.

2. (A

[3901]-258

Attempt any one of the following : [6]

(2)

(i1)

Solve the following L.P.P. by Simplex method :
Max. Z = 2xq; + bx9
subject to x; + 3x9 < 3
3x1 + 2x9 < 6
x1 20, x9 2 0.
Solve the following L.P.P. by dual Simplex method :
Min. Z = x1 + x9
subject to 2x; + x9 = 4

x1+7x227



(B)
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Attempt any #fwo of the following : [10]

(2)

(i1)

Solve the following L.P.P. by graphical method :
Max. Z = 3xq; — 2x9
subject to x7 + x9 < 1
2x1 + 2x9 2 4
x1 20, x9 2 0.

A company has 5 jobs to be done. The following matrix
shows the return in rupees on assigning jth (¢ = 1, 2,
3, 4, 5) machine to the jth job j = A, B, C, D, E. Assign
the five jobs to the five muchine so as to maximize the

total expected profit.

Job

Machine 3 3 12 5 14 6

3 P.T.O.



(itzi) Find the I.B.F. solution for the following T.P. by Matrix

Minima method.

Destination
D, D, Dg D4 Dg | Supply
0, | 4 2 3 2 6 8
Origin Oy | 5 4 5 2 1 12
O3 | 6 5 4 7 3 14
Demand | 4 4 6 8 8
3. (A) Attempt any ae of the following : [8]
(i)  Solve the following T.P.
D; Dy Dg Dy | Available
0, |1 2 1 4 30
O, | 3 3 2 1 50
O3 | 4 2 5 9 20
Requirement | 20 40 30 10
(i1) Solve the following T.P. for maximizing profit :
Destination
D; Dy D3 Dy | Capacity
A 21 16 25 13 | 11
Factory B 17 18 14 23 13
C 32 27 18 41 | 19
Demand | 6 10 11 15 | 43
[3901]-258 4



(B) Attempt any one of the following : [8]

(i)  Solve the following game using dominance principle :

Player B
I II III IV V
I 3 5 4 9 6
Player A II |5 6 3 7 8
IIT | 8 7 9 8 7
IV | 4 2 8 5 3
(i1) A project schedule has the following characteristics :
Activity Time (in days)
1—2 3
2—3 4
2—4 5
3—4 0
35 3
3—7 9
45 6
4—6 5
5—6 1
5—T7 8
6—7 6

Construct a network diagram and find critical path.

[3901]-258

P.T.O.



4. (A)

[3901]-258

Attempt any one of the following : [6]

(2)

(i1)

The following table gives the running costs per year and

resale price of a certain equipment whose purchases price

is Rs. 50,000.
Year Running Cost Resale Value

(Rs.) (Rs.)
1 1,500 3,500
2 1,600 2,500
3 1,800 1,700
4 2,100 1,200
5 2,500 800
6 2,900 500
7 3,400 500
8 4,000 500

Determine at which time the equipment be replaced.

A machine costs Rs. 10,000. Annual operating cost is
Rs. 400 for the 1st year and then increased by Rs. 800
every year. Determine the best age to replace the machine.
If the optimal replacement policy is followed, what will
be the average yearly cost of owning and operating the

machine ?



(B) Attempt any #wo of the following : [10]

(i)  There are five jobs each of which must go through three
machines A, B and C in the order ABC Processing time

are given below :
Jobs

1 2 3 4 5

A 8 10 | 6 7 11

Machine B 5 6 2 3 4

C 4 9 8 6 5

Determine a sequence for five jobs, what will minimum

elapsed time ?
(ii) Solve the following game :

B
I II

14 6.
A
2 { 2 —3}
(iit) Solve the following game by dominance principle :

B
B; B; By B, Bj
A4 42 4 6
AAy|8 6 8 -4 0
Az (10 2 4 10 12

[3901]-258 7 P.T.O.



5. (A) Attempt any one of the following : [6]

(i) Find the sequence that will minimize the total elapsed

time required to complete the following tasks :

Tasks Time on Time on
Machine I Machine II
A 2 6
B 5 8

e -] Q
D ©
w e

=
0
©

G 7 3
H 5 8
I 4 11

(i1) Solve the following game graphically :

Player B
I II
12 4]
2| 2 3
Player A .
3|3 2
4| -2 6 |

[3901]-258 8



(B) Attempt any one of the following : [10]

(i)  The following table shows the jobs of project with their
duration in days. Draw the network and determine the

critical path. Also calculate all floats.

Jobs Duration
(in days)
1—2 2
13 2
1—4 2
2—5 4
3—6 5
3—7 8
47 4
5—8 2
6—38 4
7—9 5
89 3
9—10 4

[3901]-258 9 P.T.O.



(it) The following table shows the jobs of a network along

with their time estimates in days as follows :

Time t, t, th
Job
1—2 1 2 9
2—3 1 4 7
2—4 2 4 12
0 0 0
35 2 3 4
3—7 6 8 16
4—5 4 6 8
4—6 3 5 7
5—6 1/2 1 3/2
5—7 5 7 15
6—7 3 8 13

(a¢) Draw the project network.

(b) Find the critical path.

[3901]-258 10



Total No. of Questions—4] [Total No. of Printed Pages—4+2
[3901]-259
S.Y. BA. EXAMINATION, 2011
MATHEMATICAL STATISTICS (General)
(Discrete Probability Distributions and Statistical Methods)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Symbols and abbreviations have their usual meanings.
(iv) Use of calculator and statistical tables is allowed.

(v)  Graph paper will be provided on request.

1. Attempt any two of the following : [2x5=10]
(a) Define the following terms with an illustration :
(i) Countably infinite sample space.
(ii) Cumulative distribution function on infinite sample space.

(b) Obtain Moment Generating Function (M.G.F.) of Poisson

distribution with parameter ‘m’. Hence find its variance.

(¢c) With usual notations, describe a large sample test for testing
Hy : P = Py against Hy : P < Pj. Use « level of significance
(Lo.s.).

P.T.O.



(d)

(@)

(b)

(c)

(d)

[3901]-259

Distinguish between chain base index numbers and fixed base

index numbers.

Attempt any four of the following : [4x5=20]

Define the term ‘Expected value of a random variable (r.v.).

State and prove any fwo properties of it.

If X, and X, are two independent geometric r.v.s having common

p.m.f. as given below :

k p—
P(X=Fk) = {GOP , k=0,1,2........

obtain the conditional distribution of X; given X; + Xy = n,

where n is any non-negative integer.

Define the term ‘cumulative generating function’ (c.g.f.). Derive
c.g.f. of the Negative Binomial distribution with parameters

k and p.

In a random sample (r.s.) of 1,000 persons from village ‘A’.
100 were found to be vegetarian. Similarly in other village
‘B’, 180 persons were vegetarians among a r.s. of 1,500 persons.
Do you find a significant difference in the food habits of people

of two villages ? Test at 5% l.o.s.

2



(e)

Describe stepwise procedure of finding seasonal indices by ratio

to moving average method.

(/Y With usual notations, show that :

[3901]-259

brys = b2 —by13 b3y

1 - bgg b3z -
3. Attempt any three of the following [3x10=30]
(@) (@) If X is a Poisson variate with parameter ‘m’ and Y is
another discrete r.v. whose conditional distribution for
given X is given by :
P[Y=r|X=x]= _x pra-p*T
ri(x—r)! ’
r=0,1,2,........ X
O0<p<l1
then show that the marginal distribution of Y is a Poisson
distribution with mean mp. [5]
(ii) Define the term m.g.f. of bivariate r.v. State and prove
its any #fwo properties. [5]
(b) (1) Discuss various components of time series. [8]
(it) Define service rate and averge queue length in queuing

models. [2]

3 P.T.O.



(c)

(d)

(e)

[3901]-259

(2)

(i1)

(2)

(i1)

(2)

(i1)

Derive recurrence relation between raw moments of Poisson

distribution. [5]

An item is produced in large numbers. The machine is
known to produce 5% defectives. A quality control inspector
is examining the items by taking them at random. What
is the probability that at least 4 items are to be examined

in order to get 2 defectives ? [5]

Describe the logistic regression with one regressor in
detail. State any one real situation where it can be

used. [6]

Explain the terms : [4]

(D Residuals.

(IT) Coefficient of multiple determination.

State and prove lack of memory property of geometric

distribution. [5]

Explain the terms shifting of base, splicing and deflating

related to index numbers. [5]



4, Attempt any one of the following : [1x20=20]

(@)

Blg By %505 1

(b)

[3901]-259

()

(i1)

(ii1)

(2)

(i1)

Obtain the equation of regression plane X; on X, and

X3 by the method of least squares. [10]

Describe the test procedure to test Hj :p =py against
, Where is unknown population correlation

coefficient. (4]

A television repairman finds that the time spent on his
job follows exponential distribution with mean of 30 minutes.
If he repairs sets in order in which they came in and
if the arrival of sets follows a Poisson distribution with

an average rate of 10 per day of 8 hrs, calculate :
(I) The expected number of TV sets in the system.
(I) The expected idle time of repairman. [6]

Define the term multiple correlation coefficient in case

of trivariate data. Also, with usual notations, show that :
[8]

Define ‘Partial correlation coefficient’ in case of trivariate
data. Derive its expression in terms of total correlation

coefficients. [8]

5 P.T.O.



(ii1) The mean yield of wheat due to variety ‘A’ was 200 pounds
per acre with a standard deviation of 10 pounds from
a sample of 100 plots. Variety ‘B’ gave mean yield of
210 pounds per acre with a standard deviation of 12
pounds from a sample of 100 plots. Test whether variety
‘B’ is better than variety ‘A’ in giving better average yield.

Use 5% l.o.s. (4]
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Total No. of Questions—?5]

Time :

N.B. :

[3901]-
S.Y. B.A. EXAMINATION, 2011
ENGLISH
General Paper II
(Understanding Fiction)
(2008 PATTERN)

Three Hours Maximum Marks

Texts Prescribed :—

(i) Lord of the Flies : William Golding.
(it) Inside the Haveli : Rama Mehta.

(iit) A Man of the People : Chinua Achebe.
(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

Answer any four of the following :

(@)
(i1)
(ii1)
(iv)
(v)
(vi)

What is the role of Irony in fiction ?

Comment on structure of the novel.

[Total No. of Printed Pages—2

260

: 80

[16]

Differentiate between ‘flat character’ and ‘round character’.

What is personification ? Illustrate.
Explain the element of suspense.

Comment on simile in the novel.

Attempt any four of the following in not more than 150 words

each :

(2)

[16]

Conflict between good and evil is the central theme of the

novel, ‘Lord of the Flies’. Justify.

P.T.O.



(i) Discuss the use of simile and metaphor in ‘Lord of the Flies’.

(iit) Examine the role of Fire in ‘Lord of the Flies’.

(iv) Write a brief note on the element of contrast between Ralph
and Jack.

(v) Comment on the structure of ‘Lord of the Flies’.

(vi) Is Piggy a static character ? Justify your answer.

3. Attempt any two of the following : [16]
(2) Consider ‘Inside the Haveli’ as a novel of education.
(zz) Sketch the character of Geeta.

(zi1) Comment on the structure of the novel, ‘Inside the Haveli.

4, Attempt any two of the following in not more than 150 words
each : [16]
(i) Betrayal has been portrayed as a major theme in Achebe’s
‘A Man of the People’. Illustrate.
(i1) Sketch the character of Chief Hon. M.A. Nanga.
(ii1) ‘A Man of the People’ is a political novel. Justify.

5. Attempt any four of the following questions : [16]
(i) Bring out the element of satire in ‘A Man of the People’.
(ii) What is the point of view in ‘Lord of the Flies’ ?
(iizt) Describe the setting in the novel, ‘Inside the Haveli’
(iv) Comment on the role of the female characters in ‘Inside the
Haveli’.
(v)  Describe the social setting in ‘A Man of the People’.

(vi) Describe major symbols in ‘Lord of the Flies’.

[3901]-260 2



Total No. of Questions—35] [Total No. of Printed Pages—2
[3901]-261
S.Y. B.A. EXAMINATION, 2011
ENGLISH
Special Paper 1
(Understanding Drama)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
Texts Prescribed :—
(i) The Importance of Being Earnest by Oscar Wilde.
(i1) Death of a Salesman by Arthur Miller.
(iit) Hayavadana by Girish Karnad.
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt any four of the following questions : [16]
(i) Explain the types of characters.
(ii) Define drama and explain its four features.
(iiz) What is stage property ? Give examples.
(iv) Explain the structure of the play.
(v) Define comedy. Mention its types.

(vi) What is point of view ? Give examples.

2. Attempt any four of the following questions : [16]
(i) Draw in brief, the character sketch of Lady Bracknell.

(i1) Consider ‘The Importance of Being Earnest’ as a social satire.

P.T.O.



(iiz) Comment on the theme of love and marriage as treated in
‘The Importance of Being Earnest’.

(iv) Write a note on minor characters in ‘The Importance of Being
Earnest’.

(v)  What role does Miss Prism play in ‘The Importance of Being
Earnest’ ?

(vi) Attempt in brief the character sketch of Cecily Cardew.

3. Attempt any two of the following questions : [16]
(i) Discuss ‘Death of a Salesman’ as a modern tragedy.
(i) “Willy Loman is merely a common man with common failures.”
Explain.

(zi1) Draw the character sketch of Linda Loman.

4, Attempt any two of the following questions : [16]
(i) Compare and contrast Kapila and Devadatta.
(i) Discuss the theme of the play ‘Hayavadana’.
(i) What are the peculiarities of the plot of ‘Hayavadana’ ?

5. Attempt any four of the following questions : [16]

(i) Examine ‘The Importance of Being Earnest’ as comedy of manners.

(i) “Conflict is the soul of drama.” Explain with reference to ‘Death
of a Salesman’.

(iii) Comment on the use of flashback technique in ‘Death of a
Salesman’.

(iv) Write a brief note on the use of stage properties in ‘Hayavadana’.

(v) Summarize the existential element in ‘Hayavadana’.

(vi) Comment on wit and humour in ‘The Importance of Being

Earnest’.
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Total No. of Questions—35] [Total No. of Printed Pages—3
[3901]-262
S.Y. B.A. EXAMINATION, 2011
ENGLISH
Special Paper II
(Understanding Poetry)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
Texts Prescribed :— Poetry Down the Ages.
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer any four of the following : [16]
(i) Write any four salient features of poetry.
(i1) Define alliteration and give examples.
(it) What is Ode ? Write any two of its characteristics.
(iv) Comment on rhyme in poetry.
(v) What is war poetry ? Write any {wo of its characteristics.

(vi) Define hyperbole and give two examples.

2. Answer any four of the following : [16]
(i) Why should man not fear death and from what fears does
death release man according to William Shakespeare in

‘A Requiem’ ?
(i) Discuss how ‘To His Coy Mistress’ deals with love and death.
P.T.O.



(ii7)

[3901]-262

“‘The Chimney Sweepers’ forcefully brings out William Blake’s
deep sense of outrage at the wretched conditions of Chimney

Sweepers.” Comment.

(iv) What picture of Nature does Wordsworth paint in ‘Lucy Gray’ ?
(v) Explain how ‘To a Skylark’ deals with the contrast between
the sorrow of human life and the joy of a skylark.
(vi) Explain how Keats’s ‘Ode On a Grecian Urn’ deals with mortality
of human life and permanence of art.
3. Answer any two of the following : [16]
(i)  Write a note on the bitter and sweet memories that the last
prince is left with in ‘The Last of the Princes’.
(i1) Explain the significance of the title “The Road Not Taken’.
(izz) “‘Ballad of the Landlord’ highlights the harrassment of the
black community in America long after abolition of slavery and
declaration of equal rights.” Discuss.
4, Answer any two of the following : [16]
(i) Discuss how Philip Larkin moves from loss of faith to faith
and from disbelief to belief in ‘Church Going’.
(it) What are the various things that inspired the poet like gods
in the poem ‘Gods’ ?
(ii1) Consider ‘Give All to Love’ as a love lyric.

2



5. Explain with reference to the context any four of the following : [16]
(i) At once a voice arose among
The bleak twigs overhead
In a full-hearted evensong

Of joy illimited;

(ii) In the circle the epitaphs run : Florence R ........ , darling wife.
of Captain R .......... R, aged nineteen, of cholera ..........
Helen, beloved daughter of Mr. & Mrs. .......... , of cholera.

(iit) My fingers are stiff :
I can’t write even two lines.
Letters come in from all sides.
(iv) Two roads diverged in a wood, and I .......... .
I took the one less traveled by,
And that has made all the difference.
(v) I am the darker brother.
They send me to eat in the kitchen
When company comes,
But I laugh,
And eat well,
And grow strong.
(vi) Are God and Nature then at strife,
That Nature lends such evil dreams ?
So careful of the type she seems,

So careless of the single life;
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Total No. of Questions—35] [Total No. of Printed Pages—4+2
[3901]-264
S.Y. BA. EXAMINATION, 2011
MATHEMATICS
MG-2 : Differential Equations and Linear Algebra
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(i)  Solve the differential equation :

2
ay 1+y°
dx 1+ x2

(i) Find an integrating factor of the differential equation :
y(x2y2 + xy + 1) dx + x(xzy2 —xy + 1) dy = 0.
(iizr) Find orthogonal trajectories of xy = c.
(iv) ¥ fO =xD + 2 and g = D + 5, then find fAD)g(D)y.
w) V= R3and W = {(x, y, 2) € Viz = x + y}, then find
basis for W.
(vi) If a linear transformation T : V — V, where V is a vector

space such that T is one-one, then show that ker T = {0}.

P.T.O.



(vii) let poy have the inner product :
1

(p,q)= [ p(x)q(x)dx, p,qe p,
=}

2 are orthogonal.

Show that p(x) = x and g¢g(x) = «
(viii) Determine whether a map T : R2 — RZ defined by

T(x, y) = (0, y), is a linear transformation.

2. (A) Attempt any one of the following : [6]
(i)  Define linear differential equation of first order and first
degree. Explain the method of solving it.

(ii) Let AD) be a polynomial in D = a with constant coefficients

X
and V prove that :
1 ax 1 ax
e = e,
f (D) f(a)
provided f(a) # O.
(B) Attempt any two of the following : [10]

(i)  Solve :
(3xy2 - xz) dx + (3x2y - 6y2 - 1) dy = 0.
(i1) Solve :

(Dz—gy=2+3x

[3901]-264 2



3. A

(B)

[3901]-264

(iit) Bacteria multiply at the rate proportional to the
bacteria present. If the original number N, doubles in
3 hours, show that the number of bacteria will be 4N,

in 6 hours.

Attempt any one of the following : [8]
(@) (a) Solve :
(x2 +y2+2x)dx+2ydy=0.
(b) Solve :
(D2 + 2D + 2) y = sin 3x.

(i1) Explain the method of solving the differential equation :

by the method of reduction of order.
Attempt any one of the following : [8]
i) IT:V — W is a linear transformation from finite
dimensional vector space V to vector space W, then prove
that :
dim V = dim ker T + dim Im T.

3 P.T.O.



(z1) (a) Determine whether the set {(0, 1, 1), (0, 0, 1),
(1, 1, 1)} forms a basis for R3.
(b) For any vectors x, y in any inner product space,

show that :

e+ P + e = o = 2]l + 2]y

4, (A) Attempt any one of the following : [6]
(@) If B = f{eq, eg, wuuue. , e,} is a basis for a vector space
V, then show that every u in V can be expressed

uniquely as :

(i) If S is a non-empty subset of a vector space V,
then prove that L(S) is the smallest subspace of V
containing S.

(B) Attempt any two of the following : [10]

(2) Show that the set

(lll)(_llo)(ll‘ﬁ)
555 22 )33 3

is orthogonal with respect to the Euclidean inner
product. Convert it to an orthonormal set by normalising

the vectors.
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5. (A

[3901]-264

(i) Let T : R3 — R3 be defined as :
T(x, Y, z) = (x, %y - %z, %y + %z)
Show that T is orthogonal transformation.

(ii1) Apply Gram-Schmidt process to transform the basis
{(r, 1, 1), (-1, 1, 0), (1, 2, 1)} into orthonormal
basis.

Attempt any one of the following : [6]

(i) Let V be an inner product space. If x, y € V, then
show that |<x, y>| < |||, |lyll where x # 0, y # 0. Further,
equality holds if and only if one is a multiple of the
other.

(i1) Let V and W be vector spaces. Let {V{, Vo, ... , V!

be a basis of V. Let w;, 1 <i < n be any set of vectors
in W. Show that there exists a unique linear transformation
T:V — W such that :

T(V) = w;.

[4

5 P.T.O.



(B) Attempt any two of the following : [10]

(2)

(i1)

Find eigenvalues of the following matrix A. Also find the

eigenvector corresponding to the smallest eigenvalue :

0O 0 2
A=0 2 O
2 0 3

LetT:R2—>R2begivenbyT(x,y)=(x+y,x—y)
and let B = {(1, 1), (1, -1)} be basis for RZ. Compute

the matrix representation of T with respect to basis B.

(iiz) Find the rank and nullity of matrix :
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Total No. of Questions—5+5] [Total No. of Printed Pages—8+3
[3901]-265
S.Y. BA. EXAMINATION, 2011
MATHEMATICS
(@) MS-1 : Number Theory and Complex Variables
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(i) Let p be a prime and 1 < r < p — 1 be an integer. Prove

that :
D
I

(i1) Show that square of an integer is either of the type 3K or

p

3K + 1.
(zzz) Prove that :
18 = —1(mod 23).

(zv) Evaluate :

Y u(n).

n=1
(v) Evaluate :
5
) z
lim -
z—>12+1

P.T.O.



(vi)

Show that u(x, y) = 2x — x3 + 3xy? is harmonic.

(vii) Determine the points of discontinuities of the function :

2z — 3
Z)=—5——.
f(z) 22492242

(vitz) Evaluate :

2. (A

(B)

[3901]-265

J. (y -x - 3x2i) dz,

C
where C is the straight line segment from 2z = 0 to
z =1+ 1
Attempt any one of the following : [6]

(i) State and prove fundamental theorem of Arithmetic.

(ii) State and prove Chinese remainder theorem.

Attempt any two of the following : [10]

(i) Find the remainder when 1373 + 143 is divided by 11.

(i) Find g.c.d. of 4840 and 1512. Also find x(, yy such that
g.cd. (4840, 1512) = 4840 x, + 1512 y,,.

(iit) Let n be a positive integer. Prove that :

Y, 0(d)=n.

dln



3. A

(B)

[3901]-265

Attempt any one of the following : [8]

(2)

(i1)

Let p be a prime and e be the largest exponent of p
such that p¢ divides n!. Then prove that :
— n
e = 2 |:_L:|
i=1LP

Hence, determine the number of zeros at the end

of 400!.
Let a, b, ¢ be integers sides of a right-angled triangle,
where a < b < c. Show that ab(b? — «?) is divisible

by 84.

Attempt any one of the following : [8]

(2)

(i1)

(a) Prove that the real and imaginary parts of an analytic

function are harmonic.
(b) Find all z such that exp3z = 1i.

Using Cauchy-Gourast theorem obtain the value of :

f e dz,
C
where C is the circle |z|] = 1 and deduce
that :
2n
f eC0s? [sin(e + sin 9)] do=0 and
0
2n
f eC0s0 [cos(e + sin 9)] do = 0.
0
3 PTO.



4. (A)

(B)

5. (A

[3901]-265

Attempt any one of the following : [6]
(i) If Az) is analytic in a region R between two simple closed

curves C; and C,y, then show that :

J. f(z)dz=.|. f(z) dz.
C, C

2

(i) If a function f of a complex variable 2z is differentiable
& 2z, then show that it is continuous at z.
Attempt any two of the following : [10]
i) ¥ f(z) = u + iv is an analytic function where

u= x2—- y2 — 2x + 1, then find v.
(1) Find all values of log(-5).

(zzz) Evaluate :

f 22+ 6 dz,
c ? -
where C is the circle |z — 2| = 1.
Attempt any one of the following : [6]

@ If0< |z + 1| < 2, then expand :

f(z)=

1
(z+1)(z+3)

in a Laurant series in powers of (z + 1).

4



(B)
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(ii) State Cauchy’s residue theorem. Hence evaluate :

I §+ 1 dz
o 272z
where C is a circle |z| = 1 taken counterclockwise.
Attempt any two of the following : [10]

(i)  Obtain the Maclaurin’s expansion for Az) = sinz.

(zz) Evaluate :

dx.

T cosx
_'[o x2 +1

(iit) By contour integration, prove that :

T _do  _m
0 5+ 3cos6 2
5 PTO.



[3901]-265
(b) MS-1 : Problem Course Based on Papers
MG2 and AMG2
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions : [16]

(i) Test whether the differential equation :

dy 3x-y+1
dx 2x+3y+4

1s exact.

(i1) Find the integrating factor of the equation :
(x2 +y2 +1)dx—2xydy=0.

(zzz) Evaluate :

(2 + x3) sin (4y)

lim
(x, y) - (O, O) y
(v) If
()
X
then prove that :
ou ou
— —=0.
* 0x Y dy

[3901]-265 6



(v)

(vi)

(vii)

(viii)

2. (A

[3901]-265

Determine whether the set {(-3, 1, 5), (6, =2, —10)} is linearly

dependent.

Define F : R2 — R2 defined by F(x, y) = (x + y, y). What

is the matrix of F ?

If
F =a cosot + b sinot,
show that :
r x % —oaxb.
Evaluate :
[[ 7.nds,

where S is closed surface.

Attempt any one of the following : [8]
(i)  Solve :
6y2 dx - x(2x3 + y) dy = 0.
(ii) Show that the family of curves :
% ¥ cy—z i
where C is a parameter.
7 PTO.



(B)

3. A
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Attempt any two of the following : [8]

(i) Show that the function defined by :

2xy .
B 5 , 1if (x, y) # (0, 0)
x- +y

=0 , if (x, y) = (0, 0)

flx, y)

is not differentiable even though £.(0, 0), fy(O, 0) exist.

(ii) Expand sinxy in powers of (x — 1) and (y —g) upto

and including second degree terms.

(iii) Discuss the function x2 + y3 — 3axy (¢ > 0) for maxima
and minima.
Attempt any one of the following : [8]

(i) By using variation of parameter, solve the equation :

X

’” 4 e
Y =2y +y=—.
X

(zz) Evaluate :

”.[ (x+y+Z)(x+y_z)(x—y—2)dxdydz
R

where R is a tetrahedron bounded by the planes
x +y +2=0, x +y -2=0 x -y -2z =20,

2 — z — 1 = 0.



(B) Attempt any one of the following : [8]
(i) Find the kernel and image of T : R3 — R3 given by
T(x, vy, 2) = (x —y, x + 2y, z). Find the basis for kernel

of T and image T.

(i1) Applying Stokes’ theorem to prove that :

45 (ydx+zdy+xdz)=—\/§7[a2
C

where C is the curve given by :

2 2

X +y2+z — 2ax — 2ay =0, x + y = 2a
and begins at the point (2a, 0, 0) and goes at first below

the z-plane.

4, (A) Attempt any one of the following : [6]
(i) Prove that, A map T : R2 — R2 given by :
Tx, y) = (x + y, x — y)
is a linear isomorphism.

@) If

find the characteristic polynomial of A and verify Cayley-

Hamilton theorem.

[3901]-265 9 PTO.



(B) Attempt any two of the following : [10]
(i)  Determine whether the set :
{a, 2, -3), 1, -3, 2), (2, -1, 5)}
is basis of R3. Give reasons.
(ii) Let RS have the Euclidean inner product and W be
the subspace spanned by the orthogonal vectors
vy = (@, 0,1, vg =(1,0,1) and if v = (1, 2, 3)
then find orthogonal projection of © on W and component
d u orthogonal to W.
(izi) Find a basis for
W= {(x, 5 2)/z=x+y}

and dimension.

5. (A) Attempt any one of the following : [6]
@ If

_ — — —
F=(2y+3)i +(x2)j +(yz—x)k>

evaluate

along the following path C :
(@ x = 2t2, y =¢, 2z =3 from t =0 to ¢t = 1.
(b) The straight line from (0, 0, 0) to (0, 0, 1) then

to (0, 1, 1) then to (2, 1, 1).

[3901]-265 10



(B)
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(@) If
_ — — —
f=yi +(x—2xz)j—xyk,

evaluate

g(foyﬁdS

where S is the surface of the sphere x2 + y2 + 22 = o2
above the xy-plane.

Attempt any two of the following : [10]

(z)  Find the values of constants a, b, ¢ so that the directional
derivative of ¢ = axy? + byz + cz%3 at (1, 2, -1)
has a maximum magnitude 64 in direction parallel to
z-axis.

@) If

f= x2z;> - 23/322;> + xyzzz

find div f and curl f at (1, -1, 1).

(zzz) Show that :

_ —

- -
F:(siny+z)i +(xcosy—z)j +(x—y)k
is irrotational and find a function of ¢ such that :

F = Vo.

11



Total No. of Questions—5+5] [Total No. of Printed Pages—8+2

[3901]-266
S.Y. B.A. EXAMINATION, 2011
MATHEMATICS
(MS-2(A) : Combinatorics and Computational Geometry)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory (in the chosen paper).
(i1) Figures to the right indicate full marks.

(iit) Use of logarithmic tables and calculators is allowed.

1. Attempt the following : [16]

() Let A = {aq, , a,} and B = {0, 1}. Determine the number

)
of onto functions from A to B.

(i) Given a group of n women and their husbands, how many
people must be chosen from this group of 2n people to guarantee
that the set contains a married couple ?

(iit) There are eight persons A, B, C, D, E, F, G, H. Determine
the number of ways in which they can be seated at a round
table so that A and B do not sit in adjacent seats.

(fv) Solve the recurrence relation a, = a where n > 2 and

n—2»

a0= a1=1.

P.T.O.



(v)

(vi)

(vii)

(viii)

2. (a)

[3901]-266

What is the effect of the transformation matrix :

on a two-dimensional object ?

Give two distinct parametric representations of the arc of the
unit circle with centre at origin in the first quadrant direction

by 2, 3 and 5 units respectively.

3 1

1 J to a square,

If upon applying the transformation matrix {

we obtain a parallelogram of area 64 sq. units, determine the

length of each side of the square.

The line segment joining the points A [3, 4], B [5, 6] is transformed

2 1
to the line segment A* B* by the transformation matrix L 4}.

Find the midpoint of A*B*.

Attempt any one of the following : [6]

(i) Let S be a set containing n different objects. Prove that
the number of r-combinations of S, with repetitions allowed

1s



(b)

bR e A < &)

(b)
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(ii) Show by a combinational argument that :
n
()=
r
r=0
Attempt any two of the following : [10]

(1) Find the number of integer solutions of x; + x9 +x3 =24

subject to the conditions and

(ii) Find the coefficient of x’ in

(iiz) Show that given any set of 7 distinct integers, there must
exist 2 integers in this set whose sum or difference is
divisible by 10.

Attempt any one of the following : [8]
(i) Solve the recurrence relation :
a,-12a, _9 +16a,_3=0 for
and
(i) Find a recurrence relation for the number a, of ternary
sequences of length n that contains two consecutive digits
that are the same. What are the initial conditions ? Find
ag.
Attempt any one of the following : [8]
(i) Write an algorithm to generate an ellipse with semimajor
axis ¢ = 4 and semiminor axis b = 1 inclined 30° to the

horizontal with center at (2, 2).
3 P.T.O.



(i1)

4. (a)

(b)
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Given B [1, 1], By [2, 3], By [4,3] and Bg [3, 1] the vertices

of a Bezier polygon, determine seven points on the Bezier

curve.

Attempt any one of the following : [6]

(2)

(i1)

Let PQ and RS be any two line segments transformed

to the line segments P*Q* and R*S* respectively under

a 2 x 2 transformation matrix [T] = . Prove that

PQ and RS are parallel if and only if P*Q* and R*S*
are parallel.

Find the concatenated transformation matrix for the following
transformation :

(1) First rotate about the origin through an angle 45°
(2) Then shearing in X-direction by -2 units.

Apply it on vector [3, 5].

Attempt any #&wo of the following : [10]

(2)

(i1)

Write the transformation matrix for the dimetric projection
with f, = 0.816 S and also find f, and fy.
Generate uniformly spaced 3 points on the hyperbolic segment

in the first quadrant for 4 < x < 8, where the equation

of the hyperbola is

(iiz) Write an algorithm for reflection through an arbitrary plane

in space.



5. (a)

(b)

IA
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Attempt any one of the following : [6]

(2)

(i1)

Develop the transformation matrix for an oblique projection
and hence find the conditions for cavalier and cabinet
projection.

Obtain concatenated matrix representation of the following
transformations in order in a three space :

(p) Translation in x, y and z direction by -1, 2, 1 resp.
(g) Rotation about Z-axis by 90°.

(r) Reflection in XY plane.

Hence find the transformed position vector of the point

A [3 2 1]

Attempt any two of the following : [10]

(2)

(i1)

Generate uniformly spaced 5 points on the parabolic segment
in the first quadrant for 3 < « 12 for the parabola
given by y2 = 12.

Obtain concatenated matrix representation of the following
transformations in order in a three space :

(p) Rotation about Y-axis by 45°

(g) Rotation about X-axis by 90°.

Hence find the transformed position vector of the point

Al0, 1, 5].

(iiz) Reflect the triangle ABC having vertices A [2, 4],

B [4, 6], C [2, 6] through the line x — 2y + 4 = 0.
5 P.T.O.
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(MS-2 (B) : Graphs and Lattices)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Attempt each of the following : [16]
(i) Define a regular graph and give an example.
(i1) Is there a self-complementary graph on 3 vertices. Justify.
(iti) Define a tree and draw a tree on 5 vertices
(iv) Is there a graph on 4 vertices with degrees 1, 3, 3, 2 ?

Justify.

(v) Define a distributive lattice and give an example.
(vi) Prove that sublattice of a distributive lattice is distributive.
(vii) Prove that every chain is a modular lattice.
(viii) Give an example of a Boolean algebra.

2. (a) Attempt any one of the following : [6]

[3901]-266

(i) Prove that a graph G is bipartite if and only if every
circuit in G is of even length.
(i) Prove that a connected graph G is Eulerian if and only

if degree of every vertex is even.
6



(b) Attempt any two of the following : [10]

(i) For the following graph G, find the complement
of G:

(i1) Find incidence and adjacency matrix of the following

graph :
V1 °1 Ug
€2
€ v
7 ey 3
Q O O
U7 U5 63 U4

€6
O

Vg

(iiz) If G is a graph on n vertices, e edges and % components,
then prove that :

o < (n—k)(:;—k+1).

3. (a) Attempt any one of the following : [8]

(i) Prove that a tree with n vertices has (n — 1) edges. Further
prove that every tree has at least two pendent

vertices.

[3901]-266 7 P.T.O.



(i1) Let G be the following graph :

U9
U
1 vg

1)8 1)4

vy s
V6
(1) Find Hamiltonian circuit of G.
(2) Find a spanning tree of G.
(3) Find vertex connectivity and edge connectivity of G.
(b) Attempt any one of the following : [8]
(i) Show that homomorphic image of modular lattice is modular
as well as homomorphic image of distributive lattice is
distributive.

(z1) Prove that a distributive lattice is modular. Is the converse

true ? Justify.

4, (a) Attempt any one of the following : [6]
(i) In a Boolean Algebra B; shows that :
(@an b)) =a'vb' ad

[3901]-266 8



(i) Let L be a lattice of positive factors of 100 under divisibility.

Draw its Hasse diagram. Write all ideals of L.
(b) Attempt any two of the following : [10]
(i) In a lattice L, prove that :
and

(i1) Show that lattice L is a chain if and only if every non-
empty subset of L is a sublattice of L.

(iiz) Let G be a cyclic group of prime power order. Show that

lattice of all subgroups of G is a chain.

5. (a) Attempt any one of the following : [6]
& ¥ Bgox B)tly' ' bex A [(y' A 2) v (y A 2")]
(i) Show that a lattice is modular if and only if for all
a, b, c, L, the three relations and
mply a = b.

(i1) Draw the diagram of the lattice of positive factors of
20 under divisibility and show that it is same as
that of the product of two chains with three and two

elements.

(b) Attempt any two of the following : [10]

(i) Draw the circuit represented by the following function :

[3901]-266 9 P.T.O.



(i) Write the conjunctive normal form of the following function :

(zzz) Show that a lattice L is distributive if :

for all

[3901]-266 10
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S.Y. B.AA. EXAMINATION, 2011
LOGIC AND METHODOLOGY OF SCIENCE (G-II)
General Paper II
(Formal Logic)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any fwo questions : [10]

(1) Symbolize the following propositions with the help of the symbols
given in brackets (any four) :

(i) Snakes are not all poisonous. (Sx, Px)

(ii) None but the brave deserve the fair. (Bx, Fx)

(i) If all officers present are either captains or majors then

either some captains are present or some majors are

present. (Ox, Px, Cx)

(iv) If something is wrong then it should be rectified.

(Wx, Rx)

(v) If all dogs are carnivorous, then Rover is carnivorous.

(Dx, Cx, r)

P.T.O.



(2)
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Prove the validity of the following arguments (any two) :
(i) All dancers are graceful. Mary is a student. Mary is
a dancer. Therefore some students are graceful.

(Dx, Gx, Sx, m)
(@) ® Ox o Ex) /.. Da o [(y) By o Fy) o Fal
zi1) (1) (@x) Gx v (y) (Gy o Hy)
(2 ®Ix o~Gx) /. x (Gx o x) o (¢ (Gy o Hy)
vy @x Ix o (y) My /.. ® [Ix > (y) Myl

(3) State the difference between propositional logic and predicate
logic.
(4) Explain the revised version of E-I.

2. Answer any four questions : [20]
(1) Explain the kinds of relational propositions with examples.
(2)  Symbolize the following relational propositions using the indicated

symbols (any fwo) :

(i) Everything is attracted by everything. (Axy)

(ii) Bad men never have friends. (Bx, Mx, Fxy)

(iit) Every dog has his day. (Dx, Yx, Bxy)

(iv) Somebody gives money to charity. (Px, Cx, Mx, Dxyz)
(3)  Construct a formal proof of validity for the following arguments

(any one) :
(i) ® (Ex o Ax) /.. x) [3y) (Ey . Hxy) o (Jy) (Ay . Hxy)]
(@) ) [Fy Byx > (z)Bxz] /.. (y)(2(Byz > Bzy)

2



(4)
(5)

(6)

(7)

[3901]-268

(ii7)

Any friend of Al is a friend of Bill. Therefore any one
who knows a friend of Al knows a friend of Bill.

(Px, Fxy, Kxy, a, b)

Write a short note on Transitivity.

Prove the validity of the relational arguments (any one) :

(2)
(it)

(ii7)

x)(y) Rxy o ~ Ryx) /.. (x) ~ Rxx

(1) Wtd

(2) Wdh /.. Wth

A cadillac is more expensive than any low-priced car.

Therefore no cadillac is a low-priced car. (Cx, Lx, Mxy)

Symbolize the following propositions using the indicated symbols

(any three) :
(1) Mary can tolerate any one but John. (Txy, Px, j, m)
(2) There is at least one applicant. (Ax)
(3) The author of Hamlet was a genius. (Gx, Axy, h)
(4) The tallest mountain is to the north of India.
(Mx, Txy, Nx)
(5) Al is on the team and can outrun any one on it.
(Tx, Oxy)
Demonstrate the following (any one) :
(@) Fx o2 Q =I[3x Fx o Ql
(@) Gy [ Fx o Q]
@) x @y Fx o Gy o [® Fx > Qy) Gyl
(v) ® Gy Fx . Gy = Qy ® Fx . Gy)
3 P.T.O.



3. Attempt any three questions :

(1)

(2)

[3901]-268

[30]

Prove the following theorems with the help of the Axioms

given below (any two) :

Axioms

@ @ vp op

@) a9 > v g

(@ii)) v oD@ v p

v) v vy o@ v @ v r)
W @>19 2@ v 20 v i)
Theorems

@ FH® >2~p > ~p

@) @ > > q)

@) =@ 2@ v p)

) @ 29 o@@ o1 > @ > 1)
@ =@ >2~9 5@ >~ p

Write short notes on (any fwo) :

(i) Logical structure of a relational proposition.

(i1) Definite description.

(ii1) Axiomatic system.

(iv) Individual constants and predicate constants.

4



(3) Identify and explain the mistakes in the following erroneous
proofs (any two) :

O @O = Fx . Gx) /o (%) Fx

@) Fx . Gy
(iii1) Fx 2, simpl

(iv) Fx 1, 2-3, EI

(v) x) Fx 4, UG.

am ¢ & Gy F =~ Fy [/ .. Ix Fx = ~ Fx)
@) Gy Fx = ~ Fy) 1, Ul
(iii) Fx = ~ Fx
r(iv) (Ix) Fx = ~ Fx) 3, E-G
(v) (Hx) Fx = ~ Fx) 2, 34, E.L
In @ ® Gy F =~ Fy) /. @y F = ~ Fy)

(i) @Qy) Fy
av) @) Q@Qy) Fx /.. x)Fx

~ Fy) 1, UL

(i) Fy
r(iii) (x) Fx 2, U.G.
(v) x) Fx 1, 2-3, E.L

(4) Answer any two :
(i)  Preliminary version of U.G.
(i1) Singular and general propositions
(iti) Free and bound variables
(iv) Method of proving invalidity
[3901]-268 5 P.T.O.



(1)

(2)
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Answer any one question : [20]

Prove the invalidity of the following arguments (any four) :

(D

(ID)

(IID)

(IV)

(V)

(A)

(B)

(@)
(it)
(2)
(it)
(2)
(it)
(2)
(it)

x (Hx o ~ Ix)

(Fx) Jx . ~ Ix) /.. x) Hx > Jx)

(Fx) (Kx . Lx)

(Fx) (~ Kx . ~ Lx) /o (Fx) (Lx . ~ Kx)
(3x) (Ax . Bx)

AC /.. BC

x) Wx > Hx)

(x) (Ex > Hx) /.. x) Wx > Ex)

No novelists are observant. Some poets are not observant.

Therefore no novelists are poets. (Nx, Ox, Px)

Define set. Explain the kinds of sets with examples.

Write the following sets :

A =
B =
(D)
(i)
(ii1)
(iv)
(v)

{1, 3, 4, 2, 9}
{1, 2 + 1, 1 + 8, 10, 2 + 0, 4, 1008}
A U B

A B

> > W

A
B -~
A



(WS ®aial)

q% : o\ A TR TOT : 80
g :— (i) Wd YA Hisfau ofemds .

(i) oSl H YO O Fie.

({ii)) T TUSH TEAUAR] TeEl.

1. WoeURl UGG /M WA "l [10]
(1) T faaae sua oel O aued fo=eT &0

(1) s 99 hral foul F9ard. (Sx, Px)

(i) TR I SHKrd  STATETS  STHET. (Bx, Fx)

(2)
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(iii) SURYd 3OS Hd IER SR Fed fhar UoH Ao ™

Thdl FlEl FH R M fohar & ASH TR 2Rq.

(Ox, Px, Cx)

(jv) S wEl fOuee o8¢ W 1 Tqex oo difes.  (Wx, Rx)
(v) T TTs FJ AMYTE G, W T AMYLH 3.

(Dx, Cx, r)

TG ST Jaaal g w0 (RO EF)
(i) 9d Tk Uea oIFaM. #4 fomnfet e A8 Afdewr o
RUA HE foenel Teaw smRd. (Dx, Gx, Sx, m)
Gi) ® Ox o> Ex)/ .. Da o [(y) By o Fy) o5 Fal
@ii) (1) (@x Gx v (y) (Gy o Hy)
(2 ®Ix o~Gx) /. x (Gx o x) o (¢ (Gy o Hy)
Gv) A Ix o (y) My /.. ® [x > (y) Myl

7 P.T.O.
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(3) foum dewsme 9 fadlm RIS Ao Wl GRM. 390 .
(4) EI =1 fouel guiid gt s .
2. SUE WX WA Hed [20]
(1) Yoyart foum= UeR /RO <9 9i.
(2) Toe dayaEl faane koo fos amed o=t &0 (e
)
(i) YAk M YAk TeeIhgd Shbd  2d. (Axy)
(i) dEeS HOUMEM wd A T, (Bx, Mx, Fxy)
(iii)) 9% pA@ el oo sl (Dx, Yx, Bxy)
(jv) HIVTAT gAlEE T Iur Tl (Px, Cx, Mx, Dxyz)
(3) UG ATAHEN Al Hg H (FUNE  Tek)
() & Ex o Ax) /.. x) [@y) @y . Hxy) o (Jy) (Ay . Hxy)]
(1) x [Ey) Byx > (2)Bxz] /.. (y)2)Byz > Bzy)
(iii) @A el e faeEn 99 oe. wWuE sfgen e S
osrdl ol fogen fisfel eflesedl.  (Px, Fxy, Kxy, a, b)
(4) YaTfeqal weuER wiyw v fom
(5) WOle FagdaEl SIHEE goaadl 9 R (FIOKR UeR)

(2) x)(y) Rxy o ~ Ryx) /.. (x) ~ Rxx
@) (1) Wtd
(2) Wdh /.. Wth

Ir\v A o~

(iii) “hicSewh TEl HIUE HH fhAd=a TMEMUL HEM THd. U

¥ (aWa) N a

HIUE! hfsod el &H fead=l Mer 79d. (Cx, Lx, Mxy)




(6)

(7)

e faume foow fog amed fa=ied &0 (S o )
(1) = ek S Higd hivleredgl HeRie 6. (Txy, Px, j, m)

(2) TR_A TF iR SR (Ax)
(38) TrCAl TEE FAWEH AR (Gx, Axy, h)
(4) Fald 39 Ydd URAE WA IR (Mx, Txy, Nx)

(5) @ WU STg oMUl Telie ®UMERE o AF && IRl

g = (SRl Teh)

@ ®®Fx > Q =I[3Ex F > Ql

(i) Gy [ Fx > Ql

(i) x @Ay Fx o Gy o [® Fx > 3y Gyl
(v) x) Gy Fx . Gy = Gy ® Fx . Gy

3. IR @ WA dredr

(1)
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Toe T Row foEr=a oER fag &0 (FIrE]

AR

@ © vp op

@) a9 > v g

(itt) v oD@ v p

(v) v vy o@Q@ v p vr)
W @>19 >2@ vg 20 v i)
R

@ =@ >~p > ~p

9

(Tx, Oxy)

[30]
CiE)



@) =@ > 2 q)
(@ir) =@ > @ v p)
Gv) PP o9 2@ o1V o> @ > 1)

w @ o>~ o@Q@ >~ p
(2) deRd 9 W (HUER EF)

(i) Gaverdl faumrl ke A

(ii) TAfR=a oo

(iii) SISTIAM  Jomet.

(jv) =afR =R Ao faeg =
(3) WG ghioa fagamHdie @ ea 9 W & (SR |F) ¢

O @O = Fx . Gx) /.. (%) Fx

(i) Fx . Gy
r(iii) Fx 2, simpl

(iv) Fx 1, 2-3, EI

(v) x) Fx 4, UG.

am @ & Gy F = ~TFy [/ .. 3Fx Fx = ~ Fx)
@) Gy Fx = ~ Fy) 1, Ul
(iii) Fx = ~ Fx
r(iv) (Ix) Fx = ~ Fx) 3, E-G
vy (Hx) Fx = ~ Fx) 2, 34, E.IL
(D) @) & @y Fx =~ Fy) /. Gy & = ~ Fy)
@) Qy Fy = ~ Fy) 1, U.L

[3901]-268 10



(4)

(1)
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Iv) () (@Qy) Fx /.. X)Fx

(1) Fy
r(iii) (x) Fx 2, U.G.

(iv) (x) Fx 1, 2-3, E.L
EZUn I I ER B
() UG =1 femret waftes s
(i) Tewar efor W o
(iii) TR SAMT dg =N

(iv) AP T9g HIOIAET Tgdl.

SR Weh TET Hiedl [20]

oG AIAMET FgFd g w0 (FUEE AR
O O ®Hx >~ Ix)
@) (GFx) Ux . ~ Ix) /.. ®x) Hx o Jx)
an @ (@x (Kx . Lx)
@) (Fx (-~ Kx . ~ Lx) /o0 (3x) (Lx . ~ Kx)
(I (@) (3x) (Ax . Bx)
(it) AC /.. BC
Iv) @) & Wx 5 Hx)

(1) x) (Ex o Hx) /.. X Wx o Ex)

(V) Tl weaiar s @ &@ ®dl Higes "k "o

Thel HIEIIRR Hhal gl (Nx, Ox, Px)

11 P.T.O.



(2) (A) W9 ®WUN &M@, § WAH HAd UER SRR TR &
(B) wole §9 el

A = {1, 3, 4, 2, 9}
B=1{12+ 1,1+ 8, 10, 2 + 0, 4, 1008}
i) A U B
(i1)
(iii)
(iv)
(v)

M

> W > P
!

!
> > W W

[3901]-268 12



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2
[3901]-269
S.Y. BA. EXAMINATION, 2011
SOCIOLOGY
Group A : Population and Society (G-2)
Or
Group B : Introduction to Social Welfare
and Social Legislation in India (G-2)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) Attempt Group ‘A’ a Group ‘B
(ii) All questions are compulsory.

(iizr) Figures to the right indicate full marks.

Group ‘A’
1. Answer any two of the following in maximum 50 words each :[10]
(1) Micro to Macro demography.
(2) Marxist views on population growth.

(3) Economical factor of fertility.

(4) Causes of AIDS.

2. Write short notes on any four of the following in maximum 100

words each : [20]
(1) Types of sterility

(2) International sources of population data.
P.T.O.



3)
(4)
(5)
(6)

(1)

[3901]-269

Characteristics of population in India.
Post-independence population policy.
Factors promoting economic development.

Need of sex education.

3. Write any three of the following in maximum 250 words each : [30]
(1) Discuss the importance of population studies.
(2) Describe the factors of infant and maternal mortality.
(3) Explain the uses of census and vital registration methods.
(4) Elaborate the types of population policy.
(5) Discuss the concept and objectives of population education.
4, Answer any one of the following in maximum 500 words : [20]
(1) Elucidate the Malthusian and Neo-Malthusian theory of
population growth.
(2) Explain the achievements and failures of Family Planning
Programme.
OR
Group ‘B’
1. Answer any two of the following in 50 words each : [10]

Meaning of social security.



(2) Meaning of welfare state.
(3) Define dowry.

(4) Objective of Indira Awas Yojana.

2. Write short notes on any four of the following in 100 words each : [20]
(1) Fundamental Rights
(2) V.R.S.
(3) Savitribai Phule Palak Yojana
4) N.G.O.
(56) Minimum Wages Act

(6) State Social Welfare Department.

3. Answer any three of the following in 250 words each : [30]
(1) Describe the concept of evolution of social welfare.
(2) Write the meaning and features of privatization.
(3) Explain the functions of Central Social Welfare Board.
(4) Discuss the various problems of aged.

(5) Evaluate the Employment Guarantee Scheme.

4, Answer any one of the following in 500 words : [20]
(1) Explain the need for labour welfare.

(2) Evaluate the reservation policy for women based on 73rd

Constitutional Amendment.

[3901]-269 3 P.T.O.



(WS wUiav)
q% : o\ A THU T : 80
T :— () e ‘I feer e ‘9’ dHiedn
(i) \a Y3A drefam oMazds  ofRd.
(i) SvdiREle siw of U el

e ‘3’

1. WASURl HUERE Q@ Tkl HHG 50 Iedid Sl fowl [10]

(1) g 0 90 SHUSRTE.

(2) DREEA AT AT foErR.
(8) A= oMY wew.

(4) TSHHl hNU.

2. WOGUHRI HUER ORN YIHI HHG 100 e few fewr ;00 [20]

(1) N UK.

(2) THUEA Hiiedd AWALE 9.

(3) YRAMI® DhEEArNEl R

(4) TIAGHAT SThEEI .

(5) onfefer foshmaE WicdEd IR EEh.

(6) fften feomEl TS

3. WOoUh! HUARI W WD Yokl hHG 250 Ilsaid I fewl : [30]

(1) DRI A Hg=l ==l h.

(2) Y offUT WA I HHW U H.

[3901]-269 4



3)
(4)
(5)

SITOAET 37O Fieul Ugdia SYNT T2 R
FFHERAT YRUTE YRR TR &

IrhuE Bl Ueheuw o Sfesedr=n ==l &L

4., TOOUH FOER TE WA HAG 500 IEA SW (@ [20]
(1) DHEEA dE- AegdaR] 9 "adegdaR] faga fer &
(2) YRAMIG HeATASH HEGBHAN FT M I T FH.
fenar
e ‘a’
1. TOowh SR gAY 50 IR SW o [10]
(1) wHSe gfead=n a9
(2) HAUSR TS A9
(3) Feuw=l AL
(4) Efew omam AT SegEl
2. TWOHOUR PR ARIR YR 100 It femr o [20]
(1) Hovud 3fHsr.
(2) W= o<l A
(3) wifosters | dos  ASHL
(4) Il HE
(5) f®HIM daT FEL
(6) TSI HHNSRAN faum.
[3901]-269 P.T.O.



3. WOoUHR! HIUERE W YAl Al 250 ITsSid Il TRl [30]

(1) TS FAU GhoUddl Schldl TIE H.
(2) @rSEieRum=r 31 9rm 9 =l dRTse foml

(8) ol HHNIHAN Hed=l + fRe .

(4) ggren fodty guErEl == w7

(5) USSR BH ASHE HoIHMIT .

4., TOGUR HOER TR WAS 500 I=EE SW foR [20]

(1) R HAUME AR Ihdl oz .

(2) 73 HAGEWIO STHRd 3THoedl Higel SR GRUTE  HodHH
et

[3901]-269 6



Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-270
S.Y. B.A. EXAMINATION, 2011
SOCIOLOGY
(S-1 : Foundations of Sociological Thought)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each :[10]
(1) Characteristics of social thought.
(2)  Positivism (Comte)
(3) Alienation (Marx)
(4) Sanskritization (M.N. Shrinivas).

2. Write short notes on any four of the following in maximum 100

words each : [20]
(1) Impacts of French Revolution

(2) Importance of Industrial Revolution

(3) Interactionist theory

(4) Circulation of Elites (Pareto)

(5) Dominant caste (Shrinivas)

(6) Modernization (Shrinivas).

P.T.O.



3. Answer any three of the following in maximum 250 words each : [30]
(1) Describe Comte’s law of three stages.
(2) Explain the concept of Enlightenment.
(3) Discuss the types of authority stated by Max Weber.
(4) Elaborate Dr. Ambedkar’s theory of untouchability.
(5) Elucidate the characteristics of caste explained by Dr. Ghurye.
4, Answer any one of the following in maximum 500 words : [20]
(1) Discuss Durkheim’s ‘Theory of Suicide’.

(2) Explain the theory of social evolution stated by Spencer.

(W& T UIR)
q% : o\ A THU T : 80
ol :— () Wd WA Gefa0 eEds SR
(i) STETRSI® 3Tk WA qU U SFifodm.
(iii) WSWIHIE T3 TUSH UFAdlIehl TRIE.

1. WASURl HUERE  Qralol Yl 50 ITSgdd I foer [10]
(1) gmHifse foarmr afime.
(2) IR (HiR)

(8) UUHdr (Hed)
(4) TEHdEo  (Sifem).

2. WOoUHR! HUERI TR TSR 100 Isgdd diesdd fem fewr : [20]

(1) hda TIHdE TRomE.
[3901]-270 2



(2) oiiclfes Hid Hew.
(3) STMfwamEREl fagi
(4) oeieH sfvRe fagi@ (TR
(5) guEl A (sfifeErE)

(6)  sYfTeRiRTu  (Hifem).

3. WOoUR! SR AT WAED U 250 ITsSigdd S fewr ;o [30]

(1) e &= dF o= 9| 9via .

(2)  YIYATN HehoUdl TR H

(3) WH de 9 Wiidoedr STURI=a k=t == .

~

(4) T deOWRd SEEHT= SRgEad fawege fagmae fag=m .

(5) I T hoea Siden afiea fades @

Gt

4., TOGUR HOERE TR WAR 500 IEETHd W fowr e [20]

[a

(1) SHEm= cgEfauas fagraet ==t &

(2) T W= HHINSH Schidi=n Hgid T .
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Total No. of Questions—4] [Total No. of Printed Pages—3
[3901]-271
S.Y. B.A. EXAMINATION, 2011
SOCIOLOGY
(S-2 : Indian Society : Issues and Problems)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each :[10]
(1) Causes of regionalism
(2) Consequences of Divorce
(3)  Social problems of Aged

(4) Causes of corruption.

2.  Write short notes on any four of the following in maximum 100

words each : [20]
(1) Value crises

(2) SEZ

(3) Causes of Alcoholism

(4) Eve teasing

(5) Causes of Juvenile delinquency

(6) Causes of Terrorism.

P.T.O.



3. Answer any three of the following in maximum 250 words each : 30
(1) Elucidate causes of inequality of Gender in India.
(2) Discuss the problems of religious minorities
(3) Explain the consequences of Dowry.
(4) Discuss the causes and consequences of poverty.

(5) Elucidate the causes and consequences of white collar crime.

4, Answer any one of the following in maximum 500 words : [20]
(1) Explain the characteristics and causes of social problems.

(2) Elucidate causes and consequences of domestic violence.

(TS TUI)
q% : dF A TR TOT : 80
ol :— (i) ®d WA AN sTRd.
(i) STETRSI® 3Tk WA qU U SFifodm.
(iii) USIES G U WEdlAhT TerEl.

1. WooUhl RUARE Qi Y 50 ITeqdd Sw fewr [10]

(1) YrRTedErrT SR

(2) EEEREM geaiumd
(3) TG AR G

(4) YSEERET SRl

2. WooUh! HUERI ORR TS 100 Iddd oiesd fear fewr : [20]

(1) Hoagus
(2) faze enfdew &
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(3) HIUMRN HIO

(4) Wigoml VeI

a =~

(5) STSTRIRI=!  ShIl

(6) TGOl <hILUl.

3. WooUH ®UER W WA TR 250 IMdd W fes ;o [30]
(1) vRade fomae fauma ®R0 faer *.
(2) oIfH® STCUUEAh WHEAl 9HSl ==l
(3) Teu™ TEURUM TR HU
(4) <G &R0 9 gRomHET == &
(5) U TR ®RU g 9Rom e &

4, TOGUR HOERE TR WAR 500 I=RMEd W fowr [20]

(1) gmIfSeh THSI=1 a9 R0 W &

-

(2) wRfaw feE=RET ®RO 9 IRom fR/R© *U
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Total No. of Questions—4+4] [Total No. of Printed Pages—7
[3901]-272
S.Y. B.A. EXAMINATION, 2011
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper II
[Outline of Political, Social and Economic Institutions
of Ancient India (600 B.C. to 1200 A.D.)]
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]
(1) Organic theory
(2) Functions of the Samiti
3)  Guild

(4) Punchmarked coins.

2. Write notes on the following in 100 words each (any four) :[20]
(1) Concept of kingship during Kushana period.
(2)  Functions of Sabha
(3) Life of women during Vedic period
(4) Demerits of caste system

(5) Importance of Sacraments in human life.

P.T.O.



(6) Ancient Indian Universities

(7) Indo-Roman Trade.

3. Answer the following questions in 200-250 words each (any three) : [30]

(1) Discuss the sources useful for the study of Ancient Indian

Institutions.
(2) Explain the features and functions of Ancient Indian Republics.
(3) Write the salient features of Ancient Indian Judiciary.
(4) Write an essay on Ancient Indian Agriculture.

(5) Take a review of the weights and measures in Maurya and

Gupta period.

4, Answer the following questions in 500 words (any one) : [20]
(1) Describe the structure and functions of Council of Ministers
in Ancient period.

(2) Take a review of the major industries in Ancient India.

(AOE ®UI)
q% : o\ A THU T : 80
ol :— (i) WA YT Giefau TeRds SR
(i) SSElhSle 3k YA Yo O Sl

n

1. T 9EEaEl SW USSR D I (o (FRIvdel  @F ) [10]

(1) Hfsa fage
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(2) OffdEr &
(8) 4t
(4) 3Tgd .

2. TR 100 IS W foml (SRRl 9R)

(1) FITFHREH IS FhTTHI.
(2) | wE.

(3) AT THI-SfeH

(4) SdreFEEES |

(5) TERN® HAMAl SoAne HEd.
(6) UM WRdE fowrdis

(7) YRG-U9 =MUR.

3. WHo WIAEl SW TRl 200 9 250 Ied foRl (Rt i)

(1) UEH 9RdE = STMMEe SUge ST adl .

(2) UM 9GRSl ARt 9 i TR
(8) UM YURddie <OFcuasd<l Jweh dRTS  fol
(4) ‘UM 9RGE 3l geR ey femn

(5) HE ¥ T Fedie d9d 9 AN A SATRET EAL

4, THG WA W 500 3IEd fo@l (FUARI  TeR)

(1) 9NN SFledie TEesd & 9 %@ 9ud .

(2) UEM YRAMe 9@ SOmel "iaw) e =

[3901]-272 3
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: [30]

[20]
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(Outline of Political, Social and Economic

Institutions 600 : B.C. to 1200 A.D.)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(D)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)

(11)

[3901]-272

What is an ‘Institution’ ?

Define ‘Epigraphy’.

Write the constituents of a ‘State’.

What is a ‘Ganarajya’ ?

State any two sources of the history of kingship under Kushanas.
State the importance of ‘Minister’.

Write any two economic institutions in Ancient period.
Explain the term ‘Class’.

Who were ‘Gargi and Maitreyi’ ?

Name any f{wo Universities in Ancient India.

What was a ‘Shreni’ ?



(12) Name any two south-east places having traded with Ancient

India.

(13) What is a ‘Coin’ ?

2. Answer the following questions in 80 words each (any two) : [10]
(1) Explain the term ‘Monarchical State’.

(2) State the importance of the Council of Ministers according

to Kautilya.
(3) What was ‘Varnashrama’ ?

(4) Write a short note on Agriculture in Ancient India.

3. Answer the following questions in 150 words each (any two) : [20]
(1) What do you know about the Sabha and Samiti ?
(2) Explain the judiciary in Ancient India.
(3) Take a review of position of women in Ancient India.

(4) Describe the Roman Trade in Western India.

4, Answer the following questions in 300 words each (any two) :[30]
(1) Write an essay on literary sources of Ancient Institutions.
(2) Discuss the concept of kingship under Mauryas and Guptas.
(3) Describe the Ancient Universities.

(4) Take a review of Trade and Commerce from Mauryas to Guptas.

[3901]-272 5 P.T.O.



(WS ®UIaR)
q% : o\ A TR T : 80

Ol :— (i) WA WA STeRIS 3R
(i) Sodhere 3k qui O SFifer.

1. TOe WAl T 20 IS SW foRl (IRl 9@ e [20]

(1) ‘G’ wWoS & ?

(2) ‘SAMVOERTE' A= A H

(3) ‘TS I Uk ol

(4) ‘TR WUN S ?

a_n

(5) ‘SRUIUEAT USISIEAT SfeMEl UMl oF  Ed |

(6) ‘®It’ I HEd WL

(7) YN HhoESHe S of  oTfde gwen o

(8) ‘=’ F W TR w

(9) Tl sfor R wor den ?

(10) YEF YRS HIUERl  dF fgerdiesl Ae =

(1) ‘gofl’ wUS ®wE 2

(12) UEN 9RAEE MR SHUFEA U@ & SFd TR Q3=
T fe.

(13) ‘9’ U w2

2. Woe TR T D I=d SW (Rl (RUdE dF) [10]
(1) ‘ToRmE TSE' OE Hal TR R
[3901]-272 6




(2) SRR "4 HAHEw™ Hed 9.
(3) ‘auism’ WU & ?
(4) YEH YRade 3t geR g9faw da fomn

3. UWOlo FAEN Y 150 IR SW o fow (FUaE |F) [20]
(1) 9 smfor Affdt Aot g™ o™ Aifedl o8 ?

(2) UNEH YRAd® ~AFedaE] TS &

(3) YNN YRddie fSE=r fed=n A e =i

(4) UfFEH YRAde Y99 SFER JUE k.

4, TG FART USRI 300 IS SwW fowl (g @) [30]
(1) 9= gearet arered we Aaer ey fo

(2) HE o TaEwTEdie qSYE Gheudret ad .

(3) YA fommdie av= .

(4) T § A FEde SAUR N W AT STeEr =
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Total No. of Questions—4] [Total No. of Printed Pages—3

[3901]-273
S.Y. B.A. EXAMINATION, 2011
MATHEMATICAL PREREQUISITES
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zzz1) Use of electronic calculator is allowed.

1. Attempt any f#n of the following : [20]

dy
(1) ¥ y = log,u and u = x find s

(2) Define Homogeneous function.

(3) Solve log,x = 3y for x.

dy

— 2
4) ¥ y = In(8x)4, find d

(5)  Evaluate I(sz + 3x) dx .

6) K Z:xy+x2y2, find ny-

_ 150
750°

@8 K y=In (2x°), find y".

(7 ¥ vy find value of y by using natural logarithm.

(9) Write the rule of derivative for exponential function.
(10) Evaluate :

10

szdx,

1
P.T.O.



(11) Specify the degree and order of given differential equation :

dy 6 dzy
— — +2 =0.
(dx) * dx? ¥

(12) Define differential equation.

(13) Is the given integral below improper ? Justify :

'[3x2 dx.
1

2. Attempt any two of the following : [10]

(1) Solve the following differential equation :
dy __5t

dt y
(2) Given the demand function P =45 - 0.5Q, find the consumer

surplus CS when :

(3)  Using integration by parts rule evaluate the following integral :

3. Attempt any two of the following : [20]
(1) Find the critical value of the function :
Z = log,(2x% — 12x + y2 — 10y).

Determine whether the function is at a maximum or minimum.

[3901]-273 2



(2) Determine the interest rate needed to have money double in

6 years when compounded semiannually.

(3) Solve the given differential equation :

dy 2
— — t
dt y y .
4, Attempt any wo of the following : [30]

(1) Explain in detail “COBWEB MODEL”.

(2) Find integrating factor and solve the differential equation :

y—- t) d&y — dt = 0.
(3) Evaluate the following integral by substitution method :

2
3x2
) (x? +1)

[3901]-273 3



Total No. of Questions—4] [Total No. of Printed Pages—4
[3901]-274
S.Y. B.A. EXAMINATION, 2011
STATISTICS (General-2)
(Research Methodology, Sampling Techniques and
Statistical Quality Control)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(izi) Use of statistical tables and scientific calculator is allowed.
(iv) Symbols and abbreviations have their usual meanings.

(v) Graph papers will be supplied on request.

1. Attempt any #@wwo of the following : [2x5=10]
(a) Describe different steps involved in a good research design.
(b)  Discuss the problem of determining the sample size under SRSWR
when the variable under study is discrete taking only two values
0 and 1.
(c) Distinguish between process control and lot control.
(d) Explain the ratio method of estimation and state the estimator

of the population mean.

2. Attempt any four of the following : [4x5=20]
(a) State different criteria for detecting lack of control from a
control chart.

P.T.O.



(b)

(c)
(d)

(e)

()

Distinguish between assignable causes and chance causes of

variation.
Explain the statistical basis of a control chart.

State an unbiased estimator of the population mean under
stratified random sampling. Obtain the expression for its standard
error.

In SRSWOR, show that the probability of getting any sample

1

of size n from a population of size N is equal to N
n

The following data give yield (in quintal) of a crop in 24 plots:
14, 19, 20, 24, 23, 15, 24, 21, 22, 19, 18, 17,
15, 14, 16, 22, 24, 21, 23, 22, 23, 15, 16, 20.
Draw all possible systematic samples of size 6. Verify that

sample mean is unbiased estimator of the population mean.

3. Attempt any three of the following : [3x10=30]

(@)

(b)

[3901]-274

Describe the construction of X and R charts for the measurable
quality characteristics when :

(i) Standards are given

(i) Standards are not given.

Prove that in SRSWOR, sample mean square is unbiased estimator

of the population mean square. Hence state the unbiased estimator

of standard error of the sample mean S.E. (x).

2



V(3_Cst )

(c)

(d)

(e)

(@)

[3901]-274

(i) Explain the method of stratified random sampling. Give
two real life situations where it can be applied. [3]

(i) Prove that V(x,) is minimum for a fixed sample size

k

n=Yn f n«N;SG=12..k. Derive the
1=1

expression for under this allocation. [7]
A single sampling plan has :
N = 1000, » = 100, C = 3.
Calculate probability of acceptance of lots containing 1%, 2%,
5%, 8% defectives. Plot OC curve. Determine LTPD graphically

if consumer’s risk is 0.1.

Distinguish between defect and defective. Give an example of
defects for which C-chart is applicable. How do you calculate

control limits for C-chart ?

Attempt any one of the following : [1x20=20]

(@) A p-chart indicates that the average is 0.2. If 50 items
are inspected each day, what is the probability of detecting
a shift of 0.04 :
(I) On the first sample after the shift and
(I) By the end of second sample after the shift. [10]
(i1) Given the double sampling plan :
N = 1500, ny =40, ¢y =0, ng = 60, cg = 2, compute
ATI and AOQ if the lots of quality 5% are submitted

for inspection. [10]
3 P.T.O.



(b)

[3901]-274

(2)

(i1)

A population consists of 5 units. The values of the

characteristics are 11, 13, 15, 17, 24. Write down all

possible samples of size 2 without replacement. Verify

the following :

(I) Sample mean is unbiased estimator of the population
mean.

(I) The sampling variance satisfies the formula for the
variance of the sample mean.

(IID V(x)sgswor < V(*)srswr [15]

Describe sampling error and non-sampling error. [5]



Total No. of Questions—4] [Total No. of Printed Pages—4+1
[3901]-275
S.Y. B.A. EXAMINATION, 2011
STATISTICS (Special)
Special Paper I
(Continuous Probability Distributions and Demography)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iti) Symbols and abbreviations have usual meanings.
(iv) Use of calculator and statistical tables is allowed.

(v) Graph paper will be provided on request.

2 _
P(t2. > k) = 0.05.

1. Attempt any two of the following : [2x5=10]

(a) A fair coin is tossed 300 times. Using normal approximation,
find the probability of getting number of heads between 140
and 160.

(b) K t is a random variable having Student’s ¢-distribution with

n degrees of freedom, find :
(1) C such that P(t9<c) =0.2.
(i) K such that
(c) State and prove lack of memory property of exponential distribution
with parameter o.

P.T.O.



(d) Define the following terms :
(i) Statistic
(i) Sampling distribution of a statistic

(z11) Standard error of a statistic.

2. Attempt any four of the following : [4x5=20]
(a) Find the constant ‘%’ such that the following function is probability

density function (p.d.f.) :

k
1+x

fx) =

3 ; —o<x <o, k>0

=0 ; otherwise.

Hence obtain the distribution function of X.

(b) Calculate G.F.R. and G.R.R. for the following data :

Age Group No. of Women (in thousands)| No.of Births
15—20 8 56
20—25 10 100
25—30 12 84
30—35 6 36
35—40 3 15
40—45 5 5
45—50 4 4

Consider proportion of female births is 0.48.

[3901]-275 2



(c)

Two random samples are drawn from two independent normal

populations. The findings are as given below :

Sample No. Sample Size | Sum of the Sum of the Squares
Observations of Observations

I 9 9.6 61.52

II 11 16.5 73.26

Test whether two populations have same variance. Use

a = 0.05.
(d) Define chi-square variate with n degrees of freedom. Find its
mean.
(e) Explain the test procedure for testing Hy : n; = pgy against
fex,y)=x+y ; BIg x 14, P gy whHere population variances are unknown but
=0 ;  otherwise.
equal.
(fH Let X Exp (a), then find its mean deviation about
mean.
3. Attempt any three of the following : [3x10=30]

(@)

[3901]-275

The joint p.d.f. of (X, Y) is given below :

Show that correlation coefficient between X and Y

is —1/11.

3 P.T.O.




(b)

(c)

If X and Y are two independent gamma variates with parameters
(a, A1) and (a, Ag) respectively, then show that X + Y and
X/Y are independently distributed.

State and prove inter-relations between :
(i) t and F variate.

(1) F and x2 variate.

(d) Define Snedecor’s F-variate with n; and ng d.f. Also, derive
its p.d.f.
(e)  With usual notations, show that for ¢-distribution with n.d.f.:
B(r+l, L
_ 2" 2
Hor = 1 n
(3 -5)
2 2
Hence find B,.
4, Attempt any one of the following : [1x20=20]

(@)

[3901]-275

(1) et X — U (a, b), then find its mean and variance. [7]

(ii) Let X follows chi-square distribution with n.d.f., then with

usual notations, show that : [7]
(zin) ¥ and S2 are the mean and variance of a random
sample of size 10 from N (4, 16), then find : [6]

p [0<X < 4, 86.08 <S? <170.496].

4



(b)

[3901]-275

(2)

(i1)

(ii1)

If X follows normal distribution with p.d.f. flx) as given
below : [7]

2
fx) =c. e oy <oo > 0
=0 ; otherwise,
then find P(x > 0.25).

A survey related to newspaper readership and level of

education showed the following results : [7]

Type of Readership Postgraduate | Graduate

Sometimes 24 20

Daily 68 48

Test whether type of newspaper readership depends on
level of education. Use o = 0.01.

Describe the test for testing Hy : p = 0 against
H; : p# 0, where p is unknown population correlation

coefficient. [6]



Total No. of Questions—35] [Total No. of Printed Pages—4+1
[3901]-276
S.Y. BA. EXAMINATION, 2011
APPLIED MATHEMATICS
(AMG-2 : Calculus of Several Variables and Vector Calculus)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions : [16]
)
@ F flx, y)= x2 + xy — y2, then find % using definition.
b)) If
2 2
u = log xry ,
X+ y
find
L, du
0x y8y°

(¢) State sufficient conditions for extreme values of a function

flx, y).
(d) Change the order of integration of :

y
f f(x, y) dx dy.
0 x=0

|| S =

y

P.T.O.



(e) Test the continuity of f(¢) at t = 2 where
. 2 2
_ -9 _
Flt) - sin(t - 2) i+(t 4)]', F v 9

= 4 Lt o= 2.

(A Write down the equation of a normal plane and a tangent
line to a space curve.

(g) K ¢, y, z) is a scalar function, prove that ¢ grad ¢ is
irrotational.

(h) State ‘Stokes’ theorem’.

2. (A) Attempt any one of the following : [6]
(i) Show that :

. .1 .1
lim | x sin— + y sin— | = 0.
x— 0 y X

y—0
(ii) ¥ flx, y) be a continuous function, then prove that

flx, b) is continuous at x = a and fla, y) is continuous

a y = b.
(B) Attempt any two of the following : [10]
@ If
x3y
f(x,y)=ﬁ if x2+y2¢0
x“+y
=0 if x2 4+ y2 = 0
find fxy(O, 0).

[3901]-276 2



3. A

(B)

[3901]-276

(i1) Using differentials, find the approximate value of
5(3.8) + 2(2.1)°.

(iii)) Expand flx, ) = x% + y3 + xy2 in powers of (x — 1)

and (y — 2) using Taylor’s theorem.

Attempt any one of the following : [8]

(i) State and prove Euler’s theorem for a homogeneous
function.

(i1) Find the area of the region bounded by the curves
xy =4, xy = 8§, xy3 = 5, xy3 = 15 in the first quadrant.

Attempt any one of the following : [8]

(i)  Show that :

7 = aef + belt

is a solution of the differential equation :

where p, q are constant scalars and k&, [ are the roots

2+pm+q=0.

of the equation m
i) If
I?(U, v) = u cosvi + u sinvj + vk

and u= 6+ ¢, v = 00, find :

3 P.T.O.



4. (A

(B)

5. (A

[3901]-276

Attempt any one of the following : [6]
(i)  Prove that a vector u# is of constant magnitude if and

only if :

(i1) Give the physical interpretation of divergence.

Attempt any two of the following : [10]

(i) Find the directional derivative of o(, y, 2) = 4e2X — Y + 2
at (1, 1, —-1) in the direction towards the point
(-3, 5, 6).

(ii) Find the angle between the surfaces x2y + z = 3 and
x logz — y2 + 4 = 0 at (-1, 2, 1).

(izi) Evaluate :

f (2x—y+4)dx+(5y+3x—6)dy
C

around a triangle C with vertices (0, 0), (3, 0), (3, 2)

traversed in counterclockwise direction.

Attempt any one of the following : [6]
(i) Using Green’s theorem, show that the area bounded by

a simple closed curve C is given by :
1
3 i) x dy — y dx.

4



(ii) Prove Green’s first identity

[ (ov2y +Vo.Vy)av =] (6Vy).7 ds
v S

with usual notations.
(B) Attempt any two of the following : [10]
@ If
Ft)=ti—t%j + (¢t - 1)k,

Z(t) = 2t% + 6tk,

evaluate

2 J—

I [ xgdt

0

(i) If
f =xi+yj+2zk,

evaluate

[[ f.dA

S

where S is the part of the surface of the paraboloid
x2 + y2 =1 - z for which z > 0.
(iii) Apply Stokes’ theorem to evaluate :

qSydx+zdy+xdz
C

where C is the curve of intersection of the sphere

2 2

x2 + y2 + 22 = 42 and the plane x + y + z = 0.

[3901]-276 5
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[3901]-277

S.Y. B.A. EXAMINATION, 2011
APPLIED STATISTICS (GENERAL)
(Applications of Statistics and Theory of Probability)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
(iizi) Use of statistical tables and scientific calculator is allowed.
(iv) Symbols have their usual meaning.
(v) Graph papers will be provided on request.
XA (o, B HiiAB = W) aud] B} (CA=rtaBD,d (2}
1. Attempt any two of the following : [2x5=10]
(@) let Q={a,b,cd,ef g h

Find

(b) Find the total numbers of 3 digits that can be formed from
5 digits 0, 2, 3, 5 and 7 if every digit appears only once.
How many of these numbers are divisible by 5 ?

(¢c) () Give classical definition of probability.
(i) Discuss the limitations of classical definition of probability.
(iii) State the axioms of probability.

(d) What are index numbers ? Discuss the utility of index numbers.

P.T.O.



(@)
(b)

(c)

(d)

(e)

()

[3901]-277

Attempt any four of the following : [4x5=20]

Describe the components of time series.
The probability mass function of a discrete random variable
X is :
P (x) = Fkx, x =1, 2,........ , 15.
=0 otherwise

Find the value of £. Further find

(i) Define pairwise and complete independence of three events.

(ii) For two independent events A and B, if P (A) = 0.3 and
P(B) = 0.5, find PA u B).

Define Poisson distribution. State its mean and variance. State

the additive property of Poisson distribution. Also give real

life situations where this distribution is applied.

Explain the concept of :

(i) multiple correlation

(it) partial correlation.

The female population and live births with age of mother, in

1979, of a country, are given below :

Age Group Female Live Births
(years) Population (in thousands)
(in thousands)
15-19 120 12.1
20-24 110.6 15.5
25-29 98.5 10.5
30-34 93.3 9.5
35-39 73.9 4.2
4044 59.7 2

Calculate general fertility rate and age specific fertility rates.



3. Attempt any three of the following : [3x10=30]

(@)

(b)

(c)
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(1) An automatic machine makes paper clips from coils of wire.
It is observed that on an average 1 in 200 paper clips
is defective. If the paper clips are packed in boxes of
100, what is the probability that any given box of clips
will contain

(I) no defective
(IT) less than 3 defectives. [5]

(i1) A pair of unbiased dice is rolled once. Let the variable
X denote the maximum of the two numbers. Find the
probability distribution of X. Also find E(X). [5]

The joint distribution of (X, Y) is given below :

Y 1 2 3
X
0 0.3 0.2 0.1
2 0.2 0.1 0.1
Find corr(X, Y). Hence find corr [X?: 2,”].
2

(i) For two-dimensional discrete random variable (X, Y)
define :
(I) Marginal probability distributions of X and Y
(IT) Conditional probability distribution of X given Y = y

(ITT) Conditional variance of X given Y = .

3 P.T.O.



(i) The following are the index numbers for the fuel and light
group from 1990 to 1996 with base year 1985. Calculate

the index numbers by shifting the base year to 1990 :

Year Index Number
1990 125
1991 134
1992 139
1993 160
1994 170
1995 185
1996 189

(d) The mean, standard deviation and correlation coefficients for
three characteristics X;, X9 and X3 are given below :
X, =25, oy=4, rig =075
Xs = 5, o= 1,  rgg =04
X3 = 590, og = 85, ri3 =0.55
(z) Obtain the equation of plane of regression of X; on X,
and Xg.
(iz1) Estimate X; when X9 = 6.5 and Xg = 600.
(e) (@) If X and Y are two independent discrete random
variables with V(X) = 2 and VXX + 3Y) = 56, compute
V(Y). [4]
[3901]-277 4



(iz) Distribution function of a random variable X is given in

the following table :

X 0 1 2 3 4 5 6
F(x) [0.02 |0.15 0.30 0.45 0.75 | 0.95| 1.00
Obtain :

(I) Probability mass function of X.
(ID) Median and mode of X.
dIm PX =5 | X > 3). [6]

4, Attempt any one of the following : [1x20=20]
(@) (i) The data given below are the average quarterly prices of
a certain type of maize variety (in Rs.) for different years.

Compute seasonal indices by link relative method for these

data :

Quarter| 1 II I1I 1Y/
Year
2001 13 15 15 18
2002 12 18 18 16
2003 14 14 175 17
2004 11 13 16.5 16

[10]

(ii) Let X and Y be two independent binomial variable with
parameters (n = 6, p = 04) and (n =4, p = 0.6).
If7Z=X-Y + 4), find PZ > 1). [5]

(it) Define discrete uniform distribution. State its mean and
standard deviation. Also, give any two real life situations

where the uniform distribution is applicable. [5]

[3901]-277 5 P.T.O.



(b) (i) Describe the method of estimating seasonal indices by ratio
to trend, where trend is obtained by moving average method.
[10]
(i1) Explain the terms : G. R. R.,, N. R. R. and give its
interpretation. [5]
(iiz) A fair coin is tossed two times. Discuss the independence

of the following three events :

A : Observing head in first toss

B : Observing head in second toss

C : Observing same faces in both the tosses. [5]

[3901]-277 6
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S.Y. B.A. EXAMINATION, 2011
PHILOSOPHY
G-2 : Philosophy and Good Life
(Alternate Syllabus)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each :
[10]
(1) Explain the different levels of existence of human beings.
(2)  What is anthropocentricism ?
(3) Describe the hedonism of Epicureans.
(4) What is ‘Whistle Blowing’ ?

2. Write short notes on any four of the following in 100 words each :
[20]

(1) Objectivity and Media.
(2) Doctrine of Panchakosha.
(3) The value of autonomy in the context of medical ethics.
(4) Major characteristics of Stoic ethics.
(5) Impact of colonial rule.
(6) Sustainable development.

3. Answer any three of the following questions in 200 to 250 words
each : [30]
(1) “Life unexamined is not worth living.” Discuss.

(2) Discuss the notion of corporate social responsibility.

P.T.O.



(3) State and discuss Dr. Ambedkar’s views regarding caste
discrimination.

(4) Explain the nature of environmental ethics.

(5) What are the main issues concerning the doctor-patient

relationship ?

4, Answer any one of the following in 500 words : [20]
(1) Discuss the ideal of a ‘Yogin’ and the way to achieve it.

(2)  Critically discuss the ethical issues concerning media and violence.

(AOE ®UI)

q% : o\ A TR T : 80
o :— (i) Wd WA Hisfau eAemds .
(i) SoETREe sfh qu U i

fa fa

({ii) TRUES! Hed TUST TEAULIGREI Tl

1. WASURl HUERE SH AT W YRl 50 ITRid ol: [10]
(1) HOErE ARG IOl Uldesdl YIS .

(2) UHAGHsARE WIS w2

(3) UHRER gEere 9uF &

(4) ‘f=gce =oRT WIS SE 2

2. WHSUR! HIUERI IRIET IR 100 ITseid feau fogr [20]

(1) aEfsaar s Hew;

(2) v=wrE fagm;

(3) dFHE AfRETST Hevld WEead o,

(4) wiEF AfETEE 5q@ oeERTs;
(5) TEEAERME wRom;

(6) 3IMWad fa=wm.
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3. TOGUR! HIVER T AT W YIH! 200 9250 IS <1
(1) 90O 7 HoS Sgd SIUErEAl argdd q9d. ==l &
(2) ‘ScnTEl SR SOeeRt’ € heudl TS .
(3) WYEEEed €. eeHi™ faar WFE @t == &
(4) YIEROE FfETEE @WEd e &
(5) THRI-T0 HeUlde Y@ Hg hUd Sled  ?

4., TAHGUH DR Tk TAS SW 50 IE@ S
(1) ‘I A ofeETel oMfUr e U=l HIEiel 9l R

[30]

[20]

(2) T Snfor fEwn A Hewidie fifmmeia qecur=t fafeas ==l &

[3901]-278 3
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G-2 : Philosophy of Indian Saints

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each :

(D)
(2)
(3)
(4)

[10]
Explain the characteristics of Saint.
Explain the term Jangam.
Explain Kabir’s criticism of traditional religion.

Explain the term Akal.

2. Write short notes on any four of the following questions in 100
words each : [20]

(D)
(2)
(3)
(4)
(5)
(6)

Chidvilasvada

Saint Tukaram’s conception of God

Concept of Karmayoga according to Bahenabai
Prayatnavada of Samartha Ramdas

Saints : Socio-cultural reformers

Guru Nanak’s concept of Omkar.

3. Answer any three of the following questions in 200 to 250 words

each :

(1)
(2)
(3)
(4)
(5)

[3901]-278

[30]
Explain Basaveshvara’s concept of Bhakti.
Explain the nature of Ultimate Reality according to Saint Kabir.
Explain Guru Nanak’s concepts of Hukum and Bhay.
Examine fully Saint Jnanadeva’s concept of God.

Explain Saint Tukarama’s concept of True Dharma.

4



4, Answer any one of the following questions in 500 words : [20]

(1) Explain fully Samartha Ramdasa’s synthesis of Prapanch and
Paramartha.

(2) Explain the nature and role of Bhakti Movement in medieval

India.

(W& T UIR)

q% : o\ A TR T : 80
o :— (i) Wd WA Hisfau ofemds .
(i) SedikeEle 3h qu o i,

fa fa

({ii) TRUES! Hed TUST TEAULIREI Tl

1. WOGUhl HIUERN a9 TR SW YRl 50 IS o [10]
(1) =l SO 9O
(2) ST ¥ G TR R

~

(3) Ud HidU=l YR Heie e Em.

(4) 3T & Tl TR HA

2. WOGUhl HIVETE ORIET YRk 100 IS diesd fequ femr ¢ [20]
(1) TafgemeEr
(2) Fd THRMMET TR Hhed

(3) Hd IRUNAETl hHHAN Fohodl

(4) T Y TUSEET YITdE

(5) Hd : WHEISh-HER(dh FHh

(6) TE® FHMET SHBR Hhedl.
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3. WOGURl HIUERN dF FTEAED S TR 200 to 250 ITS(d N
[30]

(1) TG TRt Tehoddl T FH.

(2) Hd Hfen Ifuld soed Af<H deEtd WeY gfawi fRE .
(3) & AN THA 9 WI A Hheddl @RI &

(4) ¥ JreEr= R Heheudl feRTE

(5) WA THRMMET S g Ghoddl T

4., OGR! HIUAE TR TAE SR 500 IEE@ oAl [20]
(1) A TIREET JIF-RHE-T0ad ¥ 6.
(2) HEPH WRAMe YKl-doddid e o o afawft ==i .
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S.Y. B.A. EXAMINATION, 2011
PHILOSOPHY
Special Paper 1
(S-1 : Indian Philosophical Approaches)

(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each :
[10]
(i) Explain the notion of Avidya in Ishopnishad.
(i1) Explain the nature of Brahman according to Sankara.
(izi) Explain the nature of Pudgal according to Jaina.
(iv) Bring out the relation between Sankhya and Yoga.

2. Write short notes on any four of the following in 100 words each:
[20]

(i) Buddha’s Four Noble Truths.
(i1) Three levels of existence according to Advaita Vedanta.
(iizr) Charvaka’s Hedonism.
(iv) Concept of Atman in Mundakopnishad.
(v) Nishkama Karmayoga in Bhagwatgita.
(vi) Nature of Jiva according to Jaina.

3. Answer any three of the following questions in 200 to 250 words
each :

[30]

(i)  Explain with illustration three kinds of Anumana in Nyaya Darshan

based on the notion of Vyapti.

P.T.O.



(ii) Explain the theory of error in Purvamimansa.

(iizt) Bring out the nature of qualified Non-dualism of Ramanuja.
(iv) Explain the theory of Padarthas according to Vaisheshika.
(v)  Discuss Charvaka’s views about Pramanas and state its meta-

physical implications.

4, Answer any one of the following questions in 500 words : [20]
(i) Explain in detail the concept of Bhakti Yoga in Bhagwatgita;

(i1) State and explain the nature and kinds of Dravya in Jainism.

(TS TUI)
q% : o\ A THU T : 80
ol :— (i) WA WA STeRIH SR
(i) IS siE qot o et
({ii) WSWHIE T TUSH WIAUCAR] UgTel.

1. WooUh! HUERI QM YEART YR 50 IR S TRl [10]
(1) ufueKie ‘stfaen’ & Hoheddl TS

(2) FEEEEAT FAGER RN WEY W H

(3) S THAMER [od @Ed TR H.
(4) @& oAfty I EEMe WEREdy o &

2. WooUm HU@ER  ARieX FEE 100 Iee@ A fem [20]
(1) gl =R erEd
(2) oTgd ASAIER ARGET=N A Ui
(3) <ERMET e
(4) YeHUMEEKS A & Heheddl

(5) wFE@iddie M HHEm
(6) M TWHMER ‘Sia’ ¥ w@WEu.
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TA@Uh HOERE A AT TR 200 O 250 IR W T
[30]

(1) —EEHde S STaid STHAM™ @ TR HIRu % &

(2) YEHIE FHECE YHEOUEE STO TR 6

(3) UHSEEen fafitegae @Ee faEr wa

(4) R FEAMER derdfases Iqufa T &7

(5) AR UGS giehMAEl 969 ®Ed @rdl GuRTSEa q9E

fore &+

Toeus HUAR Tl WA 500 IRM W fewl [20]
(1) WEQdde  YREm’ & H6edd Jiaa W &
(2) S TFEAMER TN WEY A YHR TH AN AfawR T

< .
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S-2

Time :
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S.Y. B.A. EXAMINATION, 2011
PHILOSOPHY

: History of Western Philosophy Ancient, Medievals and

Modern
2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :— (i) Attempt all questions.

(i1) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(a)
(b)
(c)
(d)

State Anaximander’s view of the nature of reality.
Bring out Plato’s concept of form.

Explain Spinoza’s notion of substance.

Discuss Berkeley’s notion about material substance.

2. Write notes on any four of the following in 100 words each :

(a)
(b)
(c)
(d)
(e)
)

[20]
Aristotle’s notions of potentiality and actuality.
Ockham’s nominalism
Sophist’s scepticism
Leibniz’s monadology
Hegel’s concept of dialectic
Primary and Secondary qualities (Locke).

3. Answer any three of the following in 250 words each : [30]

(@)
(b)

(c)

Discuss Socrates’ view that virtue is knowledge.

State and explain the importance of substance as a category
in Aristotle.

Discuss in detail distinguishing features of Descartes’ rationalism.

P.T.O.



(d) State and explain Hume’s distinction between matters of fact
and relations of ideas.

(e) Explain Hegel’s concept of the Absolute.

4, Answer any one of the following in 500 words : [20]

() State and explain the nature and importance of Kant’s critical
philosophy.

(b) State the distinction between knowledge and opinion according

to Plato. Discuss its philosophical significance.

(AUE ®UI)
q% : i\ A THU T : 80
o :— () |d YT Hedmd.
(i) S siw o o Sl

o fa

({ii) W3 TUSH UTAACAhIE URIE.

1. WooUh! HUAREI e ARl S TSRl 50 3ITseid TRl [10]
(1) efforrHven fogarfamen gt foal.

N

() e ‘AR’ & Haew  fome w

-~

(%) oAl g8 & Hohoddl TS A

(B) whoem difds S8 o Hoqddt == A

2., WOGUHR! HUAR TR TR 100 g fewr fowr [20]
(1) oAffiiEieo=a gudl MU Fehedl AT hedHl;
() AEgar AHae;
(%) TP SRR,

(3) onfega fHaRuErs;
(3) ol gEfammrl daeu,
(%) wafasd sfor gEm e ().
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3. WOOUR! DU A WEART IR YIS 250 I fodr e [30]

(37) 9ITW WUS dH A Giehfegen gfteshHr=t == .

(F) oficcd IIE®T S Gaheddl &l RUHE Hegw™ §rm i) T
.

(%) <SHM=N gfgacre afTeaqul qoemEr gfaeR == w.

() ogfeydi=n amof o FHeqaEey I gPAd hodl 95 HEM S
W &y 7

(3) TIodl ®ae & Ghedd TR H

4., TOOUHI DR TR WA S® 500 I[ foRr e [20]
(31) e fafhms doEmME @®Y AU We™ WM d T &
(d) @R e q[ MY Td ARG Wb TR = difad e
(faaa=n) ==+
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[3901]-281
S.Y. B.A. EXAMINATION, 2011
NATIONAL SERVICE SCHEME
(G-2 : Personality Development, Leadership and Communication)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]
(1) Explain the concept of Personality Development.
(2) State the concept of social development.
(3) State the aims of village adoption programme.

(4) State the functions of leadership.

2. Write short notes in 100 words each (any four) : [20]
(1)  Human Growth
(2) Constructive leadership
(3)  Mobilization
(4) Community
(5)  NGOs
(6) Volunteer.

P.T.O.



3. Answer the following questions in 200-250 words each (any three) : [30]
(1) State the principles of development.
(2) Explain the organisation of personality
(3) Explain the objectives of village adoption programme.
(4) Explain the functions of leadership.
(5) Explain the methods of training.

4, Answer any one of the following questions in 500 words : [20]
(1) Why the action programme is necessary for field work ?

(2) Explain the co-relationship between the political leadership and

social development.

(W& ®UIaR)
q% : o\ A TR T : 80

ol — (i) WA YT Giefau STeRds  sRd.
(i) SoEhEls 2k YU O SFiferd.

(iii) TEUEIS! ¥ TUSH WUl Urel.

1. TOe WAl T 50 IS SW foRl (FIveEl d@F) e [10]

(1) kA fomEm=T 3 TS H.

(2) wHEIfSes  fashmE=t HehedqT I

(3) <TTHRME HIERHATE &I G

(4) AgcTEl HE G
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2. dgeqEd foor foar (W& 100 I=@) (SR WR) [20]

(1) wet fowm@/gs)

(2) TEATHE AT

(3)  TIfqH

(4) U

(5) NGOs (TR-wI&HRI o)
(6) TEIHASR.

3. Woe FARD Y 200-250 IS SwW fowr (@omE d|) ;0 [30]

(1) fowEmEt Hoae .

(2) IfFHGE HHed T H.

(3) TAHTME FREFHHNE IS TR FHA.

(4) g™ w1 fwRRE F
(5) RO gl TR HA

4., TOGUH FUCRI Tk TEAE FOH 500 ITR@ S fowr [20]

(1) &9 FEERE Fd ARES] &1 EFas A8 2

(2) TSR g omfor Gifeieh fas Ao deded T &
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[3901]-283

S.Y. B.A. EXAMINATION, 2011
(Vocational Course)
COMPUTER APPLICATIONS
(COURSE-III)

Theory
(RDBMS)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Question No. 1 is compulsory and solve any 5 from the

remaining questions.
(ii) Draw a neat-labeled diagram wherever necessary.

(iizr) Figures to the right indicate full marks.

Define DBMS. Explain the benefits of Database in business. [10]

Explain in brief the following with syntax and example : [6]
(@) Revoke;
(b) Delete.
Explain in brief Relational database model. [6]

Explain the following functions :

(@) Upper( ) [6]
()  Sum( )

Explain in brief the following : [6]
(a) DDL;

(b) Foreign Key.
P.T.O.



6. Explain the following with examples : [6]
(a) Group By and Having clause of Select Statement;
(b) Between Operator.

7. Explain in brief the concept of Normalization upto third Normal
form. [6]

[3901]-283 2



Total No. of Questions—35] [Total No. of Printed Pages—4+2

[3901]-284

S.Y. B.A. EXAMINATION, 2011
FUNCTIONAL ENGLISH (VOCATIONAL STREAM)
Paper III : Advanced Writing Skills and Introduction to
Electronic Media (Theory)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. (A) Names of three types of fruits and the places where they
grow are hidden in the following puzzle. Find them out and

write them in appropriate pair : [5]
MAGROVELOTEBK

APLASTEMARING

NVINESKPLADTE

GRAPEMKNDOL

ORCHARDMUGE

BCHERRYPTUMD

P.T.O.
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Or

Rewrite the scrambled words given below to make meaningful

words out of them :

(1) MISTERNI

(zz) CKECRIT

(zi1) TIRACVEATT

(tv) SOHANDME

(v) ALSONPER

Or

In every row given below there are four words. Two of them
are synonymous to the first and one is an antonym. Pick out

the antonym from each row :

(i) Delicate, frail, fragile, robust

(ii) Corrupt, putrid, honest, fraudulent

(iiz) Battle, truce, struggle, combat

(iv) Aversion, reluctance, inclination, distate

(v) dJocular, earnest, funny, comic

2



(B)
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Identify the register of each of the following paragraph and

mention the pointers (markers) of the same : [5]

In the fourth quarter, GM earned $ 510 million, or 31 cents
a share, compared with a loss of $ 3.5 billion in the period
a year ago. The full year profit was equal to $ 2.89 a share.
It earned $ 5.7 billion last year in North America, which had
been the biggest source of its pre-bankruptcy troubles. The
overall profit was lower in part because of a loss of $ 1.8

billion in Europe and dividends paid on preferred stock.
Or
Identify the style of each of the following sentences :

(i) We will be, Hon. sir, extremely obliged if you accept our

invitation for a discourse with our students.

(i1) Wow, so nice to see you again ! Got a few bucks in hand

for a coffee ?

(iii) Behold this place which is so serene and peaceful. Whose

sensitive mind will not be evoked to divine love ?

(iv) All students are instructed to submit their projects on

or before 6th of March.

(v) Hello uncle. Please come in and be comfortable. Let me

call Dad till then.



2. You met with an accident and were taking the treatment of Dr.
Pande, the orthopedic surgeon who put plaster on your fractured
foot. You could not attend college for 6 weeks due to the accident.
The HOD asked for the doctor’s certificate. Write a letter to your
doctor requesting him to give you a medical as well as fitness

certificate. [5]
Or
Prepare your biodata so as to send it with job applications.

3. (A)  You work with a chain of hotels interested in starting a new
hotel in a posh area of your home town. You were asked
to do a survey to find out whether the area is a suitable
place for the hotel. Write a survey report based on the following
details : [10]

Distance from the main city
Other hotels in the vicinity
Atmosphere

Availability of space, building and other infrastructure including

parking.
The socio-economic stature of the prospective customers.
Your comments and recommendations.

(B) Write a report of your visit to a local newspaper office or

a local news channel. [10]
[3901]-284 4



(2)

[3901]-284

4. (A)  You are anchoring a poetry reading competition organised by
the department. The poems to be read are on the themes
of love and friendship. Write a script to open the programme,
introduce some participants and comment on their poems and
to close the programme. [10]

(B) Answer the following questions (any two) : [10]
(i) What are the different types of radio programmes ? Which
of them do you like most ? Why ?
(ii) What are the major characteristics of radio as a mass
medium ?
(ii1) What is the basic setup required for a radio production ?
(C) Answer the following questions (any two) : [10]
(i) Express your opinion about the view—TV has chiefly become
the medium of entertainment rather than education.’
(ii) What is meant by ‘Programmes for the select audience’?
Explain with examples.
(iit) What is the role of a news editor in a News Channel ?
5. Answer the following questions (any three) : [15]

Account for the essential difference between the uses of language
for Radio and for TV as Mass Media.
5 P.T.O.



(i1)

(ii7)

(iv)

(v)

[3901]-284

‘TV can be a very effective medium for building public opinion

on any important social issue.” Discuss.

What do you think, are the reasons for the growing popularity
of radio in spite of the advent of TV ?

What are the advantages of TV over Radio as a mass

medium ?

Do you think the control of the Government over the Mass

Media is necessary ? Why ?
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S.Y. B.A. EXAMINATION, 2011
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
Paper III : Tourism Marketing and Travel Agency Operation
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(iit) Draw neat diagrams and sketches wherever necessary.
(iv) Use of map stencil is allowed.

1. Explain any {wo in brief (Around 50 words each) : [10]
(i) Importance of a travel agency;
(i1) TAAI

(i) Private air taxi;

(iv) Characteristics of marketing.

2. Write short notes on any four (Around 100 words each) : [20]
(i) Procedure of passport;
(zt1) Hotel vouchers;
(zi1) Front office;
(iv) Itinerary;
(v) International Tourism;

(vi) Brochures.

3. Answer any three (200-250 words each) : [30]
(i)  Classification of types of hotels;
(i) Linkage of tourism with transportation;

(iiz) Pricing and cost calculation of tour package;

P.T.O.



(iv)

Explain the concession rates of air travel.

(v) Define star cruise with suitable examples.
4, Answer in detail any one (Around 500 words) : [20]
(i) Write the importance and functions of UNESCO. How does
it cooperate the tourism industry ?
(ii) Prepare an itinerary of 7 days on Astavinayak and mention

[3901]-285

the cost calculation for medium class tourist.
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PRIEEL GCOR U | C N |
(Functional Hindi : Vocational)
WA I A aIeIsH
oy @, &ft § e, o, asemiar qer srae-1)
(2008 PATTERN)

wE ;3 gue ik : 80
g —() |l wE et g

(i) <fedt R fa@ T ow wew & quie ¥

(i) fawm ‘@1’ R foum ‘@’ & W T & SW-YRaw # fafew)

faamr ‘et

1. (%) ffafed # & &t & w feoufmr fafew - [10]

@ ‘= ‘| ‘T oam

(ii) M fooqm

(iii) aMfoIfTeh 9=l 1 R

(iv) fToM= & TR
(@) ‘TN IEfha e’ Hag & 3R 4 URa wEfehd o g0 &l
T OEfhd H IMERI <0 g fIHI-TEE U H YR TR hifag |
[6]

SOE

‘T TawEEA’ U &l AR @ fafesfiwia wut siRWeme @i
T d. S dE % gog q91 %I & IA UBA h gaYy H 9o
fafem |

P.T.O.



2. (M
(%)
3. =
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frfafed § & fedl @ uv % S waw H fafew . [9]
(i) TSN SIUfEE, 1963 & STUR A STIAE ohi WTST T AT 2
(i) & # weiorar w1 wm ek ¥ 2

(iii) FEEEE O IR T H FN SR T 7

(iv) FAEN TRY H ]I FA A T ?

(v) g T faed 999 fea ol &t IR eI < =eY ?
frefafed |t |@ faqroA-smeRmRi/EveER] & S 3T IAgI-oa%]
% 99 fafgw [7]

(L) (qa; %;la; Th ............

faamr ‘a1’

o o haN

freafafed sffese &1 & # sgae wifsm [7]

e 8 RAERE AR d qHY R, oAl A 39H  T[ers]

B R HIIhRl, AN, SREG, 916, SE-9s, o, e, TS,
Thes A MU d-d EM TH HX 9 Ryl ITEE, HeS B
TAEEl STRY SIAYE S W [aE A/l WA SR g8l

S . WSS | HE hHl AR FeREel qeiel o9 @n.

Sdh™ g X IHE Sl T 3eh hMATEl ddl. A IESTERET

et @ U omd, ® faww T

2



()

4. S))

(=)

[3901]-286

gfa-Teiem & a1 &1 &R #a ge FeAfatea aiese w1 i 3
fafem [7]
99 ] T U%E S ol § TR o &9 H WY WAy o W 9§
T AT qE W AR AR W R YT A & I3A T R Tt
HoE WO @ S T WA R WEW WE A aen SAeH! el
el JoAdY ST M el =il | AR AJeehl Tl &F &1 Hfe
H HH HA §, IUH GI® | ST Wl H TqS! B b WS,
T W@ FH B AN B FHd qEHA gkt kel ¥ W
G

ush Helfagared H el o fedl-fad &1 emieE fean sn @

=g dey § Ju-fagfa am wifsw) [6]
() frafafed & & el ufa & f& ofonfie o= fafec @ (5]

(i) Account, saving

(i1) Capital per

(izi) Consignor

(iv) Fair and just

(v) Last but one

(vi) Indicator

(vii) Zonal-pass

(viii) Break down train

3



1D frefafeg & & fFd oie & eisht aifafos v fafa .
[5]
(1) HIdEsh
(i) HfW smaria
(i) wREafa
(lv) Y=ER
(v) T wE
(vi) @R
(vii) HISHEH
(viii) STgHT

5. fefafed # & fedl dtw w fewfmi fafeg - [18]
(i) oA w1 &
(i) OfdEeNEd &l STEvahdl
(iii) ROR-ved & a«
(jv) wHEEE H THRIA & STAN
(v) TH. TE. d€ & Hed|
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S.Y. B.A. EXAMINATION, 2011
(Vocational Course)
COMPUTER APPLICATIONS COURSE-IV
Theory
(Software Engineering)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Question No. 1 is compulsory and solve any 5 out of the
rest questions
(ii) Draw neat-labeled diagrams wherever necessary.
(iizr) Figures to the right indicate full marks.

1. What is a system ? What are the characteristics of System ? [10]

2. Explain Waterfall Model with diagram. [6]
3. Explain what is Dataflow Diagram. [6]
4. Explain the following : [6]

(a) Fact Gathering Technique;
(b) System Design.

5. Explain Feasibility Study and its types. [6]

6. What is System Analyst ? State roles of System Analyst. [6]

7. What is Flowcharting ? Give example. [6]

[3901]-288 1



